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A gfgH Td deherfad

1. 3TN IUTHTAT YRA&T0]

1. 98 92 fdeed g9 o1 fau TV vEi & S9
H P IRITCH & oI o9 9 9 SISl Treaapre
3 Ao 2 B
1. Junketeered II. Junction
III.  Junketers
V. Junctures
(A) ILV, LIV, 1II (B) I V,IIL I, IV
©) ILV,IV,IILT (D) L1V, II, 111, V
Select the correct option that indicates
the arrangement of the given words in the

order in which they appear in an English
dictionary.

IV. Junketeering

I.  Junketeered II. Junction
III. Junketers IV. Junketeering

V. Junctures

(A ILV, LIV, III (B) I, V,III, L, IV

(C) 1LV, 1V, 11,1 (D) L 1V, I, I1I, V

[SSC CGL (Tier-T) 2022]

2. 39 92l faseq &1 997 B S faT 70 Sread

P1 I B A ST & o pF  J 3l

IEEPHRT H B B—

I.  Speaking II. Standardize

III. Southern IV. Stampede

V. Spacious VI. Sovereignty

(A) ILIV, VLV, L II

(B) 1IL VL, V, L, IV, II

(C) UL, VLIL IV, L,V

(D) 1L 10, VL, I, IV, V

Select the option that represents the correct

order of the given words as they would
appear in an English dictionary.

I.  Speaking II. Standardize

III. Southern IV. Stampede

V. Spacious VI. Sovereignty

(A) IL IV, VL, VL 1T

(B) LL VLV, L1V, 1I

(C) UL, VLIL IV, L,V

(D) 1L, 10, VL, I, IV, V

[SSC CGL (Tier-T) 2022]

. 9 el faded &1 997 B Sl T 770 Treal

& I PH Bl I & T 69 | 9 sish

IEPRT H HISE B o—

I.  Disaster II. Disappointment
III. Discharge
V. Disadvantage VI. Disarticulate
(A) VI, IV, 1, VL, 1l

B) V,IV,IL 1, VL, 1II

(©) VI, IV, VI, I, 11T

D) V, IV, 1L, VI, I, 11T

Select the option that represents the correct

order of the given words as they would
appear in an English dictionary.

IV. Disappear

I.  Disaster II. Disappointment
III. Discharge IV. Disappear
V. Disadvantage VI. Disarticulate
(A) V,IL 1V, 1, VL, III
B) V,IV,IL 1, VL, III
(©) VI IV, VI, L, III
D) V, IV, 1L, VI, I, 11T
[SSC CGL (Tier-I) 2022]

2. ATpfereh WIS gRY&ToT

4. 7o =T @ 91 4, 'CROWD' &1

23415924 % 59 | Fesg a1 T 8 AR
'TRHICK' &1 162491997 & %7 H Hedg
o T & | ST 9T § 'FRUGAL' &1 fobt
4 # g fbar See?

(A) 1226761821  (B) 1521012291
(C) 1512021921 (D) 1221021186

In a certain code language, 'CROWD'
is coded as 23415924 and 'TRHICK' is
coded as 162491997. How will'FRUGAL'
be coded in that language?

(A) 1226761821  (B) 1521012291
(C) 1512021921 (D) 1221021186
[SSC CGL (Tier-I) 2022]

. T g 9T #, i PEN &1 17717 foran

S &, A S 9IS H CAP I R fera
ST ?

(A) 4319 (B) 2320

(C) 4219 (D) 2319

In a code language, if PEN is written as

17717, then how will CAP be written in
the same language?

(A) 4319
(C) 4219

(B) 2320
(D) 2319
[SSC CGL (Tier-I) 2022]

6. o ¥ e W #, 'POTATO' &I 32-

30-40-2-40-30 & U H Hedg fbar ST
T 3R '"TURNIP' &I 40-42-36-28-18-32
@ W0 A Fedg B S Bl S A
A, 'RADISH' &1 5 YR desg fha
TG ?

(A) 18-1-8-38-18-4

(B) 36-1-4-19-16-4

(C) 18-2-4-19-18-8

(D) 36-2-8-18-38-16

In a certain code language, 'POTATO' is
coded as 32-30-40-2-40-30 and "TURNIP'

is coded as 40-42-36-28-18-32. How will
'RADISH' be coded in that language?

(A) 18-1-8-38-18-4
(B) 36-1-4-19-16-4
(C) 18-2-4-19-18-8
(D) 36-2-8-18-38-16
[SSC CGL (Tier-T) 2022]

. 61 ke e 9 4, 'ONION' &7 201

& 0 W Fodg A1 S & 3IR 'POTATO!
BT 261 B WY H BHedg (HaT ST & | A
% 9 H, 'MANGO' &1 fbd w7 |

Hesg fbar Sem?
(A) 228 (B) 208
(C) 150 (D) 178

In a certain code language, 'ONION' is
coded as 201 and 'POTATO' is coded as
261. How will'MANGO' be coded in that
language?

(A) 228 (B) 208
(C) 150 (D) 178
[SSC CGL (Tier-T) 2022]

. T ¥ e 9 #, LOOK @I 2330

& W W Gy (BT Sl & 3R BALL
P 1413 WY | GG (6T ST 8 139
AT § HELP & fhd 0 # dedg fobar
SQT?

(A) 2417
(C) 2415

(B) 2420
(D) 3461

In a certain code language, LOOK is
coded as 2330 and BALL is coded as
1413. How will HELP be coded in that
language?

AT gREgT Ud adefad | 1



10.

11.

12.

(A) 2417
(C) 2415

(B) 2420
(D) 3461
[SSC CGL (Tier-T) 2022]

. Te fi¥=a &g Amom 4, 'cool drinks

available here' @7 'bhu man juk lop' forar
ST %, 'available lost objects here' @1 'gan
bhu nut juk' forar smar % 'be cool search
objects' @I 'vax der man nut' feT=aT ITam
&, 3R 'available drinks desert search' &I
"but juk der lop' foT=aT SITQT & | S=AT W19 H

ost drinks' T B foram STEM?
(A) juk gan (B) nut gan
(C) lop bhu (D) gan lop

In a certain code language, 'cool drinks
available here' is written as 'bhu man
juk lop', 'available lost objects here' is
written as 'gan bhu nut juk', 'be cool
search objects' is written as 'vax der man
nut', and 'available drinks desert search'
is written as 'but juk der lop'.

How will 'lost drinks' be written in that
language?

(A) juk gan
(C) lop bhu

(B) nut gan

(D) gan lop
[SSC CGL (Tier-I) 2022]
Te fAfEd e A9 # 'ROUBST' @1 61
T WY ¥ g [Pl S 81 S AT
# 'FORTUNATE' &1 &% dcdg ol
SITGTT?
(A) 124 (B) 114
(©) 142 (D) 141
In a certain code language 'ROUBST"' is

coded as 61. How will' FORTUNATE' be
coded in that language?

(A) 124 (B) 114
(C) 142 (D) 141

[SSC CGL (Tier-I) 2022]
Te fAfed e |11 A, 'GLOVE' &1 148
S WY W Gedg a1 S © | S A A,
'OBDURATE' &1 3% Geag foal S ?
(A) 602 (B) 520
(C) 502 (D) 402
In a certain code language, 'GLOVE' is

coded as 148. How will 'OBDURATE'
be coded in that language?

(A) 602 (B) 520
(C) 502 (D) 402

[SSC CGL (Tier-I) 2022]
Te Ff¥ed de A #, 'GALLERY' &1
'1422424103650' foram ST & | ST W
H, 'NOSTALGIA' &% foram smeam?
(A) 2830204222414184
(B) 2830384022414182
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13.

14.

15.

(C) 2832384222416182
(D) 2830384022614362

In a certain code language, 'GALLERY"
is written as '1422424103650'. How
will 'NOSTALGIA' be written in that
language?
(A) 2830204222414184
(B) 2830384022414182
(C) 2832384222416182
(D) 2830384022614362

[SSC CGL (Tier-I) 2022]
el = e A #, 'LILY' @ 116
% WY A FHedg a1 T g $R 'LOTUS'
P 174 F 9 ¥ Fodg o T T 1S
GHe A9 A, 'TULIP' &I fbsd 0 o fedg
forar e ?
(A) 78 (B) 156
(C) 168 (D) 126
In a certain code language, 'LILY" is coded
as 116, and 'LOTUS'is coded as 174. How
will '"TULIP' be coded in that language?
(A) 78 (B) 156
(C) 168 (D) 126

[SSC CGL (Tier-T) 2022]
U fREd ge | #, 'she needs some
medicines' T '1542' foran ST B, 'take
some water' BT '849' foT@T SITeT % 'he
needs rest' @I '713' fomen ST & @R 'she is
water' BT 269" e ST B | S Fe AT
¥ 'take medicines' ®T FIT foRaT SO ?
(A) 45 (B) 81
(©) 92 (D) 85
In a certain code language, 'she needs
some medicines' is written as '1542', 'take
some water' is written as '849', 'he needs
rest'is written as '713', and 'she is water' is

written as '269'. How will 'take medicines'
be written in that language?

(A) 45 (B) 81
(©) 92 (D) 85

[SSC CGL (Tier-I) 2022]
U FREd fe 9 4, 'NORMAL' &1
'DIPKRO' foram S & 3R 'SOUND!
P 'GKRPX' foar oirar &1 S e &
'CLUSTER' &1 &% forar smeen?
(A) BFOOVQX (B) FBOOVQX
(C) FOBOQVX (D) BFOVOXQ
In a certain code language, 'NORMAL'
is written as 'DIPKRO' and 'SOUND'

is written as 'GKRPX'. How will
'CLUSTER' be written in that language?

(A) BFOOVQX (B) FBOOVQX
(C) FOBOQVX (D) BFOVOXQ
[SSC CGL (Tier-T) 2022]

16.

17.

18.

19.

Te (¥ e W1, 'MOST' @1 '134'
foTan ST & 3I” 'FUR' &1 90 fersan S
&1 S ¢ W H, 'SUCCESS' &1 &1
foren sream?

(A) 89 (B) 178

(©) 215 (D) 175

In a certain code language, '"MOST' is
written as '134' and 'FUR' is written as
'90". How will 'SUCCESS' be written in
that language?
(A) 89

(©) 215

(B) 178

(D) 175
[SSC CGL (Tier-I) 2022
T Ff¥Ed e W #, 'STREAM' &
161418445228 & w4 H &g fbar S
&1 99T #, 'PERIOD' &1 ¥ Geag
o e ?
(A) 244418342446 (B) 224418382448
(C) 224420363046 (D) 224418362446
In a certain code language, 'STREAM'

is coded as 161418445228. How will
'PERIOD' be coded in that language?

(A) 244418342446 (B) 224418382448
(C) 224420363046 (D) 224418362446
[SSC CGL (Tier-I) 2022]
T e e Wi #, 'MOHAN' &1
39-45-24-3-42 & U A Hedg (oA
ST & @R 'KABIR' @1 33-3-6-27-54 &
T A gedg e S 1 SE e A
A, RAGHU' &1 54 w0 d desg fovar
STQIT?
(A) 36-2-14-24-42 (B) 36-3-14-16-63
(C) 54-3-21-24-63 (D) 54-2-21-16-42
In a certain code language, ' MOHAN'
is coded as 39-45-24-3-42 and 'KABIR'

is coded as 33-3-6-27-54. How will
'RAGHU' be coded in that language?

(A) 36-2-14-24-42 (B) 36-3-14-16-63
(C) 54-3-21-24-63 (D) 54-2-21-16-42
[SSC CGL (Tier-I) 2022]
1 Ff¥erd @e A1 % 'RAHUL' @7 180
3R "POOJA' &I 171 & w0 H Gedg
ST S | ST AT H, RAJIV' B 5 w0

A qedg fbar Smem—
(A) 85 (B) 122
(©) 61 (D) 180

In a certain code language, 'RAHUL' is
coded as 180, and 'POOJA' is coded as
171. How will 'RAJIV' be coded in the
same language?

(A) 85 (B) 122
(©) 61 (D) 180
[SSC CGL (Tier-T) 2022]



3. AT TE

20. S fadheq &1 T B Sl AR 98 9 ST

21.

22.

23.

PR T & R TR A IS Tgel
T g §—

(A) YLRQFV  (B) ZLSQFW

(C) ZRXQGV (D) ZLRQGV

BACTERIA : EXFWBUFX :: WOUNDS : ?

Select the option that is related to the third

term in the same way as the second term

is related to the first term.

BACTERIA : EXFWBUFX :: WOUNDS : ?

(A) YLRQFV (B) ZLSQFW

(C) ZRXQGV (D) ZLRQGV
[SSC CGL (Tier-I) 2022]

I fdes & 999 N forad A wwmd

TH-EEX ¥ S YBR GEET & o

frefafea dwear-g™ o @ FEny

TH-TAR A FHfEd B—

14: 450

(A) 31:961 (B) 18:722
(C) 22:490 (D) 30:902

Select the option in which the two
numbers are related in the same way as
are the two numbers of the following
number-pair.
14 : 450

(A) 31:961
(C) 22:490

(B) 18:722
(D) 30:902

[SSC CGL (Tier-I) 2022]
9 fadweq & T99 X Sl AR 9@ |
T TPR THIERT & O G AT T8l
W 9§ ST § SR el wwe urad
T ¥ e ¥
21:112:36:?7::51:272
(A) 252 (B) 192
(C) 198 (D) 72
Select the option that is related to the third
number in the same way as the second
number is related to the first number and
the sixth number is related to the fifth
number.
21:112::36:?::51:272
(A) 252 (B) 192
(C) 198 (D) 72

[SSC CGL (Tier-I) 2022]
9 fIspeq 1 a1 o, foger T
T A JE T 8, S gAY G B
el el ¥ B—
147 :222 :: 158 :?
(A) 264
(C) 233

(B) 225
(D) 287

24.

25.

26.

Select the option that is related to the third
number in the same way as the second
number is related to the first number.
147 :222:: 158 :7?
(A) 264

(C) 233

(B) 225

(D) 287
[SSC CGL (Tier-I) 2022]
S -G BT I DY T 3 Gy
T8 T QAT BT & il (47 TV AAT-
T GIRT 7= fam e
14 : 421
(A) 13:310 (B) 16:421
(C) 11:265 (D) 18:611
Select the number-pair in which the two

numbers share the same relationship as
that shared by the given pair of numbers.

14 : 421
(A) 13:310
(C) 11:265

(B) 16: 421
(D) 18: 611
[SSC CGL (Tier-T) 2022]

9 T fadwed @1 99T IR A1 A TR
BRI BT b AR Aefd 7 F AT
ERAT B |

L -9 @ @

I -8 g1

[ SR AT FIAT

IV. -9 qar S

V. fowg foramn

VI g9 Ao

(A) IL I, 10, VI, V, IV

(B) IL I, I, IV, V, VI

©) 1LV, LI, 1V, VI

(D) OLIL VL, LV, IV

Select the correct option that indicates
the arrangement of the given course of
actions in a logical and meaningful order.

1. Open email account

II.  Compose email

III. Start computer

IV. Enter email address

V.  Write the content

VI. Send the mail

(A) 1L, L, 10, VI, V, IV

(B) 1L L IL IV, V, VI

(©) 1LV, L1, 1V, VI

(D) UL I, VL I, V, IV
[SSC CGL (Tier-I) 2022]

S. Y <+

'A#B BT 3 e b 'A, Be Rar &
'A%B E AT EF'A,BH AT

27.

28.

'A@B & T T fFH A, BB qET
'A&B @ Ad T IH A BH YA
IT'GHEMHET%S@H&R&W @ U'
g, a1 Ffafed § | $H-91 B |qa
T &7?

(A) G, T T&T ¥l

(B) R, Tl 9y &1

(C) W, H®I 9 &1

(D) M, ST AT & |

'A # B' means 'A is the father of B'.

'A % B' means 'A is the mother of B'.

'A @ B' means 'A is the sister of B'.
'A & B' means 'A is the son of B'.

KF'GH#M#T% S@H&R&W @ U,
then which of the following statements is
NOT correct?

(A) G is the paternal grandfather of T.
(B) Ris the husband of T.
(C) W is the maternal grandmother of H.
(D) M is the maternal grandfather of S.
[SSC CGL (Tier-I) 2022]
'A+B B AT H A, BH IS |
ASB E AT A, BHNU T |
'A@B & AN fF A, BB E Y
'A& B B T B fH A, BT H B
'‘A%B B AT S 'A, BHET I T |
IRTW@S%K$SG&U&T@R+C'
&, 1 FrforRad # | SH-1 B T8 87
(A) G,RPT A&
(B) C,UH I & |
(C) C, KT R 8l
(D) G, W faar 1
'A + B' means 'A is the daughter of B'.
'A $ B' means 'A is the husband of B'.
'A @ B' means 'A is the brother of B'.
'A & B' means 'A is the mother of B'.
'A % B' means 'A is the son of B'.
If'W@S%KS$SG&U&T@R+C,
then which of the following statements is
correct?
(A) Gis the maternal grandmother of R.
(B) C is the wife of U.
(C) Cis the father-in-law of K.
(D) G is the father of W.
[SSC CGL (Tier-I) 2022]
Z+Y B AF e fH Y, Z2H AT
ZSY' B AT BIH Y, ZH Ay
Y % 7' A B P Y, Z P S B
Z-Y' &I TE Y, ZH T T
Y* 7B JA B H 2, Y B R T
Y # 2 @1 e E 5 2, Y Y gwelr ged
gl

AT REgT Ud adefad | 3



29.

frfeRad aoie H yemaras gl (7) &
UM TR HHSG O | 31 FFH arel B A
3 fag I8 <9 9w & f5 'D, W o gelt
B

W%O-B?2C?D

(A) +3R# (B) % 3R —

(C) +3IR - (D) $ 3R +

'Z +Y' means 'Y is the son of Z'.

'Z $ Y' means 'Y is the father of Z'.

'Y % Z' means 'Y is the son-in-law of Z'.
'Z —Y' means 'Y is the wife of Z'.

'Y * Z' means 'Z is the brother of Y'.

'Y # Z' means 'Z is the only sister of Y'.

Which two symbols can sequentially
replace the question marks (?) in the
following expression to show that 'D is
the wife of W'?

W%O-B?C?D
(A) +and#
(C) +and—

(B) % and —

(D) $and +
[SSC CGL (Tier-I) 2022]
Teh TG bl R $RT BRA §Y, WMl
= FEl, I8 I IS & U1 B g & O
P T Bl Shelld Il B 17 Tl &1 S

ASH I T T 7
(A) o= (B) 9§,
(C) & (D) w1

Pointing towards a boy, Shalini said, "She
is the only son of my daughter's father's
wife's father's wife." How is Shalini
related to that boy?

(A) Sister
(B) Daughter-in-law
(C) Daughter
(D) Sister-in-law
[SSC CGL (Tier-I) 2022]

30.

BE TR A, B, C, D, E 3R F, Tdh Brai -l &
RIEID,ED 60 M. <RI HTIF,BD
409 . SRITHEIA, E D 309, STRA 81
FASS0M. @HEIC,BS 504, uf¥as
HEIAD e § C P ¥IH 3 Y|

(A) 309 @ (B) 50 9. SR

(C) 40¥. gf&or (D) 4091, X

Six houses, A, B, C, D, E and F, are
situated in a colony. D is 60 m south of E,
F is 40 m south of B, A is 30 m north of
E, F is 50 m east of A, C is 50 m west of
B. Find the location of C with reference
to A.

(A) 30 m east (B) 50 m north

(C) 40 msouth (D) 40 m north
[SSC CGL (Tier-I) 2022]
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31.

32.

PSQ B ATEIH P, QH STRHA T |
P&QHFIET P QI AT |
P*Q B AT 'QPH URTAA Y |
'P%Q B AF T 'Q, PP IO H T |

'P @ QR' &1 31 ¥ fp 'P &St X=am QR
S OF 99 | R ¥ |

P 1 QR &1 e B b 'P SeafeR @ QR
AP 99 | R ¥ |

HIe: 'P6m$Q & 31 ¥ 5 P, Q B SN
A 69eR T W ¢ IR 4 KB |
e &ote A G 3R C & dra A
R I BT
C12m$S5m*G3m&J6m%K!JT

(A) 159, (B) 134,

(C) 1079 (D) 12%r.

'P $ Q' means 'P is to the north of Q.

'P & Q' means 'P is to the east of Q.

'P * Q' means 'Q is to the west of P'.

'P % Q' means 'Q is to the south of P'.

'P @ QR' means 'P stands exactly in the
middle of horizontal line QR'.

'P ! QR' means 'P stands exactly in the
middle of vertical line QR'.

Note: 'P6m$Q' means 'P is 6 m to the
north of Q' and so on.

Find the shortest distance between G and
C in the following expression.

C12m$S5Sm*G3m&JI6m%K!JT
(A) 15m (B) 13 m
(C) 10m (D) 12m

[SSC CGL (Tier-T) 2022]
SFE g A R e 1 iR it
BR W & | R T8 90° IfeToTad EHA
¥, ISP 18 98 180° I THAN & | R
T8 135° qMETEd gH &1 98 o H 180°
SRTOTIE T & | 379 98 STR-Gd foren &t
3R SR & | SIFe AT ¥ U] YOI

# g faen o1 iR s B gy Ar?
(A) @ (B) STR-Uf¥=H
(C) =f&ro (D) uf¥TH

Zainab is standing facing a particular
direction initially. Then she turns 90°
clockwise, after that she turns 180°
anticlockwise. Then she turns 135°
anticlockwise. She finally turns 180°
clockwise. Now she is facing the north-
east direction. In which direction was
Zainab facing initially before taking any
turns?

(A) East
(C) South

(B) North-West
(D) West

[SSC CGL (Tier-I) 2022]

33.

34.

35.

e faenelt o, Wi, 9, Sfae, v
3R BREM Ueh ¥t # ¥ B8 Vb &RF © |
A BT ¥ I AR M B XF H AT |
=Y ¥ W WG B | T SR IS B B
% g 1 faendt & | v g @ faenfdian
H UHdl A fgel X W ¥ | 31T BT NP
TREM & & & 3 AT § | Ufad N W)
PIT B?

(A) vy (B) T&ar

(C) 9o (D) Sfa

Six students, Abhay, Bhanu, Charu,
David, Ekta and Farheen, are the top
six rank holders in a school. The rank
of Bhanu is between the ranks of Charu
and David. Bhanu is on the fourth rank.
There are two students between the ranks
of Ekta and David. Ekta is at the lowest
rank among all the given students. The

rank of Abhay is immediately below the
rank of Farheen. Who is on the fifth rank?

(A) Abhay (B) Ekta
(C) Charu (D) David
[SSC CGL (Tier-I) 2022]

8. @t Y&l

T e e # | I 1ER-IE B gAY
St fer=ifoRad saen 7 yedaras &g (?)
B T T S T B |

KMTC, EVOM, OQXG, 1ZSQ, ?

(A) SUBK (B) SVCK

(C) TVBK (D) SUCL

Select the letter-cluster from among

the given options that can replace the
question mark (?) in the following series.

KMTC, EVOM, OQXG, 1ZSQ, ?
(A) SUBK (B) SVCK
(C) TVBK (D) SUCL
[SSC CGL (Tier-I) 2022]
frg o Reedt % W 9 wEm g o
FrferRad Sl § gedfag (?) & woH )
3T FH B |
62,74, 80, 86, 95, ?, 158
(A) 122 (B) 108
(©) 113 (D) 100
Select the number from among the given

options that can replace the question mark
(?) in the following series.

62, 74, 80, 86, 95, 2, 158
(A) 122 (B) 108
(©) 113 (D) 100
[SSC CGL (Tier-I) 2022]



36.

37.

38.

39.

fov v faded # | 98 & gAY S
fr=ferRag S0 § gemam® fag (?) &
T TR AT N B |

16, 35, 2,217, 653, 1309

(A) 72 B) 77

(©) 128 (D) 107

Select the number from among the given

options that can replace the question mark
(?) in the following series.

16, 35, 7,217, 653, 1309
(A) 72 (B) 77
(C) 128 (D) 107
[SSC CGL (Tier-I) 2022]
fa T e ¥ 78 wEn T
f=feRad oot ¥ yemams fog (?) &
T T S FH |
82,105, 136, 177,224, 283, ?
(A) 349 (B) 412
(C) 350 (D) 320
Select the number from among the given

options that can replace the question mark
(?) in the following series.

82, 105, 136, 177, 224, 283, ?
(A) 349 (B) 412
(C) 350 (D) 320
[SSC CGL (Tier-I) 2022]
Ry 77 R ¥ W 78 W@ geT o
ferfeRaa ool & geare g (7) &
I W S FHA & |
24,7,52,312,320
(A) 42 (B) 30
(©) 35 (D) 48
Select the number from among the given

options that can replace the question mark
(?) in the following series.

24,7,52,312,320
(A) 42
(C) 35

(B) 30

(D) 48
[SSC CGL (Tier-I) 2022]
fov v fapedl # | 98 | gAY S
fr=ferRag oo § yemam® fag (7) &
AT IR T FhaN S |
74,74,72,24,7,4
(A) 21 (B) 20
©) 15 D)9
Select the number from among the given

options that can replace the question mark
(?) in the following series.

74,74,72,24,7, 4
(A) 21
©) 15

(B) 20
(D) 9
[SSC CGL (Tier-I) 2022]

40. 4T 7Y fadedi § W 98 w1 gAY S

41.

42.

43.

ferfeRaa oo & yeame g (7) &
T TR S FHh T

61,99, 152,222,312, 7

(A) 452 (B) 412

(C) 426 (D) 398

Select the number from among the given

options that can replace the question mark
(?) in the following series.

61,99, 152,222,312, 7
(A) 452 (B) 412
(C) 426 (D) 398
[SSC CGL (Tier-I) 2022]
fae o frpedt # & 78 W e o
frfeRad oot ¥ years fog (7) &
T TR ST FH & |
2,31,4,37, 10,41, 28, 43, 82,47, ?
(A) 224 (B) 244
(C) 242 (D) 422
Select the number from among the given

options that can replace the question mark
(?) in the following series.

2,31,4,37,10,41, 28, 43,82,47,7?
(A) 224 (B) 244
(C) 242 (D) 422
[SSC CGL (Tier-I) 2022]
fare o Redt § & 98 e ghe o
f=ferRag oot § gearms fag (?) &
T TR 37 FH & |
9,38, 154,618, ?
(A) 928 (B) 735
(C) 1268 (D) 2474
Select the number from among the given

options that can replace the question mark
(?) in the following series.

9,38, 154, 618, 2
(A) 928
(C) 1268

(B) 735

(D) 2474
[SSC CGL (Tier-I) 2022]
T2 T fasedl # & 97 SFER-TEl Bl 947
P o PrefeiRed e # 2 e R
(?) B HHD WY F yfoRenfid HR Ghd
gl
ZCKR, bfow, DISB, flwg, HOAL, ?, ?
(A) jreq, LUIV (B) jres, LUIX
(C) JREQ, luiw (D) jrfgq, LUIW
Select the letter-clusters from among
the given options that can sequentially

replace both the question marks (?) in the
following series.

ZCKR, bfow, DISB, flwg, HOAL, ?, ?

(A) jreq, LUIV (B) jres, LUIX

(C) JREQ, luiw (D) jrfq, LUIW
[SSC CGL (Tier-I) 2022]

44.

45.

46.

47.

QT v fdwedl § & 98 WA gAY S
frfaRaa ooft 4 yemars fag (?) &
T TR 3 [N & |

55,63, 72,343, 855, 1855

(A) 127 (B) 223

(©C) 135 (D) 117

Select the number from among the given

options that can replace the question mark
(?) in the following series.

55,63, ?, 343, 855, 1855
(A) 127 (B) 223
(C) 135 (D) 117
[SSC CGL (Tier-I) 2022]
Ry U fawed & | 9 T B FIT
PHITe o = S § yeearas fg (?)
B I TR T FH © |
1,1,2,2,6, 10,42, 2, 1806
(A) 1203 (B) 1389
(C) 1010 (D) 1302
Select the number from among the given

options that can replace the question mark
(?) in the following series.

1,1,2,2,6,10,42,?, 1806

(A) 1203 (B) 1389
(C) 1010 (D) 1302

[SSC CGL (Tier-T) 2022]
fag 1e fawped % 9 98 ez giae S e
ool 7 9 g (?) & T UR 1 Hahall
T
7,16, 41,94, 251, 9
(A) 568 (B) 468
(C) 586 (D) 486

Select the number from among the given
options that can replace the question mark
(?) in the following series.

7,16, 41,94,251,?

(A) 568 (B) 468
(C) 586 (D) 486
[SSC CGL (Tier-I) 2022]

fr T Rl % & 78 W Y o
frfeaRaa ooft ¥ years fag (?) &
I TR 3 N & |

14, 20, 34, 72, 182, ?

(A) 580 (B) 308

(©) 380 (D) 508

Select the number from among the given

options that can replace the question mark
(?) in the following series.

14, 20, 34,72, 182, ?

(A) 580 (B) 308
(C) 380 (D) 508
[SSC CGL (Tier-I) 2022]

AT gREH Ud Adefad | 5



48. Ry W fIPpedi § & 98 ¥ gAY o

fr=foRag oot § yeqams g (?) &
T TR 3T b & |

74,101, 128, 155, ?

(A) 198 (B) 182

©) 173 (D) 210

Select the number from among the given

options that can replace the question mark
(?) in the following series.

74,101, 128, 155, 2
(A) 198
©) 173

(B) 182
(D) 210
[SSC CGL (Tier-T) 2022]

49. 13U Y faeped] # 1 S S1&R-TYE B GFY

St fr=iferRad ser § yedars g (?)
& T TR 37 bl & |

ORGANS, SORGAN, SNORGA, ?,
SNAGOR, SNAGRO

(A) SNAROG  (B) SNOARG
(C) SNAOGR (D) SNAORG

Select the letter-cluster from among
the given options that can replace the
question mark (?) in the following series.

ORGANS, SORGAN, SNORGA, ?,
SNAGOR, SNAGRO

(A) SNAROG  (B) SNOARG
(C) SNAOGR (D) SNAORG
[SSC CGL (Tier-I) 2022]

50. faw v fIeedi § & 98 | gAY S

frfeRad ool & yearms g (7) &
T TR S [T & |

18, 34, 66, 130, ?

(A) 232 (B) 178

(C) 258 (D) 273

Select the number from among the given

options that can replace the question mark
(?) in the following series.

18, 34, 66, 130, ?
(A) 232
(C) 258

(B) 178
(D) 273
[SSC CGL (Tier-I) 2022]

51. 4T 7 Y 1 earyde areads B SR

T TV fapedl 7 & S =T B AT DY
ST SH JeHarad g (?) & I IR 8l
bl B |

48 63 56

421884515215178

14917

(A) 21 (B) 18

©) 17 (D) 19

6 | AERATAL DUAMCART

52.

53.

54.

Study the given pattern carefully and
select the number from among the given
options that can replace the question mark
(?) init.

48 63 56
42 1884515215128
14917
(A) 21 (B) 18
(€) 17 (D) 19
[SSC CGL (Tier-I) 2022]
=TT Yo &1 eamgdes STer o Bl
T Y fImed # < S T BT AT DY
S S YeEaTad fag (?) ® ¥ uR e
T B |
11159
1416 2
7531 88
(A) 13 (B) 25
(C) 18 (D) 22

Study the given pattern carefully and
select the number from among the given
options that can replace the question mark
(?) in it.

11159
1416 ?
7531 88
(A) 13 (B) 25
(C) 18 (D) 22
[SSC CGL (Tier-I) 2022]
Fr=AIfeRa Yes @1 eamgd e STead v SR
f&U T fapedl 7 & S HET B FIT B
S S wearad fag (?) @& ¥ UR e
H B |
1824 19
789
81114
17214
(A) 15 (B) 21
(C) 38 (D) 30

Study the given pattern carefully and
select the number from among the given
options that can replace the question mark
(?) init.

1824 19
789
81114
17214
(A) 15 (B) 21
(€) 38 (D) 30

[SSC CGL (Tier-I) 2022]
=TT Yes @1 eamgd e ST o 3R
f&u T fapedl 7 & S G B FUT B
S S99 YT d fag (?) & ¥ UR 3N
aHa B

SsS.

56.

57.

1581 12
1899 15
171207
(A) 23 (B) 9
©) 16 (D) 11

Study the given pattern carefully and
select the number from among the given
options that can replace the question mark
(?) init.

158112
1899 15
17 120 2
(A) 23 (B) 9
(C) 16 (D) 11
[SSC CGL (Tier-I) 2022]
faw 10 Yot 1 eMgES sTer A iR
S =T BT I BN SN SAH JIaTIR
g (?) & TH TR 31 THAT B |
159 144
18122
2217 195
(A) 188 (B) 224
(C) 255 (D) 180

Study the given pattern carefully and
select the number that can replace the
question mark (?) in it.

159 144
18122
2217 195
(A) 188 (B) 224
(C) 255 (D) 180
[SSC CGL (Tier-I) 2022]
T T BT I BT S < T8 TIfeTehT
¥ oA forg (P) & I UX 30 bl
T
51677
819 149
13129
A) 157 (B) 153
(©) 151 (D) 155

Select the number that can replace the
question mark (?) in the given table.

51677

819 149
13122

(A) 157 (B) 153
(©) 151 (D) 155

[SSC CGL (Tier-I) 2022]
fifed dfcas &1 eaMyde ofemas
BT R Y 1Y fawed # & S |
B IIT I S S0 Jearas g (?)
P M IR 37 N T



58.

59.

795

387
28 81 50

A9 (B) 8
© 5 D)7

Study the given matrix carefully and
select the number from among the given
options that can replace the question mark
(?) init

795
382
28 8150
A) 9 (B) 8
© 5 (D) 7
[SSC CGL (Tier-I) 2022]
FrIfea Yo o1 ermgdes ST o SR
U 10 fadedl § 9 9 H& B gIT N
I SHH gearad fog (?) & I U e
B B |
855 56
912826820112727
13179
(A) 24 B)20]
(©) 18 (D) 30

Study the given pattern carefully and
select the number from among the given
options that can replace the question mark
(?) init.

85556
9128268201127?7
13179
(A) 24 (B) 20
(C) 18 (D) 30
[SSC CGL (Tier-I) 2022]
fau e Yo &1 e e B AR
&7 7 el % & S R BT 7T BN
S SHH Yearad g (?) & ¥ U 3N
B B |
14 21 165
13192
1017 99
(A) 140 (B) 156
(C) 120 (D) 175

Study the given pattern carefully and
select the number that can replace the
question mark (?) in it.

1421 165
13192
101799
(A) 140 (B) 156
(€) 120 (D) 175

[SSC CGL (Tier-T) 2022]

60. FrAfha AfSad BT SAFYED STEIIT HY

61.

62.

AR T T fapedl § < S aveT Bl Ia
BN S SHH JeHAad g (?) B I W)
3 TGB! B |

12770

15678

11972

(A) 75 (B) 85

(C) 81 (D) 76

Study the given matrix carefully and
select the number from among the given
options that can replace the question mark
(?) in it.

12770
15678
1197?
(A) 75 (B) 85
() 81 (D) 76
[SSC CGL (Tier-I) 2022]
it Yot @1 e g STead o IR
&u T fapedl 7 & S AT B 9T B
S S Yo d fag (?) & I UR 3N
qHN B |
1316 52
152490
23362
(A) 207 (B) 108
(C) 117 (D) 81

Study the given pattern carefully and
select the number from among the given
options that can replace the question mark
(?) in it.

1316 52
152490
23367
(A) 107 (B) 108
©) 117 (D) 81
[SSC CGL (Tier-I) 2022]
=T Yes @1 eamgd e STead v SR
v 710 fadbedl § | S TR B I BN
S 39 geara s g (?) B e R 3l
Rl
12 36 60
72346341298715
129 14
A) 4 (B) 2
©) 3 (D)5

Study the given pattern carefully and
select the number from among the given
options that can replace the question mark
(?) init.

63.

12 36 60
72346341298715
12914
(A) 4 (B) 2
©) 3 (D)5
[SSC CGL (Tier-I) 2022]
fereAIfepet Yt o e Tqdes STERI X 3R
v v fadmed § | S HeT Bl g W
ST S99 YeEarad g (7) & ¥ TR 81
THT B |
13675
15872
18470
(A) 76 (B) 96
(C) 84 (D) 116

Study the given pattern carefully and
select the number from among the given
options that can replace the question mark
(?) in it.

13675
1582
18470
(A) 76 (B) 96
(C) 84 (D) 116
[SSC CGL (Tier-I) 2022]

64.

TH U B 7 IMRUeyH @ v ¥
g U 5 fed siafa &l vaarell &
srgfeer SireaR urst faam i e &7

%
A
VI
11

v |

11
® |vi|v]|m
v
I

VI

©|m|v|u

v
I

I
o |m|u|w
v
VI

AT gREgw U adeted | 7



65.

Two resistance of a dice are chosen. This
dice can be obtained by finding which of
the option figures along the line?

v
(A | m| 1
VI
11

v |

11
®) | vi| v |m
v
I

VI
© |m|v|u
v
1

1
O |m | 1
v
VI

v |

[SSC CGL (Tier-I) 2022]
TH U & Q1 siffa fawme o
IE YT e fadhed STpicr &l N@nsti &
SrgfaeT SireaR urst faam i e &7

OO

CTe) e
Q
@A |[N|L|o]
p
M
Q
®|o|M]|Pp]|
N
L
Q
©|pP|L|0O]
N
M
M
m[QlofL
N
p

8 | AGRAWAL DCAMCART

66.

67.

Two resistance of a dice are chosen. This
dice can be obtained by finding which of
the option

Q
® |0 |M]|rP]

N

L

Q
©|pr|L]|0O]

N

M

M
®|[Qlo|L|

N

p

[SSC CGL (Tier-I) 2022]
Th TR & A HeTdl IR ©: &0 5,
10, 15, 20, 25 3R 30 ol T & 139 Oy
P J7 Refoat fiarg T & 1S9 w1 &
T H S T '] 5 el BAd & f[auRia
THeTd TR BT |

(A) 10 B) 5

(©) 30 (D) 20

Six numbers, 5, 10, 15, 20, 25 and 30, are
written on different faces of a dice. Two
position of this dice are shown. Select the
number that will be on the face opposite
to the face having the number '15;,

(A) 10 B) 5
(©) 30 (D) 20
[SSC CGL (Tier-I) 2022]
TH & TR Bl A STT-37erT Reafort &t
TG T B | ST ST BN R UEa
o frifoiRad & & o1 P AR ¥ ?
1 1 6

(A) 1,43 fA9aq 910l HeTd W |
(B) 5,2 % fauRIq aTel Hetd R B
(C) 6,13 fAuRIT aTet HeTd TR T
(D) 3,6 fAURIT aTet HeTd TR Tl

68.

Three different positions of the same dice
are shown. Study the same and identify
which of the following statements is
correct.

1 1 6

(A) 1 is opposite to 4
(B) 5 is opposite to 2
(C) 6 is opposite to 1
(D) 3 is opposite to 6

[SSC CGL (Tier-I) 2022]
TH TN @ Q1 I fam e g
g T 5 faweq srafa & vwrell &
srgfeer Sirea urst faam i e &7

O

&Te) LT
&
@@ #|%)|
$
G
&
®|@|s | %
#

G
%
©|s|&]|#|
@
$
G
o[ #|@]|%|
$
&

Two resistance of a dice are chosen. This
dice can be obtained by finding which of
the option figures along the line?

nalfns

» | @ % |

Qe ||




69.

&
®|@]s [ %

"

G

%
©fs|&]|#]

@

$

G
o #|@|%

$

&

[SSC CGL (Tier-I) 2022]

TP & g1 B a1 A feamy e ¥ |
el W TR I8 S T e ?

N
@[ M|P[aQ]

L

0

Q
®|(N|L|oO]

p

M

0
©[N|]Q|M]

p

L

L
[P [M

0

N

Two orientations of the same box are
shown. How will this box look when
unfolded?

(A)| M

Q |

ol |w |z

Q
® | N|L|oO]

P

M

0
©|N|Q|M|

P

L

L
O[Q|P|M|

0

N

[SSC CGL (Tier-I) 2022]

70. 80 . YST ATt U ©F bl AU BTl

71.

72.

™ Uil T 9 A 9§ 3R R 39
8 Y. YSTT aTel BIC-BIC AT H HIel ST
T 1S BIC TAT &Y =T 31 DT R

| T HeTd T g B |
(A) 28 (B) 64
©) 32 (D) 8

A cube of side 80 cm is painted yellow
on all the faces and then cut into smaller
cubes of sides 8 cm each. Find the number
of smaller cubes having all the three faces
painted.

(A) 28
©) 32

(B) 64
(D) 8
[SSC CGL (Tier-I) 2022]

49 X1 STl 91t Tep B Bl AT et
TR ST T | O 8§ @R R 39 7
[T, ST 9Tl BIC-BIC T H Bl STl
T 1V BIC TF1 b1 AT 1 BT RTTehT

HIA TP HeTd I gl &
(A) 150 (B) 25
(C) 50 (D) 100

A cube of side 49 cm is painted purple
on all the faces and then cut into smaller
cubes of sides 7 cm each. Find the number
of smaller cubes having only one face
painted.
(A) 150
(©) 50

(B) 25
(D) 100
[SSC CGL (Tier-T) 2022]

12. TR Afhamd
IR A’ BI, B N I, C BT’ Bl
R D ‘9N’ PI SuIEr &, 1 FrefeRad
STh BT T fobaT B?

73.

74.

75.

46 C(6A7)B5A24D6B (27D (9D 3))
(A) 39 (B) 17

(C) 65 (D) 21

If A denotes 'addition', B denotes
'multiplication’, C denotes 'subtraction',
and D denotes 'division', then what will
be the value of the following expression?

46C(6A7)B5A24D6B (27D (9D
3))

(A) 39
(C) 65

(B) 17

(D) 21
[SSC CGL (Tier-I) 2022]
IfE A'SIS’ @1, B IO &I, C GeHT Bl
R D '9FT @1 g9 &, 91 FEfeRad
ST BT A a1 2rm?
66 A (132D 12) C(4A3)B(15D5)A
16 B (-3)
(A) 56 (B) 6
(C) 10 (D) 8
If A denotes 'addition', B denotes
'multiplication’, C denotes 'subtraction',

and D denotes 'division', then what will
be the value of the following expression?
66 A(132D12)C(4A3)B(15DS5S)A
16 B (-3)
(A) 56
©) 10

B) 6

D)8
[SSC CGL (Tier-) 2022]
e Ty RO BT TR T S T bt
QU 37T B I H IIAT ST MY ?
37+ 1152 x8+768 —47=22
(A) 23R 3 (B) 3 3R 4
(C) 43R5 (D) 53R 6
Which two digits should be interchanged
to make the given equation correct?
37+ 1152 x8+768 —47=22
(A) 2and 3 (B) 3and 4
(C) 4and 5 (D) 5and 6

[SSC CGL (Tier-I) 2022]

iy weerel '18' 3R 30" BT oMU H
ot a1 wmg, o FforRad § & -
FHIGRUT FGAT B TG ?
(A) 64+18x5+3-30=98
(B) 35+5x5+30-18=23
(C) 14x5-18+6+30="73
(D) 12-30x18+3+16=174
If the numbers '18' and '30' are

interchanged, then which of the following
equations can be correctly balanced?

(A) 64+18x5+3-30=098
(B) 35+5x5+3018=23
(C) 14x5-18+6+30=73
(D) 12-30x18=3+16=174
[SSC CGL (Tier-I) 2022]

AT REH Ud ddetad | 9



76. IfE A 'S’ B, B UM’ BI, C "HSHT’ B

R D 'WRT P <@l &, @1 fefeRad
RSTd B AN fooeT BT ?
(45D9)B5A8B(7A3C6)C (28 D(4
D 4))

(A) 38 (B) 82

©) 32 (D) 29

If A denotes 'addition', Benotes
'multiplication’, C denotes 'subtraction’,

and D denotes 'division', then what will
be the value of the following expression?

(45D9)B5A8B(7A3C6)C (28D
D 4))
(A) 38
©) 32

(B) 82
(D) 29
[SSC CGL (Tier-T) 2022]

ok

77.

78.

10

98 farenfeflt 1 v wem o, ol faeneif <=
WA —FIR, AR AR <, | PA-
H-PH TP Wl Wil & | 42 faenelf wax
WA &, 49 S Werd & @R 43 IR
e B Pre N 3R daa q1 WA Wer
1ot faenfdfat & gor e 29 % 1 5 femef
AT W WA ¢ | A F@R AR daa
&1 11 faeEnell Faa Fax &R e wer
E1 6 faenif daet TR IR TR e
& | fopam et daet s wera 87

(A) 20 (B) 21

©) 23 D) 22

In a class of 98 students, all play at least
one the three games—snooker, chess
and tennis, 42 students play snooker, 49
play tennis, and 43 play chess. The total
number of students who play any and only
two games is 29. 5 students play all the
three games. The number of students who
play only snooker and only chess is equal.
11 students play only snooker and tennis.

6 students play only snooker and chess.
How many students play only tennis.?

(A) 20 (B) 21
(C) 23 (D) 22

[SSC CGL (Tier-I) 2022]
T 99 ARG BT T Y ol (feTRad

& g TRy Bl gad w3 S B
IR Fopme A, Ao, AgAE, TERT

Nolo

(B)

| EERATAL IDCAMC AT

79.

@O
O

@)
@)

Select the Venn diagram that best
represents the relationship between the
following.

D)

()®

Noncommunicable diseases, Cataract.
Diabetes, Measles

z

(OO

(B)

O ©

O

(D)

Oo

[SSC CGL (Tier-I) 2022]
FerfeTRad 97 IR , TIHI0T “FeAd! Bl
Terian &, et PRy’ @ e
I HR-AMTD! DI AR & AR F TS
BRI B e s | U 7Y o1er S faey
S & R BT eI BT &—

31eR DRI o 210l & =afehall ot Fefia

o e 3—

(A) SN BIE-P BR-AMTD &, I AHIRIE
BB SR Ferd W |

(B) N RIS &, T HIHI-IA & e
AHIRTS HRIEAr 78 & |

(C) S BIOIIA &, T A1 A BR AIferd ©
1 AITS Bl € |

(D) I B HR-AMCTD &, T IS
BrRIBAr 9 ¥ |

In the following Venn diagram, the

pentagon stands for 'clercks', the triangle

stands for 'coffee-lovers', the square stands

for, 'car-owners' and the circle stands

for 'social workers' . The given letters

represent the persons in that particular
category.

80.

Which of the following categories of
persons is represented by the letter 'D'?

(A) Coffee-lovers who are either car-
owners or social workers

(B) Coffee-lovers who are car-owners,
social workers and clerks also

(C) Car-owners who are coffee-lovers
but not social workers

(D) Coffee-lovers who are car-owners
and social workers also

[SSC CGL (Tier-I) 2022]
T I NG T T BN ol (AHferRaa
% g FFY BT qaH oY W eI
HBHD XT, T AT b 1 & B dTel
T, T, @ I, =99 |

“® 69

@@

©) O
. QO
00

Select the Venn diagram that best
represents the relationship between the
following.

Infectious diseases, Deficiency diseases,
Goitre, Rickets, Chickenpox.

“(9 €9

[SSC CGL (Tier-T) 2022]



81. F=ifoiRad 99 emg #, SieIpfd ‘Acs

eI &, Bryet gl HHetRal 3
FUITAT & &R o ‘BRETAI3N BT ST B |
& TS I S a9 St H =afeal @
T Bl ST

fham g% TICS THISeE 7 Al B &

IR 7 & Pl e §—
(A) 22 (B) 17
©) 14 D) 8

In the following Venn diagram, the oval
stands for 'chartered accountants', the
pentagon stands for 'males', the triangle
stands for 'full-time employees', and the
square stands for 'tax-payars'. The given
numbers represent the number of persons
in that particular category.

How many male chartered accountants
are NEITHER tax-payers NOR full-time
employees?
(A) 22
©) 14

(B) 17
(D) 8
[SSC CGL (Tier-) 2022]

82. T T P iR Freapsf 1 eagde U6 |

¥E A g¢ 1P Hemi A & T THHR
W, ol & U8 Adse a9
YA BI 21, 31T T BT & b Ay 1
st § | DH-1/] BAA B STAT
PRAT/BRA &fe—

hYA

L M e, et B

. 99 <er, 9EE & |

1. B A, et el & |
forepy :

I B 90 e, Bt 78 ¥

. PIg 9 offel, a9 781 &

[ BB qHH, TA &

IV. %O MM, el 81

83.

(A) Bae s 1, 11 iR TV SRR SR
gl

(B) @ael frspy I, 111 3R 1V 3=
PRA &

(C) daat fspy [ 3R I SRR IR & |

(D) | s 1, 11, 1M1 3R TV IR
PRA E

Read the given statements and conclusions

carefully. Assuming that the information

given in the statements is true, even if it

appears to be at variance with commonly

known facts, decide which of the given

conclusions logically follow from the
statements.

Statements :

I.  All flowers are blue.

II.  All blue are good.

III. No good is red.

Conclusion :

I.  Nored is a flower.

II.  No red is a bus.

III. Some good are flowers.

IV. Some good are blue.

(A) Only conclusions I, ITand I'V follow

(B) Only conclusions I, [l and IV follow

(C) Only conclusions I and III follow

(D) Allconclusion [, II, Il and IV follow

[SSC CGL (Tier-I) 2022]

12T T P SR frsepul Bl A YES U6 |

I8 A g T BeFl H & T SR

& T, 9ol & I8 A B9 | S a1

3 = oI Bl @, ek 99 R e e

T fshst # | BH-1/3 fspy BT Bl

TP U I ARV BRAT /PR &—

DY

L P N Yo Afer, Siaes 718 ¢ |

. B eiacy, fRve &1

L |9 SRR, SR €|

frsp :

I %O IONR, I S 8 |

I PE N SONRR, gfer it 78 2 |

. B Saex, SRR &

(A) dae s 1 iR 11 3FER - & |

(B) 31 <1 sy [ S/g=0T el &, AT 11
3R 11 3R] PR & |

(C) &act sy 11 SFHARVT PRl & |

(D) @9t fpy 11 3R 111 TR0 - & |

Read the given statements and conclusions

carefully. Assuming that the information
given in the statements is true, even if it

84.

appears to be at variance with commonly
known facts, decide which of the given
conclusions logically follow(s) from the
statements.

Statements :

I.  No police officer is a doctor.

II.  Some doctors are specialists.

III. All engineers are doctors.
Conclusion :

I.  Some engineers are police officers.
II.  No engineer is a police officer.

III. Some doctors are engineers.

(A) Only conclusions I and II follow.

(B) Either conclusion I or II and III
follow(s).

(C) Only conclusion II follow.
(D) Only conclusions II and III follow.
[SSC CGL (Tier-I) 2022]

12T T P iR frrsemuf o1 sagEE S |

& A gY b weFl # A T SHPR

| ¢, el 8 98 A B0 9 S 92

J = g Bl &, 99 B P faw 7

et & & DI & Frpd el a1 aifdbd

Y 3 AT B &7

DY :

I PR SAEERI, I Tal &1

I |9 7Y, Gar ¢ |

[ |9 TR, g &1

foreed :

I PE gaMI, 3FR 78 8|

I % SRR, SNIGERI -Tal & |

L. P Y, SGERT Tai ¢ |

IV. %O IeEganR, g 8 |

(A) @ae s 1, 11 3R TV TR0 Bl
gl

(B) g s 11, 111 3R [V |8 & |

(C) @aet fspd 11 iR 111 3TER0T FRal
gl

(D) @ae s 1, 11 3R 111 SRR Bl
gl

Read the given statements and conclusions

carefully. Assuming that the information

given in the statements in true, even if it

appears to be at variance with commonly

known facts, decide which of the given

conclusions logically follow(s) from the
statements.

Statements :

I.  No plum is an apricot.
II.  All lemons are apricots.
III. All grapes are lemons

AT Rgw Ua daered | 11



Conclusions :

I.  No apricot is a grape.

II.  No grape is a plum.

III. No lemon is a plum.

IV. Some plums are lemons.

(A) Only conclusions I, Il and IV follow.

(B) Only conclusions II, III and IV
follow.

(C) Only conclusions II and III follow.
(D) Only conclusions I, Il and 111 follow.

[SSC CGL (Tier-) 2022]

85. 9 I 3R BT IIF B Ol fHfIRad

T B e T Bl qATH o A ST
T—

Solagle Ioied, AEge B, oud,
Terq

Nole

(B

S

S

?Q

Select the Venn diagram that best
represents the relationship among the
following classes.

Electronic gadgets, Mobile phones, Table,

Laptops

z

E

OO

©

O

(D)

[SSC CGL (Tier-I) 2022]

15. 95P HaeNB ol

86. PLQ, R, S, T, U,V 3R WHH & 33

STR-FT T v el ufen 7 Rerd ¥
S, TS 9I¢ §ER I W 8| W, P& IR
TR WH REITIF PR VS 99

12 | AERATAL DOAMCART

87.

88.

FEIS,VH I IR WH R Bl W, P
B IR TR WM W &I TAF PIAR V
HITAZIS, VP IR TR WH R B
W,U® 3% <8l 7o A &I R, P& a1
TR TH R B S P IR A WH )

BT R R & ?
(A) V (B) R
(C) W D) U

Eight north-facing restaurants named P,
Q,R,S, T, U, Vand W are located in a
straight line. S is second to the left of T.
W is third to the left of P. T is between
P and V. S is third to the left of V. W is
to the immediate right of U. R is third to
the right of P. Who is sitting fourth to the
right of S?
Ay v

©) W

(B) R

D)yu
[SSC CGL (Tier-I) 2022]
A HERT K, L, M, N, O, P, Q,R 3R S
Fraferd § v Wl ufth 7 g fawm A oiR
I BFR I T O, M B IR RN
FIF W 1K, PP IR AR ¥ WX B
QOB PARSHTITHEIN, M P T
AT TIF W TP, N b & I8N A
TIR, O IR 1Y ¥I9 IR ¥ | frferRaa
N DH-1 HU FE TE &7
(A) L,0d 91 TR X9 TR 91 B
(B) Q,K® I A1 T W 1
(C) RIRSBRIR IS T
(D) O9® K 3R N& §rg # a1 & |

Nine employees, K, L, M, N, O, P, Q, R
and S, are sitting in the office in a straight
line, all facing the east. O is third to the
right of M. K is third to the left of P. Q is
between P and S. N is fourth to the right
of M. P is to the immediate right of N.
R is fourth to the left of O. Which of the
following statements is NOT correct?

(A) Lis sitting third to the left of O.
(B) Q is sitting fourth to the right of K.
(C) R and S are sitting at the corners.
(D) O is sitting between K and N.

[SSC CGL (Tier-T) 2022]
7] R Yo @ e Aot & IR 76D
B B AR AP B 48 ¥, S
e el fob 9 g0 8 A & 1 jgav, Ty
W TR TR I TR 1 & | GaR 3R o
@ G Pt <1 Al ¥ ¥ sieR, fig
o A 1 ¥, S o oer St
e TeRT 781 ¢ | fer S gomet
aie Rig & we ¥ ¥ 7, Rig & and
TR I TR a7 B—

89.

FrfeiRae F - DF-3T1/] B A &/&?
(A) “hfer S| @t & AW I3 & S
U] & i I T H T B
(B) SR 1% X iR TRy & T ¥
T

(C) 7T 8 e & TS # B

(D) [a, FHUNA & IR TR T IR
T

Bindu, Krunal, Manoj, Nilima, Omkar,
Piyush, Renu and Sunder are sitting
around a circular table facing the centre,
but not necessarily in the same order.
Sunder sits second to the right of Piyush.
Only two persons sit between Sundar and
Krunal. Omkar sits opposite to Bindu,
who is not an immediate neighbour
of Krunal and Piyush. Nilima is the
immediate neighbour of Krunal and
Bindu. Manoj sits third to the right of
Bindu.

Which of the following statements is/are
true?

(A) Nilima sits opposite the one who sits
to the immediate left of Renu.

(B) Omkar is the immediate neighbour
of Renu and Piyush.

(C) Manoj is the immediate neighbour
of Nilima.

(D) Sundar sits third to the right of
Krunal.

[SSC CGL (Tier-1) 2022]
T el AT & R 59D v Bl SR I
PRSP IS & | 164, YTHd B ST TR A
TR T | AU, G D IR SR S e
F Ja1 &1 oRaT, AP B IR TR WM
TR E |69 AR FEG & 919 A BR A
A T § Gfn © | A B IR AR
UM TR B T &7
(A) 3rar
(C) e

(B) afgam
(D) "rpd

Raghav, Manpreet, Sunaina, Prakrit,
Vedika and Arwa are sitting around a
circular table facing the centre. Raghav is
second to the left of Prakrit. Manpreet is
to the immediate leftof Sunaina. Arwa is
second to the right of Vedika. There are an
equal number of persons between Raghav
and Manpreet from both the ends. Who is
sitting third to the left of Sunaina?

(A) Arwa (B) Vedika
(C) Raghav (D) Prakrit
[SSC CGL (Tier-I) 2022]



90. T TS & U 3TT-3TAT =T, AHaR

T YHAR TP T ASTT-3T T &N,
W, 9o, S SR R T F BUS T
¥ 98 GUIR B AT T B B T & |
T8 AMAR T YHAR B & AR R TS
IS T8 TE | 9ol HUS UETH B ST
T I8 B X B UL Tl & | 98 fod

T R T & FUS TET &7
(A) TEIR (B) 9MaR
(©) gPIR (D) HTeTaR

Radha wears five different coloured
clothes, red, green, yellow, purple and
brown, on five different days of a week,
from Monday to Friday. She wears red
clothes on Wednesday. She does not wear
green and brown clothes on Monday or
Friday. She wears green clothes on the
next day of wearing yellow clothes. On
which day does she wear brown clothes?

(A) Thursday (B) Monday
(C) Friday (D) Tuesday
[SSC CGL (Tier-T) 2022]

91.

92.

g g1 A, B, C, DR EF A B,A ¥
T T AR B C, E 40 . 9y B
D, E ¥ 91g O T[T 919 8 iR C, A9 Ui
AT 9N B | E B 9o 40 R B I g

PI-T AT Bl & R SABT 9 e
7?

(A) D125fFm.  (B) B 50 f&.
(C) B 12 famm. (D) A 16 fm.

Among five boxes AB C D and E B is
thrice as heavy as A. C is 40 kg heavier
than E. D is three and a half times as heavy
as E and C is five times as heavy as A. The
weight of E is 40 kg. Which object is the
lightest of all and what is its weight?

(A) D125kg (B) B 50 kg
(C) B12kg (D) A 16 kg
[SSC CGL (Tier-I) 2022]
27 5, 25, 125, 625, ... g 390625
Fm—
(A) oa (B) &aT
(C) 7a (D) 1091
390625 is at which position in the series
5,25, 125, 625, ... ?
(A) 9th (B) 8th
(C) 7th (D) 10th

[SSC CGL (Tier-I) 2022]

18. 3pfd J@atl

93, 3T TV fawedl # & S AP B IIT

94.

P S FEfRed g@en H yearas g
(2) B UM T 3T Abel §—

oI O B3 6
@ | [ 9
© - - Q|© -

© = E ©
(A) ® (B) ®

m ® u ®

B o O o
© ® (D) @

® u u ®

Select the figure from among the given
options that can replace the question mark
(?) in the following series.

I Do 5@ o

(O] N} | 9
®© -|- Q|0 -

© 0| N} (]
(A) ® (B) @

] ® L ®

| @ | =
© ® (D) @

© u L O]

[SSC CGL (Tier-I) 2022]

QU Y fadedl § & 99 M &l T I
o FrfeRad snafr Seaen 3 yefag (2)
G I TR 3T Fdhal 58—
@e®) -

(A) (B)

© (D)

Select the figure from among the given
options that can replace the question mark
(?) in the following series.

9@ -

AN
B
N/

(A) (B
© D)

[SSC CGL (Tier-T) 2022]

95, T T fAdmc § & S 3B B Ia+ B

96.

S FrfeRed gaen § yearas g ()
B UM U 3 FhT B—
sl &

[ ] N [ ] [ ) N [ ]
Qs e o)

[ X ] k [ ] [ ) i [ X ]
°o|®) ~|&

Select the figure from among the given
options that can replace the question mark
(?) in the following series.

TR [§
[ ] N [ ] [ ) N ]
ISEEA ATEEGINA AT
[ X ] [ ] [ ] [ X ]
© | ( (D) |/
[SSC CGL (Tier-I) 2022]
QT 7 el # & S BT B T
Y IR SRget 3§ ye=aras =g (?)
& UM TN 37 Pl B—
[ 0 @ <
0¢| 0o ©¢ol on| ?
oft oo o |fo
(@] (0]
(A) o (B) f o
(o e) < 0
@] @]
(©) o { (D) o ¢
<o 0 4 0

Select the figure from among the given
options that can replace the question mark
(?) in the following series.

[ 0 @ <
0¢| 0o ©¢ol on| ?
oft oo o |fo
] o)
(A) 0¢ B) @ o
o 0 < 0
@) )
©) o { (D) o <
< 0 @ 0
[SSC CGL (Tier-I) 2022]
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SRR R R R SRRl ) (). <FTRTST hIeT 3R AISH]
R S et ST ¥ wearas R (7) B wfTfRe ¥ (R B Sy 78 ¥)— .

T TR o AT B— 101. Fr=ifeRed sl § SISl & Ud gbs
o, | = BN AEA BT HH (MBI 1 AR 1) S
agy |90 [¢20| 2
< > | To T 2 3R IS §T BRI DI Pled Dl AfY
(i 111 ) =@ T3 ¥ | =59 fawed &
- - (A) (B) T B AR (1) P GO T Y
@0 f| ®»0 4 o
m [ = <7qiferes foreta Setd o |
= - ©) (D) A | Be on
Ol ™ QI
= cm
) Select the option in which in the given @ (IT) (111
Select the figure from among the given figure is embedded (rotation is NOT
options that can replace the question mark allowed) HpgN a7’d
(?) in the following series. ’ (A) <> (B) <>
0.0 0.0
© = =
Bo¥ | 90 | ¢30] ? Oovo ovo
© | O D) SO
N 0{_ N O‘_ *) B 0.0 0.0
) E.ﬁ ¢ Eﬁ The square of folding a piece of paper
(figure I and II) and the number is which
| - C D the minter is which the sudden paper
© | Q f ®|Q & © ®) has been cut (figure III) is shown in the
d - following figure. Select the option that
. [SSC CGL (Tier-I) 2022] would most closely seseuble the unfolded
[SSC CGL (Tler—I) 2022] from ofﬁgure (1“)
< 100. I fIded 1 77 X o= A T8 SMPHi
19. wffea smepferi e (g a7 3 Al | el
98. S fadwey & 989 X O & T B
(X) 3 e ¥ (G <1 oIy 18 ) o a o

HpgN HpgN
N
(A) N B) \\
AN = = 070 )(E
(A) (B) NN ~ © | D) > &
D A S 00 0.0

© | [ ™| [ .
© g[] O @ [y A [SSC CGL (Tier-I) 2022]
— o . 102. =T SHRRN 3§ ST & T THs B
Select the option in which in the given figure
Select the option that is embedded in is embedded (rotation is NOT allowed). AT @ P AR TS gV ST BT Bre
the given figure (X) (rotation is NOT H TP TG =T B | T8 FITST @
allowed). e
/ E \ >
~ £
% A& (A s
(A) \\ (B) \\ = =
AN B s :: :: 4> ap>
>dq >dq
(A) i (B) (A) |onmo onmo|  (B) fomonmomo
A \\ ;I:X > B> > B>
© é[] (D)@ © 1 (S OIS > <> a> a4
| = = onmo > < >< >
©) [>< oo (D) |onmo onmo
[SSC CGL (Tier-I) 2022] [SSC CGL (Tier-I) 2022] a> >d ><d >d
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103.

The sequence of folding a piece of paper
and the manner in which the folded paper
has been cut is shown in the following
figures. How would his paper look when
unfolded?

—~
~ <«
0
o
~v <
>p> PP 4D 4>
d4d 44« >d B>«
(A) |onno onmo (B) oo on o mo
B Bb>d B B>
>da <D PENPTS
onmo > < >4 >
©) > <« onmo (D) |onoo onmo
4D B >SN~ S|
[SSC CGL (Tier-I) 2022]
fFr=faRed el § e & UE gES
BT IS BT HH (MBI 1 H) F9T T ¥
3R S BT BT BT A9 1 Yy (Smepfar

i ®) <uIE T ¥ | S b B ahT BN
S P (i) P el BT A A |aleDd
e et 2 |

W

—T N

AY
) (i

G

—

O

NSkl | N X

(A) ()]

N 5| (52 7 %
7 MR dvdbxe

O O

o

The square of folding a Piece of paper
(figure i) and the number in which the
folded paper has been cut (figure ii) is
shown in the following figure. Select the
option that would most closely variable
the unfold from of figure (i).

© (D)

2| [wrt

w5
— T N
w5
0) (ii)
AR A g AR A g
@ Iho4d| B |DokX
% ¥ N
DR * %
© |hOo4d| 40D
% ¥ N

[SSC CGL (Tier-I) 2022]

104.

105.

ST9 <91 1 IR ol & TR 'AB!
TR TR E, AN AN T MG B 90 H
T wd ufifds &1 o7 w—

"l
& W@
RV

Select the correct mirror image of the
given figure when the mirror is placed at
'AB' as shown.

g . %&
[SSC CGL (Tier-I) 2022]

9 gUUT B R 3 & ofgaR 'AB'
TR G T E, Al AN T B B Y0 H

(D)

© (D)

ﬁﬁﬁﬂﬁrzﬁﬁaaﬂwaﬁ—
E
/i \

=
%
)

]

Y

(A)

©

o
Ny
\

N

N

Select the correct mirror image of the
given figure when the mirror is placed at

'AB' as shown.

' A
]

\

&P

B

106.

107.

\
A
AN
]/
N
/i \
Ny
D) W
AV N/
N N
[SSC CGL (Tier-I) 2022]
SIE <91 1 I s & SR 'PQ'
IR T T B, 99 T T Ao BT g4
¥ 4 w8 ufafds Tafig ev—
P

B

7DIScHVrGES
Q
(A) ADI21HAcCCE?
(B) ADIRCHAMCER
(C) ¢dDoVH121AY
(D) 2dD1VHoL21AdY
Select the correct mirror image of the
given combination when the mirror is
placed at 'PQ' as shown.
p
T7DIScHVrGES
Q
(A) ADI21HACCE?
(B) ADIRCHAMCER
(C) ¢dDoVH121AY
(D) 2dD1VHoL21AT

[SSC CGL (Tier-I) 2022]
135° gféomad @R fR 45° arrad gaTg
S O B4 fadweq S 18 U mafa
B I B ST —

ﬁ
(A) /A (B) ‘p

(D) “\\“\’

Which of the option figure when
rotated 135° clockwise and than 45°
anticlockwise will res result in the given
question figure?

AT RgHI TE daered | 15



[SSC CGL (Tier-I) 2022]

22. SMp il $1 goF

108. D0 e ST 270° T™TE gAT

109.

W SR R 45° et gam W foege
QT YT BT B FHM B ST —

&

Which of the following when rotated 270°
clockwise and than 45° anticlockwise will
res result in the given question figure?

&

© % (D) @

[SSC CGL (Tier-I) 2022]
180° Zfaromad 3R fihv 45° M gam
R FrEfIRed § & -0 fRwew srafa
foreeger 1 7T U TP & IR B ST —

(A)

©

Which of the option figure when
Rotated 180° clockwise and than 45°
anticlockwise will result is the given
question figure?

[SSC CGL (Tier-T) 2022]

(B)m 110.135° fEromadt &R R 45° M gamw

M W BE-A fade e & Ty
ST & SR B ST —

Which of the option figure when rotated
135° clockwise and than 45° anticlockwise
will result in the given question figure?

0 &Y

[SSC CGL (Tier-T) 2022]

1. 3TN IUTHTST RA&T0]

1. (A) A ™ IR § Jun TF I IR

[ qul ¥ o SO 918 Son
JUMHTEAT & SRR 3T JTell Y2 Juf C
TN 5 fade (1) e (V) @9 3 faa
TS o C & 9earq T 0 |1 fadedi
H {HM ¥ TogeErd {9 U E R
JUMHTET & SR gl 37T & I 4
A usel fdee (1) 9 T9ar (S)
SR | fa Ty 99 fadhedl  Junkete
qb A & o S 915 B quI Bl
xR A e faar S|

I TeEl B BH H A B 9IS
w9 fAEfeIRad e 8 T—Junction

— Junctures — Junketeered—
Junketeering, Junketers.

2. (B) I T T=AT Bl TEDRT B IIAR

afkerd B4 UX Gl BT HH
fferRad yar Brmm—

Southern — Sovereignty — Spacious
— Speaking — Stampede —
Standardize

3 11, VL, V, I, TV, 11 32T &7 &
PH B

3. (D) A T ¥a] B PN RPN B

TR FAReT PR W F=fARad
PH I B |

Disadvantage — Disappear —
Disappointment — Disarticulate —
Disaster — Discharge

e V, IV, 11, VI, 1, 111 31saT Bl 8
B B

2. i |1 Y&

4. (C) & T$ @ ¥ 4 CROWD &l

23415924 e M1 & A 3 PR B |
JUHTET & B HH H RISTHT BT UM
W JUTHTET BH | XERT BT R A/

C=24

R=9

0=15

W =4

D =23

R_O W __p

C
23%24

47 15 9
T IR,

T_R_H_J CK
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FRUGAL ¥,

F 1 quiHTel & Sec ¥ H R /19
=21

R &1 qUMIel & S BH H S
AT =9

U &1 T 749 =21

G BT AT B S FH | A
A =20

ATl qUFIET & A H TIFR- A = |

L T qUMHTAT & S HH H S A
=15
F. R_ U_G _A L

=SS,

15 1 20

5. (A) @ TE FHE AT H PEN BT 17717

Feag forar T B S 59 UBR B
P &1 SRl qUIHTATIR FIRT A
=16

16+1=17
E &1 ®IMT 719 = 5
= 5+2=7
N BT I A9 = 14
14+3=17
3 e = 17717
Tl YBR CAPH,
C & WM™ 949 =3
FE=3+1=4
AT IHE 94 = |
HCc=1+2=3
P &1 T A1 = 16
HL=16+3=19
3d: CAP I = 4319 % w0 ¥ dhedg
o STRAT |

6. (D) @ 91 § POTATO & foru fa=m

HT 32-30-40-2-40-30 T S 39 YPR
e mar &—

P &1 M A9 = 16
HE=16x2= 32

O & Mg AF = 15
e =15x2=30

T &1 ¥AM™ AF = 20
e =20 x 2 =40
AT I 94 = |
B =1x2=2

T & T A = 20
B =20 x 2 =40

O &1 Mg AF = 15
e =15x2=30

3 9BR TURNIP &I 40-42-36-28-
18-32 % 9 ¥ FHeag a1 1 & 98
M SR POTATO & HIHH B ATAR
¥ 37T TG W B 2 | T R
e 9ol 1 e gred B |
RADISH & o0 @e—

R &1 I A1 = 18
FT=18x2=36

AP FIH™ 74 = |
HC=1x2=2

D &1 Mg A1 = 4

B =4x2=8

[ &1 TAM 71 =9
HC=9x2=18

S BT T 719 = 19

He =19 x2=38

H &1 TG A1 = §
FE=8x2=16

31d: RADISH &1 36-2-8-18-38-16%
w4 # fomar SR |

7. (C) f&& & e § ONION &7 faar T

A =201 T I $H YPR &—

O &1 ¥IFT AF = 15

N &1 TG 719 = 14

1 1 TR 919 = 9

O & I A = 15

N &1 M 71 = 14

AM=15+14+9+15+14=67
67 x 3 =201

34 9BR POTATO #,

P &1 ¥IMI 7F = 16

O & FIFIT A = 15

T &1 ¥IF™ A = 20

A ® IF™ AE = 1

T &1 ¥IF™ AM = 20

O &1 ¥IFIT AF = 15

AM=16+15+20+1+20+ 15

=87

He =87 x 3 =261

T 9BR MANGO ¥,

M BT TR A9 = 13

AT I AE = 1

N &1 SIME 719 = 14

G & I AH =7

O & TG A = 15

AT =13+1+14+7+15=50

He =50 x 3 =150

8. (A) &1 g g W H LOOK & 2330 &

w0 ¥ Gedg fH T2 SS9 YR
—
L &l T A4 = 12
K &1 ¥M1g A = 11
AT =12+ 11 =23
O &1 TIMF AF = 15
AT =15+15=30
%e = 2330
TN YBR BALL &1 1 desg fbar
T,
B+L=2+12=14
A+L=1+12=13

%e = 1413
HELPH,
H &1 ¥IM1g A1 = 8§
P &1 XM AF = 16
H+P=8+16=24
E &1 T /19 = 5
L &1 I A = 12
E+L=5+12=17
B =241

9. (D) & g HE 9 B IR,

Cool @l % = man

here &I % = bhu

drinks T & = lop

Available &7 | = Juk

lost &T 6 = gan

object BT HC = nut

Be ®T &2 = vax

search &I 6 = der

Desert &l ¢ = but

31q: lost drink @T gan lop T8N SRR |

10. (B) &1 7€ Fe A9 H qUMHTA & Sec B

W g B 37T B FAMT AT B INT
F 3 7rss A o T SreRy o el
I HSRI TR & S Yest fHfeiRad B
R &I 90T & S BH &M
HT =9

O I & See BH § AT T4
=12

U g F=6

B @l fqudid Y =25

S AT H=8

T kT G=7

A =9+12+6+25+8+7=67
ROUBST # &R] &1 9&T = 6
3 HS =67 —-6=061
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T Y&R, FORTUNATE #,

JUIHTST B S HH A F 6T TR A
=21

O fARg L=12
R &I f<d 1=9
TH faRa G=7
U foma 1=6
N & foma M =13
AH T Z =26
TEH faRka G=7
E & farig v =22

YRT=21+12+9+7+6+13+26
+7+22=123

FORTUNATE # 37&R] &7 |1 = 9
HE=123-9=114

11. (B) 3 7% T 9191 ¥,

GLOVE &1 % 148 faar 1 & <
3 YD T,

G BT Ul & S FH | T
A9 =20

L& fqka 0= 15

O faka L=12

VaE fAkig E=5

E & farig v=22

AT =20+15+12+5+22="74
GLOVE # WaRi &1 981 = 2

3T BT =74 x 2= 148

T YHR, OBDURATE H,

YRT=12+25+23+6+9+26+7
+22=130

OBDURATE ¥ TRJ &1 9T = 4
31 FT = 130 x 4 =520

12. (B) & 7 &g AT #§ GALLERY &1

1422424103650 % 9 ¥ &eg (b1
T B SN 3 UBR B |

G &1 TIF AF =7
HS=Tx2=14

AT IHE A1 = |
He =1x2=2

L &1 T A/ = 12
T =12x2=24

L &l T 919 = 12
FT=12x2=24

E &1 ¥M1g AF = 5
HE=5x2=10

R & I 9149 = 18
HL=18x2=36

18 | ERATIAL IDCAMCART

Y & I A =25
e =25x2=50
39 R NOSTALGIA#,
N &1 ¥ 719 = 14
e = 14x2=28

O & I A = 15
He = 15x2=30

S &1 TR A4 = 19
HE =19 x 2 =38

T &1 T A =20
B =20 x 2 =40
AT I AE = 1
FE=1x2=2

L &l TIM™ 919 = 12
T =12x2=24

G & TIFT AM =7
He=7x2=14

[ T T /19 = 9
B =9x2=18

A ® IF™ AE = 1
He=1x2=2

3d: NOSTALGIA &1

2830384022414182 & U ¥ Hedg
foram SR |

13. (B) f&¥ & wed # LILY &I 116 qeon

LOTUS &1 174 & %9 H dedg foar
T E O 3 YPR B—

LILY ¥,
L &l TIM™ 919 = 12
[ T T /19 =9
L &l TIM™ 919 = 12
Y &1 ¥IME AF =25
I =12+9+12+25=58
FHe =58 x2=116
4 9BR LOTUS ¥,
L=12
0=15
T=20
U =21
S=19
TRT =12+ 15+20+21 +19=87
e =87 x2=174
TULIPH,
T=20
U =21

L=12
=9
P=16
AT =T+U+L+I+P
=20+21+12+9+16="78
He =78 x 2 =156

medicines—> |I|5 @ @

fake - Q@
he rest e 7|I| 3

G s Qe

- Q@6 ®

@ g HE WA,
Some T 6 =4

She @1 &2 =2

Water T e =9

is PT HC = 6

take T T = 8

need &1 &C = 1

medicines BT BT = 5

3[d: take medicine dT HC 85 BT |

15. (B) <1 7TE G AT ¥ o TR el & S7ERI

BT UEA SIS JUMIA B PAGAR
IR 1 & T dpfedd wd |
TP 3feR § 3 Sl TRT & q41 X0
TR 3 TR T4 5 |

NORMAL &I quiEell 8 § oW
X, ALMNOR
A+3=D
L-3=12-3=9=1
M+3=13+3=16=P
N-3=14-3=11=K
0+3=15+3=18=R
R-3=18-3=15=0
31: NORMAL &1 DIPKRO & %9
H Fcdg fooan T B
4 YR SOUND &1 quiHTer 6F ¥
T 9} DNOSU
D+3=4+3=7=G
N-3=14-3=11=K
0O+3=15+3=18=R
S-3=19-3=16=P
U+3=21+3=24=X
3d: SOUND &1 ¢ = GKRPX

CLUSTER &1 quMETal H § ™

T = CELRSTU
C+3=3+3=6=F
E-3=5-3=2=B
L+3=12+3=15=0
R-3=18-3=15=0
S+3=19+3=22=V




T-3=20-3=17=Q
U+3=21+3=X
3d: CLUSTER &I FBOOVQX &
4 H qedg fhar SR |

16. (B) <1 7€ gew™ § MOST

17. (D)

M BT T A = 13
O &1 M 719 = 15
S &1 TAMR AH = 19
T & TG A = 20
AT =M+0+S+T
=13+15+19+20=67
B =67 x2=134
4l &R FUR H
F=6
U=21
R=18
AM=F+U+R=6+21+18=45
HE =45 x2=90
4l &R SUCCESS #
AM=S+U+C+C+E+S+S$S
=19+21+3+3+5+19+19
=89
BT =89 x2=178
B TS FHe AT | SAERT BT JUHI
@ I HH H forgax T g AT @1
2 ¥ O a1 TRIT B S 39 UBR 6
S BT WA 91 (S P4 H) = 8
HS=8x2=16
T BT GUHIAT B S BH | T
4 =7
B =7x2=14

R &1 GUMTE & S HH AR 719
=9

FE=9x2=18

E &1 quFHTel & S BH A R
A =22

HT =22 x2 =44

A T IUMTRT & S BH H R
M =26

HE =26x2=52

M BT JUHIAT & S BH H A
A = 14

HT =14x2=28

3d: STREAM @1 161418445228 &
9 W Fedg 5 T |

3 YBR PERIOD &1 7 &R
ey fbar SR |

P 1 JUMHTET & S A H IR A/
=11

HFC=11x2=22

E &1 quiHIel & S BF H Iy
M =22

HE =22 x2=44

R &1 quiTel & Sec BF A I
A =9

FC=9x2=18

L T GUTHTR & Sec HH H XA A1
=18

He =18 x2=36

O FT IUMHT & S HH A A
9 =12

He =12x2=24

D P quiHTel & Se¢ BH A Mg
A =23

He =23 x 2 =46

3Td: PERIOD @I 224418362446 &
U W dHedg [P SR |

18. (C) & S G 9 §, MOHAN T 39-

45-24-3-42 % 50 ¥ Fedg fban mn
&S 39 YBR 5

M &I T 79 = 13
He =13 x3=39

O &1 M 719 = 15
He =15x3=45

H &1 ¥ 94 = 8
He =8 x3=24

AT TG AF = |
=>®He=1x3=3

N BT XM A7 = 14
S>®HE=14x3=42
T4 YBR, KABIR H,
K=11=11x3=33
A=1=1x%x3=3
B=2=2x3=6
[=9=9x3=27
R=18=18x3=54
KABIR =33 -3 - 6—27—-254
S UBR,
RAGHU ¥,

R & ¥ A = 18
He = 18 x 3 =154
AT IFE A = |
He=1x3=3

G & M 7149 =7

e =7x3=21
H &1 M 919 = 8

B =8x3=24

U &1 IMIT 919 = 21

e =21x3=63

T YBR RAGHU B 54-3-21-24-63
& WY H fHedg fbar SR |

19. (D) o9 o},

R A HU L

Ll Ll

18 +1+8+21+12=60
60 x 3 =180

iR

P O O J A
N N
16+15+15+10+1=57
57x3=171

A TER,

R A J 1 V
N AN
18+1+10+9+22=60
60 x 3 =180

3. AIGEIl YRIEl

20. (D) A TS FHe 9T H ol A 3 el T

T T 6N H W 3 R TR

3 BACTERIA #,
B=2=2+3=E(Q)
A=1=1-3=X(24)
C=3=3+3=F(6)
T=20=20+3=W(23)
E=S=5-3=B(Q)
R=18= 18 +3=U(_1)
[=9=9-3=F(©6)
A=1=1-3=X(24)

31d: BACTERIA @ EXFWBUFX &

w0 ¥ Fedg fHm mE—

WOUNDS #

W BT I A4 = 23

HE=23+3=26=2

O & I 919 = 15

HC=15-3=12=L

U & M 99 =21

He=21-3=18=R

N BT MR A9 = 14

FE=14+3=17=Q

D &1 ¥IM™ 949 =4

HE=4+3=7=G

S & TIM™ 919 = 19
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FE=19+3=22=V
31T WOUNDS &1 ge = ZLRQGV
BT |

21. (B) &1 7S H=AT I A,
14+ 1) x(14+1)x2
= 15 x 15 x 2 =450
X 9P,
(18 + 1) x (18 + 1) x 2 =722

22. (B) 1 TS = o # 97 Yt a1 urerd
TP T B

21x5+% =105+7=112

36><5+% =180+12=192

51x5+% =255+17=272
s (B) w8 STR & |
23. (C) & 78 \w 2ol § ugell | # 11
SR RN T YT Biell & |
147 + 11 = 158

TN UBR T T H 11 SireaR
e =T Y B
222+ 11 =233

I fdde (C) 98 STX B |
24. (C) [14 x (14+ 1) x 2] + 1 =421

T UPR,
[11 x (11 + 1) x 2]+ 1 =265

A fdde (C) U &l |8l SR &

4. 31| P1 dlfbd A

25.(B) AT faoed o srefqul o0 # e
TR fFfeRad o wr<t gar & |
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fawe (B) 98 SR B

S. Xad T+
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.
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el
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CADIH T 409, SR A B
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32. (A)
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<
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S BTHR TS o |
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W g AR A B 3P 96 AR Sfde
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5. e /<fIe

6. TS

THal AR I & 99 2 faendt ¥
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6. TS
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T E
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37. (C) @ TE | S § EReAsh & Aey
B N B I foram T ¥ S

Frefaiead v &,
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+3|8 +|5|3 +7|(|) +9|(|) 1 1|4
ool T

2 13 14

IT: 2 B A TR 426 TR |
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42.(D) X E wE Al § S GE& ¥ 4
BT O RSB ITH 2 P SISHR STl
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7 8 9
8 11 14
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N A A
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TPR A B |
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(17 +23) x 3 =120
I 2 B TAM TR 23 AT |
55. (D) & 7S A3 H Y 39 UHR T
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9% (8+1)=38l1
T TBR, 5% (9+ 1) =50
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4 PR,
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= TR,
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TH ORI YT B |
66. (C) S Il ¥ 37 '10' SHAMS ¥ | 3F:
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10 | 25 30
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37 '15' a1l PBeld & fAuNId 37 30!
BT |
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N
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P SIS
I IFER
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%

Ia: fadwe (B) w8 B
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=6(n—2)?
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72. (B)

Il
L
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B
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D=+
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EEGERCES
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=35+ 18-30

53-30=23
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1. Y= YRd 61 Sfie

1.1 sfier WM & 9

1. 3% & o7y Rretrerd 9Rd & A= |
H 91 MY E | FACE B e 7 9

PI-H I TR SRNF & o7 Rrererg Tar
forer ¥7

(A) TERIR (B) Tfaws

(C) 7= (D) U

Ashokan Minor Rock Edicts are found
in different parts of India. Which of the
following is NOT a find spot of Ashokan
Minor Rock Edicts in Karnataka

(A) Brahmagiri (B) Gavimath
(C) Maski (D) Rupnath
[SSC CGL (Tier-1) 2022]

1.2 afes ¥

. Fag H HY e R 34 & w9 A
il ST dred! |1 Al & dra Fare @ vy
A TP WO ¢ | A DH-A Al B?
(A) I @R foeme

(B) 3reTdhaT 3R HHIREN

(C) = SR HaeSt

(D) T 3R T

In the Rigvedas there is a hymn in
the form of a dialogue between Sage
Vishvamitra and two rivers that were

worshipped as goddesses. Which are
these rivers?

(A) Ravi and Chenab

(B) Alakananda and Bhagirathi

(C) Beas and Sutlej

(D) Ganga and Yamuna

[SSC CGL (Tier-1) 2022]

. TR R ¥ 7 921 & 9 ¥ fereferiad

9 DIF-1 B T &°

(A) I T & A9 TF YRIg o &
ST O X1 T 97|

(B) GHH A & AT 99 ARh ® 9T
A SR & e T/ IR T Bl A
RSEINR IR

A SR dhdl

(C) ot SR e W e A e
BT DI SUET BT I A |

(D) WReall ¥ T B a8 o f
A BT TRBIR T |

Whichofthefollowingstatementsabout

the 'Gotra' practice in ancient India is

true?

(A) Each gotra was named after a famous
king.

(B) People belonging to the same gotra

were regarded as descendants of the
person after whom the gotra was

named.

(C) Men and women were expected to
marry within the same gotra.

(D) Women retained their father's gotra

after marriage.

[SSC CGL (Tier-1) 2022]

. Freafemad 3§ ¥ e o s o

grremEl g1 aiRa el & egar
o116 M s e i G B L e o
eI & oy fieR an?

(A) & (B) &

(C) sreTur (D) ae7

Which of the following varnas was
responsible for protecting people and
administering justice in ancient India as

perruleslaid down by the Dharmasutras
and Dharmashastras ?

(A) Shudra (B) Kshatriya
(C) Brahmana (D) Vaishya
[SSC CGL (Tier-1) 2022]

1.3 91 BTl

. TS W T P B A 6 qIY

322 391 44 A U ARG AR AR
T AT P |

(A) 7T (B) et

©) B® (D) et
Chandragupta Maurya overthrew the
power of the ......... at Magadha

with the aid of Kautilya and founded a
glorious Mauryan empire in 322 BC.

(A) Nandas (B) Mallas
(C) Kurus (D) Panchalas

[SSC CGL (Tier-1) 2022]

2. Bl Td APl

(A) Aifeared
(C) ¥Ra-Te=H (D) Tl

The efforts of Siddhendra Yogi have
brought glory to the dance form called

(A) Mohiniyattam (B) Kuchipudi
(C) Bharatanatyam (D) Kathakali
[SSC CGL (Tier-1) 2022]

. SHC 3 (Ummatt-aat)"............... F o

S 9Tell Toh @Alb 7 & |
(A) B (B)
(ORCEY (D) €eF TR
‘Ummatt - aat/is a folk dance form
performedin...............
(A) Kasauli (B) Coorg
(C) Gangtok (D) Itanagar
[SSC CGL (Tier-1) 2022]

AR SRy, T B ABT
T B
(A) Tt (B) 3T U
(C) feer (D) BRINTTE

‘Ponung’ and 'Tapu' are popular dance
forms from the state of ............... .

(A) Goa
(B) Arunachal Pradesh
(C) Bihar
(D) Chhattisgarh
[SSC CGL (Tier-1) 2022]

N ST/l | 1



9.

10.

11.

12.

13.

2|

............... e g9 B TE Ao
B T |

(A) @mar (B) wrRTeTRy

(C) srgaey (D) g

is a popular folk dance of

Minicoy Island.
(A) Lava (B) Leshalaptu
(C) Aaluyattu (D) Moyashai

[SSC CGL (Tier-1) 2022]
SR e frfeRad & 4 {5 oof
F T P RdEd A°?

(A) S (B) Bgt
(C) Mg (D) "R

KelucharanMohapatrawasanexponent
of which of the following categories of
dance?

(A) Odissi
(C) Manipuri

(B) Kuchipudi
(D) Bharatanatyam
[SSC CGL (Tier-1) 2022]

............... faror AreER § yafed Uh

el T3 B |
(A) FHfRIHA (B) SFTGT
(C) Raraen (D) "R

............... is a mask dance popular in
South Malabar.

(A) Kummattikali (B) Zemmado
(C) Parichakali (D) Dhangar

[SSC CGL (Tier-1) 2022]
FrferRed # 9 for 71 3 i o R
O oret gY A are I B e v
87
(A) TN T
(B) = 7
(C) &R ST &
(D) Il I

[SSC CGL (Tier-1) 2022]

2.2 YR S

ARTAT oo ® AP T BT Th o4
Tl

(A) AT 3T (B) HERTSE
(C) o ORERIE

Lalita is a form of folk music from
(A) Madhya Pradesh
(B) Maharashtra
(C) Gujarat
(D) Rajasthan
[SSC CGL (Tier-1) 2022]

ASRATEAL CAMCART

14.

15.

16.

17.

18.

fFrfaRaa 4 9 o9-0 o a et
el # yafera g7

(A) e (B) @l

(C) X urel (D) qt

Which of the following is a folk song

genre popular in parts of West Bengal,
Assam and Bangladesh?

(A) Bhawaiya (B) Chalo
(C) Rekham Pada (D) Roppi
[SSC CGL (Tier-1) 2022]

TP BRI g A, Y

SEICCEY

(A) oI (B) fasgge

(C) UERT (D) SITHRET

AdistinctADhrupad styleAis associated

withthe ............ gharana

(A) Ajrada (B) Bishnupur

(C) Nathdwara (D) Jafferkhani

[SSC CGL (Tier-1) 2022]

2.3 MR AR Bl

TS TAGS IR B BF Th SAC ...........

P AER F B

(A) T (B) T & A

©)RBHA (D) XTI

The rooftop of Guru Hemkund Sahib is
in the shape of an upturned ...............
(A) lotus (B) rose

(C) marigold (D) sunflower

[SSC CGL (Tier-1) 2022]

2.4 YRA Al 3R |ER

Preg Ser 3R WAl ¥ areAr, e
AT ERT TSI FRal g8 N4 Aremn
PAled & Tr=forad # 3 f5a AR &
for fafre g 9t 8°
(A) HETeT (B) wighed
(C) EMIPITE (D) HRET
Splashingthemudandracingacrossthe
fields, the roaring buffalos raced by a
man are typical sights for which of the
following festivals of Karnataka?
(A) Kambala
(B) Pattadakal
(C) Mahamastakabhisheka
(D) Karaga

[SSC CGL (Tier-1) 2022]
H-39-H-H1(Me-Dum-Me-Phi) gdii &1
TSN BT TP ST & T ooveeee I H
HARIT A B |

19.

20.

21.

22.

(A) 31 (B) #&4 Yo

(C) At yeor (D) et
Me-Dum-Me-Phiisanancestor-worship
festival celebratedinthestateof ............
(A) Assam

(B) Madhya Pradesh

(C) Himachal Pradesh

(D) Goa
[SSC CGL (Tier-1) 2022]
Rfre & ... TBR BT A Yol AT
TS GOl B A | A S I g
(A) STea1 (B) SRR
(C) AR (D) ¥F ST
The ... festival of Sikkim is also
known as Bhoomi Puja or Chandi Puja.
(A) Sakewa (B) Barahimizong
(C) Losar (D) Indra Jatra
[SSC CGL (Tier-1) 2022]
LRI 2 I P TH T B
(A) S (B) Surgdi
(C) Rt (D) Agl
SangkenAisafestival of the ................
(A) Jains (B) Christians
(C) Sikhs (D) Buddhists
[SSC CGL (Tier-1) 2022]
Al 5 (Fatorpa Zatra) ¥R & foea
T | AR T S ?
(A) Tirar (B) &g Y=
(C) @t yewr (D) axA
In which Indian state is the 'Fatorpa
Zatra' celebrated ?
(A) Goa
(B) Madhya Pradesh
(C) Himachal Pradesh
(D) Kerala
[SSC CGL (Tier-1) 2022]
................ AR B TSI TS B 3 Uil
Y AT BN aTel <HH-fea™ir e
Bl
(A) Hfesam (B) R wrgm
(C) 3reft RfermT (D) Sy

................ isanannual three-day festival
held at Bara Shaheed Dargah in Nellore-
(A) Bheldiya
(B) Rottela Panduga
(C) Ali AiLigang
(D) Baishagu

[SSC CGL (Tier-1) 2022]

)
)



23.

2.5 fafay

PP £ W8 B SR ..o
& IR IRAR & JRedm ol e s
BT SIGTArr Afd Fa
(A) TS HEIEd  (B) ST ol
(C) Feaa® S8 (D) IARa! Iqd
Tribes of the Nicobar Islands pay their
respectstothedepartedsoulofthehead
of the family during the ................
(A) Ganjan Festival
(B) Jagaddhatri Puja
(C) Kalpataru Utsav
(D) Ossuary Feast

[SSC CGL (Tier-1) 2022]

24,

28S.

26.

3.1 SIdi 1 BT

FrfeRad # & DF-¥ TFReTa neidred
R YR &1 9 57

(A) TIFRRY (B) s1efg

(C) fguiféaes (D) 3

Which of the following symmetries is
exhibited by arthropods?

(B) Axial

(D) Radial

[SSC CGL (Tier-1) 2022]

(A) Translational
(C) Bilateral

UE BHARA (Canis lupus familiaris)
5l

(A) HE (B) T

(C) foeen (D) g

The scientific name for the domestic

................ is Canis lupus familiaris
(A) buffalo
(C) cat

(B) cow
(D) dog
[SSC CGL (Tier-1) 2022]
f=ffag & 9 o9 foren w1 @
| 8 87
(A) grelT (B) TSSIa™
(C) TERfSTer| (D) =R
Which of the following does NOT belong
to 'Kingdom Fungi'?
(A) Euglena (B) Rhizopus
(C) Aspergillus (D) Mucor
[SSC CGL (Tier-1) 2022]

27.

28.

29.

30.

31.

3.2 91y B!

T TR FIE S3-3NTASS H B F BH
Rerdrawor darell gRT gobT=T

IO B HIEIH | fhar ST ¥

(A) sren (B) vs-foerg

(C) =9al &= (D) Top-dreng

At least of the carbon

dioxide fixation on earth is carried out
by algae through photosynthesis.

(A) ahalf (B) one-third
(C) one-tenth (D) a quarter

[SSC CGL (Tier-1) 2022]
Yl B TS qETERl FEfeRad §
¥ for W ameiRa &7
(A) I
(B) fa= g |+ faesaredt

(C) ToREA e

(D) INIE Teh

The numerical taxonomy of plants is
based on which of the following?

(A) Structure

(B) All observable characteristics

(C) Chromosome number

(D) Chemical constituents

[SSC CGL (Tier-1) 2022]
%’@W (hydrophytes) ¥ ¢ W

oo fedEE PR
(Pneumato-phores) HEA & |

(A) 1 (B) g

(C) st (D) &

Pneumatophores are specialised in
hydrophytes
(A) roots
(C) seeds

(B) flowers
(D) fruits

[SSC CGL (Tier-1) 2022]
dAfTaT AR (Camellia sinensis)

................ a7 B qreAT T Wren B
(A) T (B) DI
(C) =1 (D) ve

Camelliasinensisisaplantthatproduces

(A) tea
(C) sugarcane

(B) coffee

(D) jute
[SSC CGL (Tier-1) 2022]
................ P EIY U I gheg I faearad,
Ry w9 &1 wgfy 9o (growth rings) &
fareersor g1 fUreet STeraryg @ik STerargdr
TeATel & RerE M & ¥l

32.

33.

34.

(A) WRrere Serary e
(B) Y-STerdryg fasi
(C) g ey fasm
(D) & Seraryg fasm
................ isconcernedwithconstructing
records of past climates and climatic
events by analysis of tree growth
characteristics, especially growth rings.
(A) Historical-climatology
(B) Geo climatology
(C) Dendroclimatology
(D) Bioclimatology
[SSC CGL (Tier-1) 2022]

ey IRR T B |9y 5 o #
| DA X B v faRer B2
(A) THH Sad F-AI aferdl Bl &
(B) 3o faRe BR aref S B &
(C) g™ & forg e ¥ 3R 93

HEAIT ¥ Y& BT B
(D) S fAf= ergepa pIRTeBIY BNl &
Which of the following is a characteristic
of fibres in relation to plant anatomy?

(A) Possess only pitted thickenings
(B) Possess oblique end walls

(C) Responsibleforconductionandalso
mechanical support

(D) Possess various shorted cells
[SSC CGL (Tier-1) 2022]

FfeRad o | DF-1 9Iey 0T H Th
YHR &7

(A) et (B) DroRISRRN
(C) =T (D) drgfere

Which of the following is a type of plant
disease?
(A) Mastitis
(C) Blight

(B) Coccidiosis
(D) Botulism
[SSC CGL (Tier-1) 2022]

BT RTAGSH, IRICHITS, BATTad iR
farerfim fFraferRad & < forsr @mer Tared &
T S ATl T AR &7
(A) el (B) TR
(C) weg (D) fordl
Capsaicinoids, carotenoids, phenolics,
and vitamins are dominant chemicalsin
which of the following foods?
(A) Radish (B) Carrot
(C) Garlic (D) Chilli

[SSC CGL (Tier-1) 2022]

NATHT SIT™ehdl | 3



4]

3.3 9Fd YRR & 93

35. U MY 9P AN IRIR H AT,

................ T g ¥
(A) 25 99 (B) 15 o™
(©) 10 9™ (D) 20 I8

A typical adult human body contains
................ about of magnesium.
(A) 25g (B) 15g
(C) 10g (D) 20g
[SSC CGL (Tier-1) 2022]

3.4 &9 Sid U9 S99 B arell
Srerea

36. 7 YS1Y BRI IAMUSHT & TR & 6IH
H fr=feRed 9 & S U6 SU™ # Ta
3T &7

(A) B (B) srgferdt

(C) et ugred (D) wiferaat

In the context of the spread of germs by

faecal matter, which of the following
does NOT figure in the F-Diagram?

(A) Fungi (B) Fingers
(C) Fluids (D) Flies
[SSC CGL (Tier-1) 2022]

3.5 9949 TR | 9NRd 31
MW

370 s TS IR & forres o
ARKTSH 6T PIRTHISH A AR fag[a
Fde 2 & Ry 3R I B

(A) reefeq

(B) WHerES SieivrEies

(C) hror=ir

(D) ErgUreAgRET

is a disorder resulting in

abnormal electrical discharges from the
brain cells causing seizures.

(A) Prostatitis
(B) Rheumatoid arthritis
(C) Epilepsy
(D) Hypoglycaemia
[SSC CGL (Tier-1) 2022]

4.1 <12} 3R SHSD! ravATT

38. fr=ifeRad & & M- arfoeeei Sl

(amorphous solids) @ faRryar &7
(A) Germd & Te fAREa sk faftee
T

ASRATEAL CAMCART

(B) to f¥Ta faem sanfida e
(C) Tt SR fafdre qrosm oR faerern
(D) YA Bl I T IR-GR GHRT

Which of the followingis a characteristic
of amorphous solids?

(A) A definite and
enthalpy of fusion

characteristic

(B) A definite characteristic geometrical
shape
(C) Melting at a sharp and characteristic
temperature
(D) Gradual softening over arange of
temperatures
[SSC CGL (Tier-1) 2022]

4.2 B Heaqol 7 vd A

39.

40.

41.

|IfeTH WIFAES & TH 0] § fpa
AIFSTH TRATY BT B2

(A) IR (B)

(C) & (D) T

Howmanysodiumatomsarethereinone
molecule of sodium peroxide ?

(A) Four (B Two
(C) Three (D) One

[SSC CGL (Tier-1) 2022]

4.3 Prafe AfH

frfeRad § P91 AFRERES B
T IITER0T 57
a Baert b. ISl ¢. W d. eI
(A) a 3R d<HT
(B) @9 b
(C) ®ad ¢
(D) b 3R cqHT

Which of the following is an example of
monosaccharides?

a. Fructose b. Sucrose c. Starch
d. Glucose

(A) Bothaandd

(B) Onlyb

(C) Onlyc

(D) Bothbandc

[SSC CGL (Tier-1) 2022]

4.4 719 S aeqq
vfafed 9 FE% g7
................. IR 9 B & ST A 91el,

Ao, 9N, A1 & et A1 YuR el
T B 15 fAFe a1 SO BH 99 § 9%
B @ foru T wifthermet B 1

42.

43.

44.

(A) “TEfew, FEfG
(B) Wi, wTgfed
(C) Afer®, wifdes

(D) IR, BZSFANRD

Acidicdrain cleanersmade ................ or

................ acid are powerful enough to
clear heavy-duty hair,food, grease, soap
scumorpaper-basedclogsin15minutes
or less.
(A) nitric, carbonic
(B) formic, citric
(C) malic, lactic
(D) sulphuric, hydrochloric

[SSC CGL (Tier-1) 2022]

4.5 fafag

W TR B FHUH (flocculation) fafer
UM H X e o
(A) A w9 & IR

(B) f=1 Foma

(C) gmafma

(D) ST FHUTART

In the flocculation method of water

treatment chemicalisadded
to water

(A) electro-neutral
(B) low negatively charged
(C) positively charged
(D) high negatively charged
[SSC CGL (Tier-1) 2022]

Plegsd RICH—oN |, e, 9IH,
A, IR AR Rreifes w9 g 7
W 9N E, A1 U A TS 9 A By
SN PR € 3R G O & | T Taredf

(C) TarTReE (D) HaReae™

Colloidal systems—such as gum starch,
proteins, cellulose, agar and gelatine-
when placed in water, willabsorb alarge
volume of water and swell up. These

substances are called ................

(A) porins (B) imbibants

(C) apoplasts (D) combustibles
[SSC CGL (Tier-1) 2022]

5. MR 3rdegamen
5.1 IS 3

Sare fify & S/gaR, Sierdl &7 o
T YHR B S B



45.

46.

47.

(A) Rer Brdi T SireidT + afeasy

(B) RReR Sl IR el TR SAE—DR

(C) ReR Pl IR bl TR SR +
HR-fFS

(D) ReR Pl TR Fehel TR IATE —
TR + Al

According to the Output Method, GDP is

calculated as:

(A) GDP at Constant Prices + Subsidies

(B) GDP at Constant Prices — Taxes

(C) GDP at Constant Prices + Taxes —
Subsidies

(D) GDP at Constant Prices — Taxes —
Subsidies

[SSC CGL (Tier-1) 2022]

5.2 BN @rel ga=ee

MSP (|77 |9 &) Yol P qeet!
IR 1966—67H, ..ooooooo...... 9 forg et o
TR o SR I H 3 ALY T Al
P1 WA HRA B oy s fRaR
™I

(A) SR (B) SR

(C) X (D) g,

The system of MSP (Minimum Support

Price) was first introduced for ..............
in1966-67and laterexpandedtoinclude
other essential food crops.

(A) bajra (B) jowar
(C) ragi (D) wheat

[SSC CGL (Tier-1) 2022]

5.3 WRd | §fb q2n
CIEIR GRS

TP &9 TR0 6 ¥, HRT IRBR B
BT o, BT B |
(A) 20% (B) 50%
(C) 60% (D) 40%

At a Regional Rural Bank, the share of
the Government of India'is ............... .

(A) 20% (B) 50%
(C) 60% (D) 40%

[SSC CGL (Tier-1) 2022]
L5 12 L qut & erafyy & forg B
%
(A) IR (B) 9
(C) ufa DO)=

48.

49.

50.

The Central Board of Directors of the
Reserve Bank of India are appointed for

atermof ... years.
(A) four (B) three
(@ five (D) two

[SSC CGL (Tier-1) 2022]

5.4 MIRd | e fa

DA IoIe B IR H AU TG B 7 | DA

1/ AT B/E?

(a) TSN $ae AN goic b I
a7 & e ¥ |

(b) SrEHEM SR FARH oic TH FHH
& B B

(0) TH STARH TTC TH U ol B FHA
we qof foirr faaRor e B 1

(A) (a), (b) 3R ()

(B) (a) 3R (b)

(C) Fa (0)

(D) #9 (a)

Which ofthe given statementsaboutthe

Union Budget is/are true?

(a) Vote on Account deals only with the
expenditure side of the government
budget.

(b) Vote on Account and Interim Budget
are not the same.

(c) An Interim Budget gives a complete
financial statement, similar to a full
budget.

(A) (a) and (c)

(D) Only (a)

(B) (a) and (b)
(C) Only (c)
[SSC CGL (Tier-1) 2022]

5.5 fafag

FfeRed % 9 feaw 999 Ul 9% 9@
e 1% 5=g vre & Rafa 3 @n a1t
AT PRA 87

(A) AW (B) TRR gl

©) s RaEt (D) vew oy

Who among the following first argued

that in the face of high deficits, people
save more?

(A) Amartya Sen (B) Esther Duflo
(C) David Ricardo (D) Adam Smith
[SSC CGL (Tier-1) 2022]
................ ST el # 9§ v § oA
T H gEfe WRA 431 Ael & 9o
JeaaT gfsd B 5 |
(A) STRET
(C) et

(B) 4t
(D) Ryaett

................ is one of the languages in
which the denomination is printed on
the reverse of acontemporary Indian
currency note
(A) Dzongkha
(C) Nepali

(B) Burmese
(D) Sinhala

[SSC CGL (Tier-1) 2022]

6. TR 3R TRRAfTD
6.1 gTRRAfTHT 3R grRfRerfera

GE|

51. =T AFMeTe & & qIRG= H X arel

SagRAT B GO @ a8 3fferhad
SRR T e &, Oy 99 iR

D AT G907 G B b &7
(A) BB (B) &9 &l
(C) 9 =X (D) STTOT

What do you call the maximum,
sustainable size of aresident population
in a given ecosystem?

(A) Census

(B) Cruderate

(C) Carrying capacity

(D) Caserate

[SSC CGL (Tier-1) 2022]

)
)

6.2 IR qAfaRoT TS,

BIA AR T

52, f=forRad § Q@ P99 Tad faer s

(SDG) FT I£TI ¥qelg UIRReIfd: a4
B AT STANT BT FRIEI, GARATT FHRAT
R gerar 1, STl BT R geE
hXHT, "I‘O‘H/IC'?IQNUI Eal HPIdAT PRI,
3R 9-&R0T BT A1 AR Vg fafderar &
B BT BT B?

(D) TSI (SDG)15

Which of the following Sustainable
Development Goals (SDG) seeks
to/Protect, restore and promote
sustainableuseofterrestrialecosystems,
sustainably manage forests, combat
desertification,andhaltandreverseland
degradation and halt biodiversity loss ?
(A) SDG17 (B) SDG7

(C) SDG 12 (D) SDG 15

[SSC CGL (Tier-1) 2022]

NATHT SIT™hdl | S



53.

54.

5S.

56.

6 |

7.1 9Rd &1 Hifae faure=

FrfeRed § 9 f5e AR 5T | s
o P&l I &7

(A) 9RTH I (B) BRINTG

(C) 9IRES (D) siifE=m

In which of the following Indian states
will you find the Netarhat Mountains,
also called ‘Queen of Chotanagpur’?
(A) West Bengal (B) Chhattisgarh
(C) Jharkhand (D) Odisha

[SSC CGL (Tier-1) 2022]

7.2 MR 1 IJATE I

B ] AL ARA D JaoTES &3 Bl T
A § W v ¥ &R 1 ISl A e
AR B FE 8 |

(A) JorRTa
(C) o™ (D) STR =T

River Ken is one of the major rivers of
the Bundelkhand region of central India
and flows through two states Madhya

Pradeshand ............... .
(A) Gujarat

(B) Maharashtra

(C) Rajasthan

(D) Uttar Pradesh

[SSC CGL (Tier-1) 2022]

7.3 YRd ¥ 979 o4 3R
T e

frfeRad & 9 oF- 98 ufdaH s
MR RifFpd SH1 I I BrpY T8 87
(A) e (B) 9
(C) gTelt (D) e

Which of the following rivers flow
throughboththestates,WestBengaland
Sikkim?

(A) Teesta
(C) Hooghly

(B) Sone
(D) Koshi

[SSC CGL (Tier-1) 2022]

7.4 IR DI &I

TGP B ISR B a1 AR el W 7
quT aret &l A fohvedi 3 T=Ml T

(A) BTt gy
(C) T &

ASRATEAL CAMCART

57.

58.

59.

develops on crystalline
igneous rocks in areas of low rainfall
in the eastern and southern part of the
Deccan Plateau.

(A) Black soil
(B) Alluvial soil
(C) Arid soil
(D) Red soil
[SSC CGL (Tier-1) 2022]
31 I gar A F=feiad 7 dE-A
gt prop B gfg B fore e ST ¥?
(A) el rexTge g
(B) Brell HuTe e
(C) vt fagr
(D) T=» gt
Which of the following is more suitable
thanthe othersforthe growth of cashew
nut?
(A) Red laterite soil
(B) Black cotton soil
(C) Alluvial soil
(D) Arid soil
[SSC CGL (Tier-1) 2022]

7.5 9RA | P AR g
Rifafrif vd f

AR 7 & BF-1/3 U TE &/?

. PACH HRT | BB B a9 I
TS T

II. SRYHT BT Bl TP e B |

IIl. YT H AT & A8 T RMTDT
Tore @1 Sare WIRd ¥ b S B |

(A) Baa Il SRl

B) I, Il =1l

(C) aa Il

(D) &9 | 3R I

Which ofthefollowing statementsis/are
correct?

I. Karnataka is the largest producer of
coffee in India.

II. Arabica is a variety of coftee.

III. The Arabica variety initially brought
from Mexico is produced in India.

(A) Only I, IIT
(B) I, Il and IIT
(C) Only 111
(D) Only I and I

[SSC CGL (Tier-1) 2022]
WRA W Hal G P 589 YoTenl (slash and
burn) B BT FHaT Hal AT &2

60.

61.

(A) e S

(B) ufe=s Tre

(C) anfem oy

(D) IREE I

Where in India is the 'slash and burn'
agriculture known as Kuruwa

(A) Himalayan Belt

(B) Western Ghats

(C) State of Odisha

(D) State of Jharkhand

[SSC CGL (Tier-1) 2022]

7.6 MIRT STHAIRD

TROT BT 394 e gRT GRS foban

ST 87

(A) IR 9191 2R 3R 95F 9g &%

(B) ST TAT T TN o AR g
<X

(C) 7 o s 9 91 R g
<«

(D) AR 7Y &% &Ik S2a 99 )

As per the theory of demographic

transition, the post-transitional stage of

demographictransitionis characterised
o)

(A) falling birth rates and high death
rates

(B) low and nearly equal birth and death
rates

(C) high and nearly equal birth and
death rates

(D) falling death rates and high birth
rates

[SSC CGL (Tier-1) 2022]

8. APl HIN Bl

sferd

8.1 feoell Wed=d &1 94

fr=fafaa § 9 feg Io@e & e
PTeT H TR AT AR 1 1398 . 1 R
3epAvT b err?

(A) Reerh g9 (B) o1 a1

(C) T T (D) =g g9
During the rule of which of the following

dynastiesdid TimurorTamerlaneinvade
India in 1398 AD?



62.

(A) The Khilji dynasty
(B) The Tughlaqg dynasty
(C) The Slave dynasty
(D) The Sayyad dynasty

[SSC CGL (Tier-1) 2022]

ST 5 g Borel-g-sTeaTHl §IRT
e’ amg-v-arpay' d afvfa &, T
(TS AT BT SHIE) BT oo T
A 9 e fomar o

(A) 3Tt (B) gt

(C) ot (D) ferem

As described in 'Ain-i-Akbari' by Abul
Fazl-i-Allami, 'gaz' (unit of measuring
length) was divided into equal parts
called ............. .
(A) angul

(C) rjahkan

(B) tassuj
(D) liksha
[SSC CGL (Tier-1) 2022]

63.

64.

65.

9.1 fa¥a vd ¥R & W=
i

TRITET 0T, S ST SRS R Sfiarer

P RIS TS 9, U THE IRA

(A) g

(B) WA FHCER

(C) fbew e

(D) SeirTafe

Prashant Bhushan, who was a founding

member of the India Against Corruption
movement is a prominent Indian

(
(B) sports commentator
(C) film director
(D) industrialist

[SSC CGL (Tier-1) 2022]
ffafed § 4 a9 T IEE aRA™
RINCEECHIGICED
(A) TR (B) STOTHE
(OB LEIEES (D) AT
Whoamongthefollowingwasanancient
Indian mathematician-astronomer?

(A) Varahamihira (B) Banabhatta
(C) Amalananda (D) Nagarjuna

[SSC CGL (Tier-1) 2022]
9.2 YA NI, el T4 314
Q@ Ao
fgor TREE wamell 4 99 1985 #

............... ¥ Ugel RReR I¥eq d 9
(SAARC) TTeR TR HS B1ER fhU |

(A) forgy (B) fereelr

(C) Pretar (D) @1t

South Asian leaders signed the SAARC
Charter at the first summit in year 1985.

(A) Thimphu (B) Delhi
(C) Colombo (D) Dhaka
[SSC CGL (Tier-1) 2022]

9.3 IR Y, ATE
e feas

66. IHAR HRH B JFAR, Freferied 4 &

- fe sty e ¥?

(A) 19 R (B) 18 wrd

(C) 15 SHaT (D) 2 BRa<I
According toRamsar Convention, which
of the following is World Wetlands Day?
(A) 19th December  (B) avich
(C) 15thJanuary (D) 2nd February

[SSC CGL (Tier-1) 2022]

67. FefRed & | 5 S9re a1 TghH I

HERTHT §RT "dlex Bk e8% (Water for
life)y® ¥R & oI SR <91 p &
w9 H = foam T/ on?

(A) 20052015 (B) 1972—1982

(C) 19831993 (D) 1994-2004

Which of the following decades was
proclaimed by the General Assembly of
the United Nations as the International
Decade for action on 'Water for life'?

(A) 2005-2015 (B) 1972-1982
(C) 1983-1993 (D) 1994-2004

[SSC CGL (Tier-1) 2022]

9.4 fava Td WA & PR
Td I9H

68. g 9% 0 REPR =1 7 4 f5q a7

F e i 87

(A) IRGepeT (B) fafdean
(C) fafy (D) &=
In which discipline is the Bidhan
Chandra Roy Award given?
(A) Architecture  (B) Medicine
(C) Law (D) Sports
[SSC CGL (Tier-1) 2022]

9.5 UE D Td I ISP
69. Ffafad # & F At B A

P TED &7
(A) TRE A
(B) Y == 7@

(C) 7T Rig

(D) TFE Iairer R19

Who among the following is the author
of the book 'Social Harmony'?

(A) Narendra Modi

(B) PV Narsimha Rao

(C) Manmohan Singh

(D) HD Deve Gowda

[SSC CGL (Tier-1) 2022]

10. Mg wRa a1 sfo=r

70.

71.

10.1 fafeet & yRa faoa

FrfeRad # & SF-1 U dblewal dren
T—
(A) Tt (B) vfereH
(C) EieTiEic (D) SRR
Which of the following is a camivorous
plant?
(A) Clarkia (B) Alyssum
(C) hollyhoock (D) Drosera
[SSC CGL (Tier-1) 2022]

ffcr SesRm e v a8 ... A
IR § TSR (45N B B B
I TR Peall PR fora |

(A) 1699 (B) 1738

(C) 1674 (D) 1761

The British East India Company

capturedPondicherry(Puducherry)from

the French in theyear ..............
(A) 1699 (B) 1738
(C) 1674 (D) 1761

[SSC CGL (Tier-1) 2022]

10.2 YT P13 (1858-1905)
[Pt ¥ gd o wiRed,

72.

AR TSR BRI 3fa ]

ARAT HIAHRAT AR ST GRT T
el & FEfaRad § @ dE-ar g
gAferd 8?2

(A) T dRI THTER! I QeSS q49Tl
(B) AiERd Mdg YIS FAERT FEToT a7
(C) 9=EM  Tugel 9} ORISR

TRIRE

(D) G S S S THIRiTer
Which of the following pairs of Indian

revolutionaries and organisations is
CORRECTLY paired?

NATHT SIT™hdl | 7



(A) M Veera Raghavachari-Poona
Sarvajanik Sabha

(B) Mahadev Govind Ranade Madras
Mahajana Sabha

(C) Badruddin Tyabji—Bombay
Presidency Association

(D) Surendranath Banerjee—East India
Association

[SSC CGL (Tier-1) 2022]

10.3 JCATST 3MiETe (1905-

1917) [€7et faure, wa<eh,

73

74.

fgpr anfe]

. FreferRad # & fo spifrerl T Sfeflgy

I SIF AHA A IS 7 UH IR B
w0 ¥ RWR fomar en?
(A) BelE e &<
(B) 3 Rig
(C) Rroig Ry
(D) 3RTHIH S8 T
Which of the following revolutionaries
was arrested by the British asan accused
in the Alipore Bomb Conspiracy Case ?
(A) Kanailal Dutta
(B) Roshan Singh
(C) Rajendra Lahiri
(D) Ashfaqg Ullah Khan

[SSC CGL (Tier-1) 2022]
Ffoed 9 1 fordt & = I & fasree
& HaH B GHL T a?
(A) difer SR gfRem e
(B) ®BRIS Ald
(C) wRART FRyfe TTet
(D) &R Ut
Whichofthefollowingpartiessupported
the move for partition of Bengal?

(A) All India Muslim League
(B) Forward Bloc

(C) Communist Party of India
(D) Gadar Party

[SSC CGL (Tier-1) 2022]

10.4 G U™ 61 3ifaH

TRUT (1940-1947) [3FR< =<4,

Bfde 9 @H, 96eded

75.

o 3nfe ]

21 SFCER, 1943 PI, JAY T% 9 7

76.

71.

(A) RmgR (B) S
C) =9 (D) SImar=
On 21 October, 1943, Subhash Chandra

Bose proclaimed the formation of the
Provisional Government of Free India in

(A) Singapore
(C) Russia

(B) Germany
(D) Japan

[SSC CGL (Tier-1) 2022]
JETAT & IRM Brll B ol B &R
TG BN dTel YAl Hifadr 9 7 9
P I?
(A) PeaTeTe AfvTBerTer g
(B) T PlAR
(C) WSt 4R
(D) JeTufy §Tad
Who among the following was the only
martyr of the Quit India phase of the
freedom movement who was hanged?
(A) Kanaiyalal Maneklal Munshi
(B) Kushal Konwar
(C) Potti Sreeramulu
(D) Senapati Bapat

[SSC CGL (Tier-1) 2022]

10.5 fafasg

ARAT Wl el & WaHW A

frfofed & & fo af o 59 9 #

Hfed Tl & |qie w8 gHferd fear

87

(A) 1945-31RgeT IRAT BN HHS o
I H Yo% Bl SR R BISI TG
& gt &

(B) 1915-F=reAT wMeh <faror orrasr
e

(C) 1936-Y2T TSl AFe

(D) 1944-fgirr fava gg A afcwr gg &
TR A WRAT e U &R B
forg fafewr wRaR gR1 fored e a1

ART HAT TR o7 |

In the context of Indian Freedom

Movement, which of the following years

is correctly paired with the event that

took place that year?

(A) 1945—The All India Congress
Committee met in Bombay and
ratified the ‘Quit India’ Resolution

(B) 1915—Mahatma Gandhi returned
from South Africa

78.

79.

80.

(C) 1936—The First Round Table

Conference
(D) 1944—The Cripps Mission was sent
by the British government to India
to obtain Indian cooperation forthe
British war efforts in the 2nd World
War
[SSC CGL (Tier-1) 2022]
LRI IR U SR SR KR e
s meamar Rrgral & afa fsar & forg
M YT (S Al TEN) Pal S or?
(A) AR BoRT
(B) <irern 319
(C) HHET ANeRY
(D) &R JATgET
Who among the following Indian
freedom fighters was fondly called

Gandhi Buri (Old Lady Gandhi) for her
dedicationtowardsGandhianprinciples?

(A) DakshayaniVelayudhan
(B) LeelaRoy

(C) Matangini Hazra

(D) Kamla Chaudhary

[SSC CGL (Tier-1) 2022]

11. Wifae fasm=

11.1 9194 U9 Ry

FraferRad 7 & S9-31 it IRy, @oT®
/e @ fore ¥7?

(A) & DIOT (B) 97

(C) I3 I a (D) & 9T

Which of the following is the physical
quantity for the expression arc/radius?

(A) Plane angle

(B) Velocity

(C) Surface tension
(D) Linear momentum

[SSC CGL (Tier-1) 2022]

11.2 ¥ U4 i
YA P AR 3 | D1 W g
B IRATOTHS TR T &7
(A) HTEf3 ToaTHuT BT |
(B) TIRY &1 gEen |
(C) 7 &1 T Frm
(D) It <1 SRR fo|

Which law of Newton provides a
quantitative definition of force?

(A) Universal law of gravitation
(B) First law of motion



81.

82.

83.

84.

(C) Third law of motion
(D) Second law of motion
[SSC CGL (Tier-1) 2022]
................. 9 & W P G6[dH 107160
B B
(A) To
(B) et T
(C) va AT
(D) faga graebra

The range of

order of 15'0M

(A) gravitational

(B) weak nuclear
(C) strong nuclear
(D) electromagnetic

[SSC CGL (Tier-1) 2022]

force is of the

11.3 &1 Tg 919

................... P AGIE D W A
IRIIYT fmam S & oy ) |gia I
TE B RIT g B G B A (Reiw
T AR ReR Tl a7 & 7151 WX) |

(A) G- (B) Sr 1

(C) frTa arg (D) ATfares Sfrefe
................... isdefinedasthetemperature
to which the air would have to cool
(at constant pressure and constant

water vapour content) in order to reach
saturation.

(A) Air temperature

(B) Surface temperature
(C) Dew point temperature
(D) Relative humidity

[SSC CGL (Tier-1) 2022]

11.4 @afv

q PANK T S qF B AR g1 R
FHEATN & ?

(A) T BTA (B) TReed

(C) TRTH Hag (D) I ST
Which of the following is the horizontal
distancebetweentwosuccessivecrests?

(A) Wave period
(B) Wave length

(C) Wave height
(D) Wave frequency

[SSC CGL (Tier-1) 2022]

11.5 g wifcrah

FrfeRad § | ©F-91 9 YHRI SToih
RIS XA & A0 & fore Sugeh el
7?7

85.

86.

87.

(A) Sfem e rEeRe

(B) SHfaH

(C) Wferam wiewTs

(D) Iferm RATES

Which of the following elements is NOT

suitable for the fabrication of a light
emitting diode structure?

(A) Indium gallium nitride
(B) Germanium

(C) Gallium phosphide
(D) Gallium arsenide

[SSC CGL (Tier-1) 2022]

12.1 YR A9

WRA & ARAYH BT I el AL G491
# fopa At gy oi?

(A) 10 (B) 12

©) 15 (D) 14

How many female members were part

ofthe Constituent Assemblythatframed
the Constitution of India ?

(A) 10 (B) 12
Q15 (D) 14

[SSC CGL (Tier-1) 2022]
IS PO SR AR D |Aiae
D o, & areget |
INEERERSIGIR]
(B) pri-wg wifafer
(C) @ s AfAfa
(D) #iferss SiftreR Su AfAfy
Alladi Krishnaswami Ayyar was the

chairman of the ... of the

constitutent Assembly of India.

(A) Order of Business Committee

(B) Credential Committee

(C) Union Powers Committee

(D) Fundamental Rights Sub-Committee
[SSC CGL (Tier-1) 2022]

|G 91 BT ST AT P SARAITT

fopar T en?

(A) 6-17 TR, 1949

(B) 4 TEER, 1948-8 SIaNT, 1949

(C) 16 g, 16 [, 1949

(D) 14-31 SeIrs, 1947
When was the Tenth Session of the
Constituent Assembly held?

88.

(A) 6-17 October, 1949
(B) 4November, 1948 -8 January, 1949
(C) 16 May - 16 June, 1949
(D) 14-31 July, 1947

[SSC CGL (Tier-1) 2022]
Frfaad 3 1 DI 1946 ¥ #a fatad
& | AfgH 991 & 95 99 97
(A) T STERTS A
(B) T ATERT
(C) o=y I
(D) 97 TSI A
Who among the following became a
part of the Constituent Assembly from
Madras Constituency in 1946?
(A) Hansa Jivraj Mehta
(B) Kamla Chaudhary
(C) Ammu Swaminathan

(D) Begum Aizaz Rasul
[SSC CGL (Tier-1) 2022]

12.2 faem & yq@ faeyand

89.

YR B AN GH P B8 BHE B
el P I?

ISEASEN
(B) < g1y e

(C) <7 &Y FHer
(D) T4l 3R
Who was the chairman of the House

Committee of the Constituent Assembly
of India?

(A) KM Munsi
(B) B Pattabhi Sitaramayya
(C) JBKripalani
(D) AVThakkar
[SSC CGL (Tier-1) 2022]

12.3 YR AfAEE @ YA

90.

fr=fefag 9 9 ®9-91 5% IRT ®
ARG @ YT W IURNSY (Republic)
6T ¥ UESH T8 A B7

(A) FHATSIATET (B) |9Yq

(C) ABATD (D) TE™

Which of the following words does

NOT precede the word 'Republic’ in the
Preamble of the Constitution of India ?

(A) Socialist (B) Sovereign
(C) Democratic (D) Federal

[SSC CGL (Tier-1) 2022]

NATHT SIT™ehdT | 9



91

92.

12.4 59 U4 S9GI IS &

. FrefeRed & & 5 o § 9RT & A
@ gAIfed 3R SEY 9 AMel & forg
srferfrae aika famam am en?

(A) 1959 (B) 1956
(©) 1962 (D) 1947
In which of the following years was an
Act to provide for the reorganisation

of the states of India and for matters
connected therewith enacted ?

(A) 1959 (B) 1956
(C) 1962 (D) 1947

[SSC CGL (Tier-1) 2022]

12.5 ATTRG1

fFrfeRad 7 9 f5a af § wRa o ggel
TR ARG ST IR fomam T on?
(A) 1955 (B) 1962

(C) 1959 (D) 1947

In which of the following years was the
Citizenship Act passed for the first time
inIndia?
(A) 1955
(C) 1959

(B) 1962
(D) 1947

[SSC CGL (Tier-1) 2022]
12.6 Wi¥E (W< afafaErt,
RERGR:L )

93. e A g fase! & wad #, fFrefefad

10

| BT B TeTd 87

(A) T8 BId TS HA gRT UL far <
|Hdm &, 7 f5 v ol a1 g1 |

(B) TG IISIRIHT B 9 7 By
R @1 WHR a1 RADIR B
qH B |

(C) W Fae1 Armad § e fHar o
AHT & |

(D) S ST §RT ABR IT AT

fema 1 eper B |

With reference to the Money Bills in

the Parliament, which of the following

statements is INCORRECT ?

(A) It can only be introduced by a
ministerandnotbyaprivatemember

(B) The Lok Sabha can either
accept or reject all or any of the
recommendations of the Rajya
Sabha.

| AERATIAL ICAMC AT

94.

9s.

(Q) It can be introduced only in the Lok
Sabha.

(D) It can be rejected oramended by the

Rajya Sabha-
[SSC CGL (Tier-1) 2022]

1 H & DT B SIATIRT URTd B

WeH H oM B7

(A) IR AP # TRT B I, @
ARORYE B 98 W TRIW § o
1Ry |

(B) Ig wiHIRes § AT & faeary &1
T A & forg wanfad fasam e

(C) =9 Bael 91 & [ IRvg & gl
B YA fa T et B |

(D) ArBaHT H SHDT A B T 3qb
BRI B AT MY |

Withreferencetono-confidencemotion,

which of the following statements is

INCORRECT ?

(A) Ifitis passed in the Lok Sabha, the
council of ministers must resign
from office.

(B) It is moved for ascertaining the
confidence of Lok Sabhas in the
council of ministers.

(C) It can be moved against the entire
council of ministers only.

(D) It should state the reasons for its
adoption in the Lok Sabha.

[SSC CGL (Tier-1) 2022]

12.7 A WA 921
RECAIRG

RT ® Gfeem &1 ffafaa § @
PF-T NG 1993 H TRUITH ARBRI
BT FALMTH ®I & AT 3 B forg
Tt foman wrar en?

(A) 73 df dfdum |eeE
(CAA), 1990

[
’

rfers

)

(B) 72 °f <&fdg™ \eem

(CAA), 1989

(C) 71 o <frg™
(CAA), 1988

(D) 74 @ wfag
(CAA), 1992

Which of the following Amendments of

the Constitution of India was enacted

in 1993 to constitutionally recognise
municipal governments?

(A) 73rdConstitutional AmendmentAct
(CAA), 1990

e et

Tenee ST

96.

97.

98.

(B) 72nd Constitutional Amendment
Act (CAA), 1989

(C) 71stConstitutional AmendmentAct
(CAA), 1988

(D) 74thConstitutional AmendmentAct
(CAA), 1992

[SSC CGL (Tier-1) 2022]

12.8 Afdem= deneH

IR wfdeam & faRed § @ faa
weneE A wifd e 5 99 & 9=
DT 368 & e bl A Aiferd STfPR
P FHH HIA AT ECSH B ARG T AR YT
oM, Sges’ 13 & qed i el
B |

INEESERRIES

(B) 99 |EE

(C) g Fee

(D) rgT=Hd |RMeA

Which of the following Amendments of
the Constitution of India declared that
the Parliament has the powerto abridge
or take away any of the Fundamental
RightsunderArticle368andsuchanAct,

will NOT be a law under the meaning of
Article 137

(A) Twenty-third Amendment
(B) Twentieth Amendment
(C) Twenty-fourth Amendment
(D) Twenty-eighth Amendment
[SSC CGL (Tier-1) 2022]
HRAF HAGF B 100 9 NG B A,
frferRea # & for wRd Isgufar 3 &
aqe?
(A) T 11 T 315 B
(B) Jvr it
(C) i+ <aiyE wfea
(D) < I BIfdS
Who among the following presidents

of India gave assent to the 100th
AmendmentoftheConstitutionofindia?

(A) APJ Abdul Kalam
(B) Pranab Mukherjee
(C) Pratibha Devisingh Patil
(D) Ram Nath Kovind

[SSC CGL (Tier-1) 2022]
TR & wfage § fF=fiad 5 & o9
T AN A B YR T HRAY AT
& TG P FAUE WU | IE B
TS ST & 1Y Uk fasar T en?

(A) TaT FENeH
(C) rer |ees

(B) |ArcTat e
(D) BaT Hehe



99.

100.

101.

Which of the following Amendments to
theConstitutionofindiawaspassedwith
the primary objectiveto constitutionally
encode the re-organisation of Indian
States based on language ?
(A) Tenth Amendment
(B) Seventh Amendment
(C) Fourth Amendment
(D) Sixth Amendment

[SSC CGL (Tier-1) 2022]
RT & GgE ¥ fH5g Feied 7 9Ra
& oI PI TH FYY ABAID TR
J'HYY, FHSEE] GHERYE ATBTND
TR H g5 a1 SR e g B
H g faan?
(A) 40T (B) 479
(C) 4473 (D) 4209
Which amendment to the Constitution
of India changed the description of
India from a ‘sovereign democratic
republic'toa’ sovereign, socialist secular
democratic republic’ and also changed
the words 'unity of the nation' to 'unity
and integrity of the nation'?
(A) 40t (B) 47
(C) 44* (D) 42

[SSC CGL (Tier-1) 2022]
IRd & |figH & FefaRed ¥ 9 fod
Jehee sifafe 7 Raradi & gd o
S O 7= iR FRMIfIPRT @1 T av
faar?
(A) 26 9 FEiee rfSfaH, 1971
(B) 27 df wene srfSfaH, 1971
(C) 25 9f wene srfSfaH, 1971
(D) 28 df wehed AfSfam, 1972
WhichofthefollowingAmendmentActs
oftheConstitutionofIndiaabolishedthe
privy purses and privileges of former
rulers of princely states?
(A) 26" Amendment Act, 1971
(B) 27" Amendment Act, 1971
Q) 25" Amendment Act, 1971
(D) 28" Amendment Act, 1972

[SSC CGL (Tier-1) 2022]

12.9 fafay

R |, *IfTh STURTEN & Tl Bl HRET
(POCSO) afrf@™ ... GGl
@ fedl &1 <& I Y oIS Bel, <ifies
SATST © ARTET AR STl e o
AP BT ARE IR B oY TP UMD

B 8|

(A) 2006 (B) 2010

(C) 2012 (D) 2008

In India, the Protection of Children from
Sexual Offences (POCSO) Act .............
isacomprehensivelawto provideforthe
protection of children from the offences
of sexual assault, sexual harassmentand
pornography, while safeguarding the
interests of the child.

(A) 2006 (B) 2010

(€) 2012 (D) 2008
[SSC CGL (Tier-1) 2022]

13.1 31 AR fAf= St~

BRIPH

102. 9Rd ¥ WWReY AR IRIR BT HTeT

R fawaiRa Sl BrRieH, (EPI) &
w0 A fpa ad d SrareRv FReT o
feram T em?

(A) 1978 (B) 1974

(C) 1980 (D) 1982

In which year was the Immunization
Programme introduced in India as
'ExpandedProgrammeoflmmunization’
(EPI) by the Ministry of Health and
Family Welfare?
(A) 1978

(C) 1980

(B) 1974
(D 1982

[SSC CGL (Tier-1) 2022]

14.1 92 (S, qriifa sfoer,

TR, e+ ¥ 3nfc)

103, ., fafexor See gaedrg w4

B U SIS SHoltar AR Boi bl
faremer o€y & S godt @1 TR X B

(A) formR (B) ferg
(C) 99 T (D) 3IRRT
The oo radiation belts are giant
swaths of magnetically trapped highly

energeticchargedparticlesthatsurround
Earth.

(A) Kuiper
() Van Allen

(B) Chinook
(D) Aurora

[SSC CGL (Tier-1) 2022]

105.

14.2 fawa &1 a1

(A) g
(C) HRHRA D EICSISE
Acidic nature of soil is shown by high
concentration of ................. .
(A) nitrogen (B) hydrogen
(C) phosphorous (D) oxygen

[SSC CGL (Tier-1) 2022]
S & a1 TR THA B 9 IR,
S RORT AR 1 |8 3% 9ol 8, 99 IR
PI AT T Fod &7
(A) F_T STALTRAT
(B) ¥eLet w7
(C) IRRIE® &
(D) emRar &myan
What do you call the weight a soil can

with stand before severe damage occurs
to the structure of the soil?

(A) Field capacity
(B) Bulk density
(C) Buffering capacity
(D) Bearing capacity
[SSC CGL (Tier-1) 2022]

-~ = = =

14.3 A1 (A9, 9IEe TN

106.

qui anfe)

fr=foied 9 9 e aR® § FH B8F 9
qrefieRor A &R H ghg B &7

(A) T B A8 B HIX qaT DT TR
(B) W 3a I b TE BT &HeT
(C) TR qr=

(D) et

Decrease in which of the following

factorsleads to anincrease in the rate of

evaporation?

(A) Windspeedabovethesurfaceofthe
liquid

(B) Area of the free surface of the liquid
concerned

(C) Ambient temperature

(D) Humidity

[SSC CGL (Tier-1) 2022]

14.4 faea & Wz (<@or,
SIRYIET, W9 T 31fS)

107. |g% B T &I AGUIT BT TUHT TSI STA

B, T A gl TS DT A
T ) B wq A B S S|

NATHT SIRT™GdT | 11



108.

109.

110.

111.

12

(A) 10, 000 (B) 1000
(©) 10 (D) 100
The salinity of ocean watersis calculated
astheamountofsalt (ingm)dissolvedin

................... gm of seawater.
(A) 10,000 (B) 1000
(©) 10 (D) 100

[SSC CGL (Tier-1) 2022]
FrfRad # & D SWUBRINT HETRY
# T I dTel 191 BT U A & Sl yarer
RT3k T ST T | I 52
(A) TRITCH (B) TFT
(C) frmrse (D) T
Which of the following is a group of
islands found in the tropical oceans
consisting of coral reefs and a central
depression?
(A) Guyots
(C) Seamount

(B) Lagoon

(D) Atoll
[SSC CGL (Tier-1) 2022]
Fr=ferfaa | PH-91 FeNITR & TN
ST I & Y 1091 SO™ W B N
OISR &7
(A) RN TERTgt
(B) BRI WY IA
(C) HergNiy 2k
(D) FEIETNY eret

Which of the following is the shallowest
part of the ocean showing an average
gradient of 1°or even less?

(A) Oceanic deeps
(B) Deep sea plain
(C) Continental shelf
(D) ontinental slope
[SSC CGL (Tier-1) 2022]
JTAIR TR, g SIR-HTel 3MR g

SIR-9TET & WD oo & &
SRS B & |

(A2 (B) 4

© 9 D)7

Normally, there is a ................. day

interval between spring tides and neap
tides.

(A)2 (B) 4
©9 (D)7
[SSC CGL (Tier-1) 2022]
14.5 fawa & 9@ SR

fr=foRed & 9 f5 ‘599 Tdd (White
Mountain)’ & M & 9 ST ST 87

(A) = 8y, (B) HbIe],
C) & (D) ety

| AERATIAL ICAMC AT

112.

Which of the following is also known as
the 'White Mountain'?

(A) Cho Oyu (B) Makalu
(Q) Lhotse (D) Dhaulagiri

[SSC CGL (Tier-1) 2022]
Tddl & way ¥ fEferiRad # & dE-a
BT T B/E?
. 99, U Ufth ¥ Faferd gu e dad
& o 2T Pad B
Il 9RT ¥ REe ST T & qad
IR aferd gdd yonfer ¥ & U ¥
. sféror emRest # Aee fofermoml
SATTRAT Jdd T U IATERT & |
(A) DI I B) 13RIl
(C) 1,11 R (D) B9 |
Which ofthefollowing statementsis/are
correct regarding the mountains ?
1. Mountains may be arrangedinaline
known as range.

Il. The Aravali range in India is one of
the oldest fold mountain systems in
the world.

Ill. Mt Kilimanjaro in South America is
an example of Volcanic Mountain

A) Onlylandll
B) Onlyland Il
C I 1llandlll
D) Only1

(
(
(
(

[SSC CGL (Tier-1) 2022]

113. M S ¥ Ugel, A8 TRRE B Bacl

% Y | ST ST o |

(A) 9r& VI (B) 9% IX

(C) 9I® XV (D) 9 Xl

Before being renamed, Mount Everest
was simply knownas ..................

(A) PeakVl (B) Peak IX

(C) Peak XV (D) Peak XII

[SSC CGL (Tier-1) 2022]

14.6 fawa 7 Py vd ggqure

114.

YA Bl T8 IRIT ST Ao & Sedra
WSRUT, TR AR faqor & |afed 8,
ESIS I

(A) TrETATSY (B) Tq@Heax
(C) MeRFHeax (D) TR
The branch of horticulture which deals

with the production, storage processing
and marketing of vegetables is called

(A) pomology
(C) olericulture

(B) apiculture
(D) agronomy

[SSC CGL (Tier-1) 2022]

GIY[cHD gl

1. =N 9Rd 1 Shier

1.1 sfe 9iMR & W
1. (D) o 3R® & oY RiaeE 9Rd &

2. (C) o

o= ol ) e & o
Y TP WY TR [efl, 7ed
a1 H N Rerd | &rd: fased D
Terd & el e # oeie &

Rretrery fferiad &

& D ¢ XX

& ISR TRl

& TS : XA

o uferTg ;TS & U,
AR,

* SERR . fmg

* g : gt

¢

& S MeeR: gy
A wEe oEe B gfes @
T PRI SEd  SAferd
I fred ¥ 1 ug A S § o,
3TIMH BT STfHerEl BT YO SRH
& NS SR’ | e o
AME & T 40 Aferd
U< g S| T SN, TR SR
MgH—e T # forg T & |
THIC 3790 o sal forfd # forRaa
AT BT HAYH TeTolex Bied
P FEEi o R T ugr |
IME & ARSI BT I AW &
fawfore faman S aear &

+ fRremery

e WO

+ TR

1.2 afed T

FIE B GO b AT B B q
¥ | fawarfiar e %Y sk <o
$ w9 § IR a1 A (@ iR
Aderel) @ 919 98 Ha1E TP U &
Heh P S T

FIg H AIRME, S (WRIHR
g3 3R e @ uif & forg
IH WA & | TSl B SIS A
X1 Wies & B H AR ST o |
3T A9sAl § 999N Sid #R
S A |




3.B) e

4. (B) o

WS YEH 98 ®9g ©, R
T AT 3500 99 G g% o |

FIE H T R 3 IAfH o

et &, o b Pal S & 1 3

a9 faft= S dq-2aarsii 6 |gfa

A T HIE P10 HeA (TP

# fawifora fomam T B

Tgell 3R ¥4l Aol &N Ha

IR I A7

TRET 7 B FAS B IRN o

3 form T B

e 9 T TRE | AH BT FANT

Tl

TP STEI0TaTEl GofT, 9rreal 1000

@ B 9w § e, A

(AR FT=I0l) & T & ed

¥ e BRAT o |

YAE MH B A Th dfed I

@ M R T TR of | A A
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P ISR FRA &, T SaR-1e
1 g HASR Bl & 3R T8 YA
SR a1 R T | 9B SER-WeT SR
Y SAR-H1ST & &g o9 A1 fad
BT SR BT ¢ |

14.5 fawa & 9@ SR

111. (D)

ARl AUrer/Raem @ qdd
qger # Rerd &1 S o1 waq
Tdd (White Mountain) & 9 ¥
qf A SRI S| TS TH He@qol
Ted B IRl & STR-Uiad |
Rerd &1 8 g1 &1 731 999 A1
Tdad 9§ ¥, S99 TS 8167 metres
(26,795 feet) ¥ | SRR ¥reg TP
& gIaiy 3§ form T ¥, g
3ref ¥ “Frax Whe udd” |

112. (B)

|. 9T BT TP Y@ A FaRerd
S |ear & R Sl e S
¥l B gdad yomfert # Jwei
fperier T% Hell W) gddl
@ TH g@en Bl sl fRmem,
e IR TSN PRI TURET,
R SR feror s@Rer & wdd
SR & |

II. SRTEeH YT gl WR | YR
=it fRa & et s
TreRISig® g1 3 g8 8 SRIGel ¥of
Ui FEEAl W g § AR
IRFH AT & fadr &1 A
BT B IR &

A 95e 9 U HSe TaRRE 6
Bl Wb XV H o9 H ST STl off |
EREIRENECIANE RIS RCIL G
@1 e ¥ fded T <@ |/ A oEe
P I9T | AP BT A ARRATAT &
feas aref ¥ T o RRaR | 1865
T Peak XV &1 T FETB AR STl
TIRRE B &A1 TR o |

14.6 faea 5 $fY vd agqure

114. ()

M fasm= (Olericulture) Afssry &
I T faee ¥, s e @
T et & fTE < B 9,
I TR BT AR 99 IR
ERT Aol TR bl AT TNt B

NATHT SIRT™hdl | 23



92.

off | 39 MM 7 30 RiawrR, 1955
B T RUIE ANy o | 359 RuE &
MR TR g TS i 3
1956 # TR fobaT a7 of | §9 3T
7 MY T, Y IR fam
Rl &I 3em e A B I B
TS B SR 7T |

12.5 ARTRSBT

303w}, 1955 1 WRd | Ugatl IR
ArRear srffew TR fsar
o | fSres gR1 g Qe & oref|
AR 7 YT Y A AN 1 AR
UM B TS |

12.6 9¥E (W< AT,

93. (D)

9 Ud 9YE)
|AYE & IgET 110§ Th o
fadges o Arpad ¥ U fhar
S AT ® AR T IR o9 s
eI H YRGB Wl ¥, 3R
ST BT AT I & A5 a=
T 5T 991 & U AHferRaa Afia
wIfert 1
g e B TR B Aha & T8 &H
fagae @1 9 A1 SRATER R Al
T SR T8 S9N e o
T I8 dael RBIRS o) aobdr &
R oIl 14 fadi 9 e amw
& HA B, AN 3H AT A F TR
AT ST 8| o g & A #
HYFT & BT PIs WAL 7ol ¢ |
WRT | NG T T faem=ae 7
fIear yedra U fpaT T Aepa ©
=9 fauer gR1 R wPRYE & Raems
U1 fHar oirar ¥ Srfavar R
AHaH | & B F U o B TR
AERe yaE & Irfava Y
B AHAAT H B U a1 1 A
T T A H 3 A9 B g
fHAT HRUT BT IAW B STHRA el
TN B

12.7 LI WA 91

95. (Q)

REEAIRG))

WRT & QUM BT 7441 FEned
1993 H§ TRUMTHT ERBRI Pl
NECHREARSE IR SIS B A 1

22 | ASRAYAL DCAMCART

96.

99.

(@)

arftrfafd fopam T em qem 74 of
e S (CAA, 1992) ST 1
ST 1993 T AR g3 HT IX A (TR
IferTeN) & ST e fopar 1 57 @1t
T 1 2R T e (guerd)
BT TP ISP ol T b |

12.8 Hf3= |ene=
aff, 1971 % =aifdg fen e
IS B U SR 368 B B
A AifeTd AfRTBR B HF BT
I g @1 Wfe & 3R v srfefem
ST 13 % e B el BTl | T8
Arrar Afqe deneE it 5
R, 1971 1 TR far 71 o |
ESRNIEE OISO SRR BU RSl
Pl B S B BT ST ST o | Sl
et 1T 9919 TolE X8 & Fad
¥ f=r T o

WRAR AU & 100 9 FeNee Bl
ol Ireguf yorg gagei | & o
IR AR TR & 99 8 A
wfer & ferw 100 af e fvar T |
TP TEd I S A ST A
A {O -9 BT EH-YSH fa |
TS B Ied ISl ¥ AR W
e AT B HRA ARG @
DT

R & A A ATear e W
B YR TR IR 58] &GS
B FING w9 F G D TAHD
See & A1y uiRka fbar T o qen
Tg FENYE 1956 B UIRT faam T
o7 | 39 wehed 3 faf=r st @t
% el @ eiRa B & forg
Tgell SRLE Wfed Afder @ faf=
Srgesal Bl W FENET fahar o |
42§ weheE o Afdge § ARG @
U BN A AbiND TR A
Y AT gHRYE AT D
TR g f3ar @R NI
IR ergusdr # ff 95 faAml 42
af wehed Hfif T, 1976 WRAR
AU & Fe9 Feaqul FeneE J
WP B3 A IAEN & wa A @
ST STl B |

100. (A) YRT & HfAg= d 26 9 FEH

sfefRm, 1971 9 Ramdl & 9@
NISECARCIR G IRIER LI EEa R

101. (C)

AT B AT | I8 e AHATArS
ATRTS AT & 1T 31T off |

12.9 fafae
HRA H e IRTE < dredd] &
[REUT  (POCSO) =, 2012
qrAP! & T Pl &M IR gU AND
B, ofiie Sdie & e &R
IAlel e & TeAd] Bl ARSI
P b I v Aud B B
POCSO 31w & won fadr
& BT b1 Jor Tl 3 37fs PR B

13. fasm= 3R drenfiest
13.1 37 3R fIfy= SrprepRor

102. (A)

BRIBH

ARG § WReY 3R IRAR Heuro
e R fowRa Srarason
HRieH (EP) & w9 H 99 1978
CIPIBRT BRAIDHH Yoo T T e
Jg APIHROT  THIN AfRkenS Td
gear # feeiRan, wdfm, feew,
TferadEaRiets R sTEUT B
TRF | U SR qG IR B FH
FRA T ST | AT AT o |

14.1 92 (Seafdr, sprdia sfomr,
IR, Bredfsie N 3nfe )

103. (O

104. (B)

T Ter fafeRvr, Jee gD
B G STATD ol AR
ol 1 fIener USr ® S gedl @ TR
Y& & | I ToiF &l M SRR Hfiw
g 5P T 99 Yo & A IR <
o, R8N 1958 YT, TRIRIRY
TUUE ERT T ST &l ST &) 59
fafesRoT ST @1 @It o |

14.2 fawa &1 ga1

AT SFATHRO P ERT @RI Th
Ipfrd Ufhar & 8 &1 ereltaxor
BT ¥ Hifh A gseo e
P ATl I TN & SN B SeliavoT
BT T HRUT TSI BT AFIA
ST ¥, T 916 SuS § &R
1 fAmior B




105. (D) TS &1 FE BT AR JHHAT B

I ygel S f99 4R &1 G&T B &
I IR Bl RT &THaT Fad & |

14.3 9’79 (A9, 916 92

aui anfa)

106. (D) 3Tl H BHI BH I ATSIIBRUT B &%

H gig BT & T I & - B
TR BT e Rrae 3rfdres 2R,
JrAIBROT BT I I & SR BRI
T YBR T4 aTSHIBROT BT SR DI BH
1 3IYF IR THN B |

14.4 fawa & aqg (aur,
SARYTET, 99 T 3fe)
107. (B) TIIURT 98 W= & Forah1 SUART THR

& I gel Y AUl BT B AT Dl
IRINT o= & foru fan S & |
HS! TUAT 1000 IH (1 Kg) T
ST H gel TG (UM ) B A B
BT B SR § U AR TR U
TR A7 G WA & w9 § gad
o S & |

108. (D) T SR AENMFRI A UIY

S dTel G141 BT Ueb g & Sl yarel
FARRIT 8IR Ue B T 9 91 & I8

109. ()

110. (D)

Y% (QIT[) &1 U &R 81 9l &
AR HN-BN J T, @R AT FAfeIh
R IHT B HUSR Pl ORT & |

RGN Ueh IV I TR
IR W & Feo el TP FEET
P ARG 91 & 98 993 o1 994
AT I S 1 ST STt 1031 S
o PH P N 8 |

Jed WOR¥El & 96 fd 91 99
T SR T gl | HHPU] W
AT E, A TP Tl T Th TR
P ISR FRA &, T SaR-1e
1 g HASR Bl & 3R T8 YA
SR a1 R T | 9B SER-WeT SR
Y SAR-H1ST & &g o9 A1 fad
BT SR BT ¢ |

14.5 fawa & 9@ SR

111. (D)

ARl AUrer/Raem @ qdd
qger # Rerd &1 S o1 waq
Tdd (White Mountain) & 9 ¥
qf A SRI S| TS TH He@qol
Ted B IRl & STR-Uiad |
Rerd &1 8 g1 &1 731 999 A1
Tdad 9§ ¥, S99 TS 8167 metres
(26,795 feet) ¥ | SRR ¥reg TP
& gIaiy 3§ form T ¥, g
3ref ¥ “Frax Whe udd” |

112. (B)

|. 9T BT TP Y@ A FaRerd
S |ear & R Sl e S
¥l B gdad yomfert # Jwei
fperier T% Hell W) gddl
@ TH g@en Bl sl fRmem,
e IR TSN PRI TURET,
R SR feror s@Rer & wdd
SR & |

II. SRTEeH YT gl WR | YR
=it fRa & et s
TreRISig® g1 3 g8 8 SRIGel ¥of
Ui FEEAl W g § AR
IRFH AT & fadr &1 A
BT B IR &

A 95e 9 U HSe TaRRE 6
Bl Wb XV H o9 H ST STl off |
EREIRENECIANE RIS RCIL G
@1 e ¥ fded T <@ |/ A oEe
P I9T | AP BT A ARRATAT &
feas aref ¥ T o RRaR | 1865
T Peak XV &1 T FETB AR STl
TIRRE B &A1 TR o |

14.6 faea 5 $fY vd agqure

114. ()

M fasm= (Olericulture) Afssry &
I T faee ¥, s e @
T et & fTE < B 9,
I TR BT AR 99 IR
ERT Aol TR bl AT TNt B
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A=A IR

1. 9m2365n48 T VAT AT 37l B AT &,
ST 88 W UTT: fawrsy &, 1 n & | BIC
A & fAT (m? x n2) BT AT F91 B, ST&l

m 3R n AP TR E—
(A) 32 (B) 36
(©) o4 (D) 20

If the nine-digit number 9Im2365n48 is
completely divisible by 88, what is the
value of (m? x n?), for the smallest value
of' n, where m and n are natural numbers?
(A) 32 (B) 36
(©) 64 (D) 20

[SSC CGL (Tier-I) 2022]

. If& 48 k2048 p 6 TH T | T S 99
S fawrsg &, @ (k x p) BT A 4T BT ?
(A) 0 (B) 4
€ 6 D) 2
If the number 48 £ 2048 p 6 is divisible
by 99, then (k x p) is equal to—

A) 0 (B) 4
€ o D) 2
[SSC CGL (Tier-I) 2022]

2.999.Td .9 .

3. 98 9N 99 91 -1 &, R 156,
181 3R 331 B fAwid =7 W 9P

Rerfer 7 St ¥ 6 81T B—
A 17 (B) 25
(©) 13 (D) 26

What is the greatest number by which
when 156, 181 and 331 are divided the
remainder is 6 in each case?
(A) 17 (B) 25
(C) 13 (D) 26

[SSC CGL (Tier-I) 2022]

. 13, a, b, ¢ AR ICHI-NTT TR & AR
el & UAE s (13, a); (13, b); (13,
OB AN, 138, STel a, b, c YAH 60 BH

YR a<b<cHl “ZC 1A TP

(A) 2 (B) 3.5
<€) 5 (D) 4.5
13, a, b, ¢ are four district numbers and
the HCF of each pair of numbers (13, a),

(13,5), (13 ¢)is 13, where a, b, c are each
less than 60 and @ < b < ¢, what is the

value of are .
(A) 2 (B) 3.5
<) 5 (D) 4.5

[SSC CGL (Tier-1) 2022]

. T8 BI-9-BId) &1 319 Pifee i34 6, 9

IR 15} fIAToy |y BIe) WA | e

TR Y8 TP qoT 97 §9 Sg—

(A) 10 (B) 21

©) 19 D)9

Find the smallest number which should be
added to the smallest number divisible by
6, 9 and 15 to make it a perfect square—

(A) 10 (B) 21
(C) 19 (D) 9
[SSC CGL (Tier-I) 2022]

. 400 3R 500 €7 T ST TS BT AN

Y, 7 6, 12 AR 16 ¥ A9 &=

W DTS ANHS T8 TA 5

(A) 960 (B) 1024

(C) 480 (D) 912

What is the sum of the numbers between
400 and 500 such that when they are
divided by 6, 12 and 16, it leaves no
remainder—
(A) 960
(C) 480

(B) 1024
(D) 912
[SSC CGL (Tier-I) 2022]

. QIS B AN, AR T F. HI: 90 AR

158 afe ST dwrel & A 75 %,

T G=AT 3G PITT—
(A) 90 (B) 45
(©) 75 (D) 60

LCM and HCF of two numbers are 90
and 15, respectively. If the sum of the
two numbers is 75, then find the greater
number—
(A) 90
(©) 75

(B) 45
(D) 60
[SSC CGL (Tier-I) 2022]

8. 703 + 203 — 903 BT HIF ST HITT—

(A) 0
(C) —378000

(B) 378000
(D) —300000

10.

11.

Find the value of 703 + 203 — 903 :
(A) 0 (B) 378000
(C) —378000 (D) —300000
[SSC CGL (Tier-I) 2022

X 1
. gfe 5[1—5]—(5—x)—200_0b"[(20—x)

=0.08%, O x BT 919 AT &7
(A) 36 (B) 24
©) 9 (D) 18
What is the value of x, if

5[1 —z]—(s —x)—ﬁof(zo—x)

=0.08?
(A) 36 (B) 24
©) 9 (D) 18

[SSC CGL (Tier-I) 2022]
48.3%[(4.95)" +4.95x13.25]

[(12.55) —(5.65)*]x19.8 P11 &
g7
(A) 0.175 (B) 175
(€) 175 (D) 17.5

48.3x[(4.95)° +4.95x13.25]

Thevalueof ™15 552~ (5 65)71x19.8
is—
(A) 0.175 (B) 175
(€) 175 (D) 17.5

[SSC CGL (Tier-I) 2022]

G 25 3 +4p) + 120f5-3 x8=67%,
A p A R H?

1

() 155 (B) 69

1

©) 72 D) 17

What is the value of p, if 25 (3 + 4p) + 12
of 5-3x8=6?

1

(4) 152 (B) 69

©) 72 (D) 17%
[SSC CGL (Tier-I) 2022

TG AFEEI | 1



e

. DI HA
4l o s5%02: o042t
6 5 43

T E?
42 30
(A) 2 (B) P
24 36
© = (D) ™

The value of

e

is—
4l+2.5><0.2+lof50+ é—l
6 5 4 8

42 30
A) — B) —
(A) - (B) -
24 36
C) — D) —
© P (D) P
[SSC CGL (Tier-I) 2022]
13. fr=ferRad o axelied A a1 &°?

9+20f(9+6x4—2)+|1s L 13,6
7 5725 18716

24+16—-104+36+(5+20+4-1)

5 7
A) — B) —
) 56 ®) 40
40 51
C) — D) —
© 7 (D) s
What is the simplified value of the
following?
9+§of(9+6><4—2)+ l+l— §+£
7 5 25 [8 16
24+16—-10+36+(5+20+4-1)
5 7
A) — B) —
) 56 ®) 40
40 51
C) — D) —
© 7 (D) 6

[SSC CGL (Tier-I) 2022]
14. fS=Ifhd ST &1 719 1 BITT—

alishafasdufelon L
3 3 5 4

415
2 5 2
eI x=
3763
(A) 289> ®) 281
8 8
1 1
C) — D) 12—
© i (D) 5

Find the value of the following expression—
alishatisdfelon L
3 3 5 4 4 15

2

3

5.2
+—X—
6 3

2 | AGRAWAL ZXAMCART

3 1
(A) 2892 (B) 285

1 1
© 3 (D) 125

[SSC CGL (Tier-I) 2022]

4. 3<Td
15. 9 F=A1sl § A g AT Ul Al
g ¥ | i WA el & ol 112
T, T A9 B AT DI X B—
(A) 189 (B) 84
(C) 45 (D) 63
Of the three numbers, second is one-third
of first and is also three-fourth of the third
number. If the average of three numbers
is 112 then what is the smallest number?
(A) 189 (B) 84
(C) 45 (D) 63
[SSC CGL (Tier-I) 2022]

16. 919 & #eM # fei 7 wfifes eirra
3501 &1 FHHATS @Y | Tt 18 AT 7 S|eh!
I HATS 3495 o &R o1g & 15 faT
A P! AT HATE 505 A | 18 71 B
T 17 971 Bl AR BT TS FHAE | T50
1fere AR | 18 A 1 S+ fobaeT (3 H)
PHIT—

(A) %498 (B) %502

(C) 3500 (D) 3501

In the month of March, Dilip earned on
an average 3501 per day. For the first 18
days, his average earning was 3495 and
for the last 15 days, his average earning
was I505. On 18™ March, he earned 350
more than that earned on 17 March. How
much (% in) did he earn on 18" March—

(A) 3498 (B) 3502

(C) %500 (D) 3501
[SSC CGL (Tier-I) 2022]
17. U&% @R YN S8Rl 9 99 & #7a §
Tfafes SIRIa 3925 FHHIT | 9 T8t 20
ol & )M SigdT 2881 wfafed &R
g B 20 ’AT & SRE 3915 vl &

DTS BN | 12 SR | 20 SR deb D!

gffeT & Sivaa g (X #) = Y
(A) %805 (B) 2800
(C) 875 (D) 792

Ras Bihari a plumber, earned on an
average 3925 per day in the month of
January. He earned on an average 3881
per day during the first 20 days and Y915
per day during the last 20 days. What was
his average income (in ) per day from
12th January to 20th January—
(A) 805 (B) X800
(C) %875 (D) %792

[SSC CGL (Tier-I) 2022]

\'ﬂﬂql\_‘l Ud HHTYATC
18. AR B & WIRYS T 1 ogurd 11 : 13

¥ IR SIS Y B U 9: 1171 IR
I ST gferTE 34,000 B I BRA B,

ITH A (X W) BT =R 0 BITT—
(A) 32,500 (B) 33,200
(C) 3,000 (D) 34,000

The ratio of the monthly incomes A
and B is 11 : 13 and the ratio of their
expenditures is 9 : 11. If both of them
manage to save 34,000 per month, then
find the difference in their incomes (in 3)—

(A) 2,500 (B) 23,200
(C) 3,000 (D) 24,000
[SSC CGL (Tier-T) 2022]

19. IR 8, 20 & TIAGURY p & 3R 3,5, 24
P AGAARN ¢ =, A (2p + ¢) B AF =140
BT~
(A) 140 (B) 90
©) 126 (D) 104
If p is the third proportional to 8, 20 and ¢
is the fourth proportional to 3, 5, 24, then

find the value of 2p + ¢)—
(A) 140 (B) 90
(C) 126 (D) 104
[SSC CGL (Tier-I) 2022]

20. R el & g faendl (Faa1 a<
IR aTefeah) sherfmrs aem 3§ wnfier
BT 20% TTSB AR 15% TTS(Har q0eT
H Sl & T | TRie S0 R arel
TSP B GAT, TIET S PR aqren
TTE(HAT BT T H 70 A o | FoT 90
faremeif ergRirof gU | wien # enfiier 8 arel

fenfemt <1 S s Hfi—
(A) 500 (B) 350
(C) 400 (D) 420

Some students (only boys and girls)
from different schools appeared for an
Olympiad exam. 20% of the boys and
15% of the girls failed the exam. The
number of boys who passed the exam
was 70 more than that of the girls who
passed the exam. A total of 90 students
failed. Find the number of students that
appeared for the exam—

(A) 500 (B) 350
(C) 400 (D) 420
[SSC CGL (Tier-1) 2022]

21. T 0T 3BT ¥, T8 @1 W R B e
A B DI H 25% B IG T8 © AR
S AN ded A7 B AN B 30% 9
TGH B HIA BT AN Bl 38% & TS



22,

23.

24.

T | e AT B @ud fobaw wfaera &8 A
ST 1fh AN B ghg A T8l B AN

P IR TGN T Ah—
(A) 25.5% (B) 30.2%
(©) 20.7% (D) 24.6%
In a manufacturing unit, it was noted that
the price of raw material has increased
by 25% and the labour cost has gone up
from 30% of the cost of raw material to
38% of'the cost of the raw material. What
percentage of the consumption of raw
material be reduced to keep the cost the
same as that before the increase—
(A) 25.5% (B) 30.2%
(C) 20.7% (D) 24.6%

[SSC CGL (Tier-I) 2022]

TS & I A 5% I gfg g g 9
TBel USId T T I82 YR TR o1 | UH
3T URY HE 3045 km Y A FRAT &
IR TTH BR G Aex 15 km BT AT
TN I0A S I ¥ ghg B PR S9
ST BN AT IR febT S @t Ay 2
R 1) # foa gig e
(A) 758 (B) %859
(C) 7944 (D) 3832
The price of petrol shot up by 5%. Before
the hike, the price was Y82 per litre. A man
travels 3045 km every month and his car
given a mileage of 15 km per litre. What
is the increase in the monthly expenditure
(to the nearest ) on the man's travel due
to the hike in the petrol price—
(A) 758 (B) %859
(C) 3944 (D) 3832

[SSC CGL (Tier-I) 2022]
400 HHAIRAT aTell TP Baal 4 JoN
J AU 5: 3% Bag 7 87.5% Fafa
FHEAR &1 AT 92% ToU HHar Fafa
HHAN ¥, A Fafi wlken e aRar @

gferera fopem &7
(A) 85% (B) 78%
(C) 87.5% (D) 80%

In a factory with 400 employees, the ratio
of the number of male employees to that
of female employees is 5 : 3 There are
87.5% regular employees in the factory.
If 92% of male employees are regular
employees, then what is the percentage
of regular female employees—
(A) 85% (B) 78%
©) 87.5% (D) 80%

[SSC CGL (Tier-I) 2022]

T BrYSt & MaR H 40% B ghyg B
TS | 5! $aTs fha- UfwTd (SeHerd &
] XM 6 FE) TG S AT Ml
&3 H 60% Bl gleg B SU—

25.

26.

(A) 15.54% (B) 14.29%

(C) 20.01% (D) 18.62%

The base of the triangle in increased by
40%. By what percentage (correct to
two decimal places) should its height be
increased so that the area increases by
60%-—

(A) 15.54%
(C) 20.01%

(B) 14.29%
(D) 18.62%

[SSC CGL (Tier-I) 2022]
GATHS AT k' DI ST D 30% A o7
fobar ST B, 97 Ui aven, G K
170% 3¥feres B &, =1 %' 1 A1 S

HIRT—
(A) 5 (B) 6
©) 9 (D) 7

When a positive number '4' is multiplied
by 30% then the number obtained is 170%
more than the number 'k, find the value
of the number of 'k
(A) 5
© 9

(B) 6
(D) 7
[SSC CGL (Tier-T) 2022]

A B 30% 31f¥re fawr far 1 BS C
A 40% B e e, R 28,000 &1
e fear | 59 |99 & gR1 e A g
A AR HT AR (Frevead da) framn
B?

(A) 6143 (B) 6215

(C) 6417 (D) 6347

A invested 30% more than B. B invested
40% less than C, who invested 38,000.
The average of the total amount invested
by all of them together (to the nearest )
is—

(A) 6143
(C) 6417

(B) 6215
(D) 6347

[SSC CGL (Tier-1) 2022]

7. S92+ Uq 981

27.

T IR A 3R B S P I BT U
4:5% 137 G B I TG, PR
BT TG AT 10% 3R T BT 20% B
M BT B AR S aeT [T F ewiR
34808 1 ag B iR A %3 qoa R ) H
IR forerT 87

(A) %300 (B) %400

(C) 250 (D) X350

The cost prices of two articles A and B
are in the ratio 4 : 5 While selling these
articles, the shopkeeper gains 10% on
article A and 20% on article B and the
difference in their selling prices is I480.
The difference in the cost price (in ) of
articles B and A is—
(A) %300

(C) %250

(B) T400
(D) 3350

[SSC CGL (Tier-T) 2022]

28.

29.

30.

TP HHER F T4,600 # TH AW 3R
31,800 7 T AT W< | T8 A BT 10%
A 3R FH BT 6% A9 TR =1 & | Bl

YIS & S BITT—

3
(A) 71 (B) 8
(©) 8% (D) 16

A shopkeeper bought a table for 34,600
and a chair for ¥1,800. He sells the table
with 10% gain and the chair with 6% gain.
Final the overall gain percentage.

3
A 75 (B) 8
(©) 8% (D) 16

[SSC CGL (Tier-I) 202
TP AR B b qed W 20% 3R 25%

% 3 PANE Be 250 B UHA BE D
TRIER & | A TG BT bl e A Hod
q 25% 31fep 8, A 97 B BT 9 R H)
e 82

(A) %500 (B) %450

(C) 3550 (D) %600

Two successive discounts of 20% and
25% on the marked price of an article are
equal to a single discount of 250. If the
marked price of the article is 25% above
the cost price, the cost price (in ) of the

article is—
(A) %500 (B) 450
(C) %550 (D) 3600
[SSC CGL (Tier-T) 2022]
T g Tl Mf¥ed dma W S S

&1 A 3 39 A B 70% TR 41 S
&, 10% 1 B BRil 8 | e I qea

R 9 R Y9 o Ry 87
@) 2% ®) 2%
(©) 1(;0% (D) ?%

An article is sold at a certain price. If it is
sold at 70% of this price, then there is a
loss of 10%. What is the percentage profit,
when it is sold at the original selling
price?

(A) 330% (B) 220%
(@1?% w»?%

[SSC CGL (Tier-I) 2022]

TG AR | 3



31.

32.

33.

34.

4]

TP JHMER A 15 H 10 H & | it
TR AR I M40H 16P R AT AT
TP TR AT S bITg | (FTFIE &b
31 UM Tb TE)—

(A) 50.55% (B) 33.33%

(C) 65.05% (D) 66.67%

A shopkeeper bought toffees at a rate of 10
for X15 and sold them at a rate of 16 for

%40. Find his profit percentage. (correct
to two decimal places)—
(A) 50.55% (B) 33.33%
(C) 65.05% (D) 66.67%
[SSC CGL (Tier-I) 2022]

8. AN

P 3R Q FHYN: %1,50,000 3R ¥4,50,000
B IS F TP GHH Y I 6 | TH W B
18 1,60,000 S AT9 H F P DT 97 &9
1 o SR B & 1 A9 Bl T TE
T, 9P 901 & w9 A e B 1Ak pa
Fe 370,000 fiew &, T S 9t 9a X #)
RITE?
(A) 340,000 (B) 25,000
(C) 330,000 (D) 350,000
P and Q start a shop with a capital of
%1,50,000 and ¥4,50,000 respectively.
After a year, out of the profit of¥1,60,000
P gets his share of profit plus some money
that is not a part of the profit as his salary.
If P gets a total of ¥70,000, what is the
salary (in %) he received?
(A) 340,000 (B) 325,000
(C) 330,000 (D) 350,000

[SSC CGL (Tier-I) 2022]

A 3R B §B WIRRN &1 39 o) tH
I Yo fHAT| § HE B I H A
AT TTER B T AR ST U1 Ao
ARRIIAIRBHI TS IHS5: 9D
U ¥ 19 U g7 | i B+ 336,000
1 frer fasa o, @ A forart <R (39)
fyarer <7 o?

(A) 336,000 (B) %30,000

(C) 325,000 (D) 320,000

A and B entered into a partnership with
certain investments. At the end of 8
months A withdraw and collected back
his money. A and B received profit in the
ratio of 5 : 9 at the end of the year. If B
had invested 336,000 then how much (in

%) had A invested—
(A) 336,000 (B) 330,000
(C) 25,000 (D) 20,000

[SSC CGL (Tier-I) 2022]

I ARERT X, Y 3R Z ¥ 991 40,000,
738,000 3R 30,000 T fIer B 37T

AGRAWAL SXAMCART

FIAR Yo 5T 1 6 76H & 91, X 3R Z
= gHeEr: 320,000 3R 15,000 &1 3rfaRe
Fraer fan, Safds Y= 38,000 fidmret forg |
Y & 3 W SAfid I38,880 B FoT AN

¥ Y & R (% H) o1 Hiog—
(A) 310,880 (B) 10,950
(C) 39,800 (D) 10,200

Three partners X, Y and Z started their
business by investing 340,000, 38,000
and 30,000, respectively. After 6 months,
X and Z made additional investments
of 320,000 and ¥15,000 respectively,
whereas Y withdrew ¥8,000. Find the
share of Y (in %) in the total profit of
338,880 made at the end of the year—

(A) %10,880 (B) 210,950
(C) 39,800 (D) 210,200
[SSC CGL (Tier-T) 2022]

35. 80% 3R 90% g 3T ©reT Bl 20

TMER 87% Y =AY HIeT YTl bR D
foTe fietran S & | fs1or S & fore e
80% g I B DI AT (e H)
S BT —

(A) 4 (B) 6

©) 8 (D)9

80% and 90% pure acid solutions are
mixed to obtain 20 litres of 87% pure acid
solution. Find the quantity (in litres) of
80% pure acid solution taken to form the
mixture—
(A) 4
©) 8

(B) 6
(D) 9
[SSC CGL (Tier-I) 2022]

36.

37.

I 4 3 AR 6 AP A B Bl
8 fal # B} b & AR 6 S SR 4
oD G M B 7 A § B g B,

T 5 MM AR 4 TP S B Bl fbaw
&= 3 s

(A) 5 (B) 6

©) 8 (D) 7

If 4 men and 6 boys can do a work in 8
days and 6 men and 4 boys can do the
same work in 7 days then how many days
will 5 men and 4 boys take to do the same
work?

(A) 5 (B) 6
©) 8 (D)7

[SSC CGL (Tier-1) 2022]
P 3R Q1 T 1Y TP HM [ fbam 3R

T FHRI: 31,080 3R 1,440 FT A

38.

39.

fopam T | Af PQR SR T 20 f&AT 3§ AR
HHAT &, AT So UH A1 Fedm) B o

X1 R H feber & <1 wa foran?
3 3

(A) 6; (B) 8;
4 4

(©) 6= (D) 8

P and Q completed a work together and
were paid 1,080 and 1,440 respectively.
If P can do the entire work in 20 days, how
many days did they take to complete the
work together—

3 3

A) 6= B) 8=

(A) ; B) Z

4 4

6— D) 8-

© 7 (D) -
[SSC CGL (Tier-I) 2022]

A 3R B 5 @9 &1 w12 7 aiR
18 & & = Fadl &1 S 4 A1 & forg
T A1y fraax o fear foae 9 B
P C ¥ gfoeenfid ) fam m &R oy
P A SR CERT 31T 4 &1 7 qx1 feban
TR | C 3Fape] AT B BT 50% AN fda
e 4 T ReT?

(A) 21 (B) 18

(C) 24 (D) 36

A and B can do a work in 12 days and 18
days respectively. They worked together
for 4 days after which B was replaced by
C and the remaining work was completed
by A and C in the next 4 days. In how
many days will C alone complete 50%
of the same work?
(A) 21

(C) 24

(B) 18
(D) 36
[SSC CGL (Tier-I) 2022]
T TRR A Q1 UoR & | I8l TR et 45
e # &l %1 =R sl 90 fee
TR B fige <ar B 1 af g4 ve
T I IR Awer &, A M TER TH
e fAeTaR <R &l fUgem 7 foeaer a9g

(el 9) emr?
(A) 15 (B) 40
(C) 45 (D) 30

A tyre has two puncture. The first puncture
alone would have made the tyre flat in 45
minutes, and the second puncture alone
would have done it in 90 minutes. If air
leaks out at a constant rate, then how
long (in minutes) does it take for both the
punctures together to make the tyre flat?

(A) 15 (B) 40
(C) 45 (D) 30
[SSC CGL (Tier-I) 2022]



40. A1 IR TR YR T, IRT B TR

41.

42.

43.

g T AR g gfiay =1 &%, 9§
& /=T D 4 T S| AR =S B IR A
2% 1 gfg BN &, A 35,000 T 3 8 &

fore e &ret (% #) fobem Bm?
(A) 31,800 (B) 2300
(©) 1,500 (D) 2,000

Simple interest on a certain sum is one-
fourth of the sum and the interest rate
percentage per annum is 4 times the
number of years. If the rate of interest
increases by 2%, then what will be the
simple interest (in ) on 35,000 for 3

years?
(A) 1,800 (B) %300
(©) 1,500 (D) 2,000

[SSC CGL (Tier-I) 2022]

a1t 5 5,000 1 IR T 10 st @ forw
AR ST R 39 JHR SYUR & fh
ST Y <X TeeT 2 a81 & foIw 6% wfas,
3rTet 2 a8t & fTU 8% ufaas &R 4 a9
B I 10% afB B 1 1099 B 3 H I8

fopemr =T (X #) Ifvia & ?
(A) 4,400 (B) 33,500
(C) 5,000 (D) 34,200

Anil lent a sum of ¥5,000 on simple
interest for 10 years in such a way that
the rate of interest is 6% per annum for
the first 2 years, 8% per annum for the
next 2 years and 10% per annum beyond
4 years. How much interest (in ) will be
earn at the end of 10 years?
(A) 4,400 (B) 33,500
(C) 35,000 (D) 4,200

[SSC CGL (Tier-I) 2022]

12. =shgfg =TSl

34,620 B I 2 SRMER fxdl # amN
A B SR ¢ | IS =11 &R A1 9
W ghg B arell 10% a1 &, Ty

for (% #) fopaen arm?
(A) 2,420 (B) 22,552
(C) 22,662 (D) 22,750

A sum of 4,620 is to be paid back in 2
equal annual instalments. How much is
each instalment (in ) if the interest is
compounded annually at 10% per annum?
(A) 2,420 (B) 2,552
(C) 2,662 (D) 2,750

[SSC CGL (Tier-I) 2022]

SR = 15 7ot 3R 16 N7l Bl 319+ &1
feA & 99 TP 9% § HA 352,500 S
oy T1fp 18 <ATeT &1 S H S IR1ER XhH
a1 ST | afe 9 a1 w9 & Ioglyg B

44.

45.

AT 10% THgfg SIS <l 8, Al B

Y 3T BIY 9 B A WX fha < 3
) 1 B AN?

(A) 325,500 (B) 324,500

(C) 326,000 (D) 325,000

Joseph deposited a total of ¥52,500 in a
bank in the names of his two daughters
aged 15 years and 16 years in such a
way that they would get equal amounts
when they become 18 years old. If the
bank gives 10% compound interest
compounded annually, then what is the
amount (in ) that Joseph had deposited
in the name of his younger daughter?
(A) 25,500 (B) %24,500

(C) 26,000 (D) %25,000

[SSC CGL (Tier-I) 2022]
TR IR TR 15% a1fes =ameT <) 9 2 9t
G P ©I F THglyg el It Thgle
S AR TR &S & §1 BT 3R
71,944 T | ST IR WX ==Y 8rafyy & forw
10% aififs =1 <% & 9T 8 arel
TIHglyg & (X #) 9a i, afk =

P BT I AT BT B—
(A) 27216 (B) %18,060
(C) 220,500 (D) 18,144

The difference between compound interest
compounded annually and simple interest
on a certain sum at a rate of 15% per
annum for 2 years in 1,944. Find the
compound interest compounded annually
(in%) on the same sum for the same period
at a rate of 10% per annum-—

(A) 27216 (B) Z18,060
(C) 320,500 (D) X18,144
[SSC CGL (Tier-T) 2022]

66,300 BT A 3R B & 919 39 PR
g e & A 8 98 918 U B8m
qrelt IR, 10 @t & 919 B @1 U B
el IR & TRIER 2, Sdid Aol B &%
1M 9 A Ahghg B ATl 10% dTiies
—

(A) A=%35,520, B =3%30,810

(B) A=337,000, B =329,300

(C) A=335,200,B=331,100

(D) A=336,300, B =330,000

Divide 366,300 between A and B in such
a way that the amount that A receives
after 8 years is equal to the amount that

B receives after 10 years with compound
interest being compounded annually at a

rate of 10% per annum-—
(A) A=335,520,B=330,810
(B) A=%37,000, B=329,300

(C) A=%35200, B=331,100
(D) A=336,300, B =%30,000

[SSC CGL (Tier-I) 2022]

46. 262,500 I T TR YAS 8 H1E H Ahgf

B a1l 12% a1 =I5 &% & & 981 §

ISl Thglyg =TSt (X #) e grm?
(A) 16,548 (B) 316,232
(C) T13,428 (D) T18,342

What is the compound interest (in ) on
a sum 0f 362,500 for 2 years in 12% p.a.
if the interest is compounded 8§ monthly?
(A) 16,548 (B) 16,232
(C) 13,428 (D) 18,342

[SSC CGL (Tier-T) 2022]

13. 999, 91 Td g

47. ASIRBI T XA YIAR YT X B

T S1a AT g | TH IR B AR
B D IS, A IR BT A AT B I

T P 6% w2 Al 8 T W qu
forar 1 afe A& arer 32 Tt Jeer 1 a1

B &1 aret fal /eer | S1d Bifvie—
(A) 25 (B) 21
(©) 28 (D) 30

A and B started their journeys from X to
Y and Y to X respectively. After crossing
each other. A and B completed remaining

parts of their journeys in 6% hours and 8

hours, respectively, If the speed of A is 32
km/h, then the speed, in km/h, of B is—

(A) 25 (B) 21
(©) 28 (D) 30
[SSC CGL (Tier-I) 2022]

48. I YT I AP 24 fHHT/Ever & et

| AT &, A1 I8 7T BrRier 7 5 e
@ X ggaa & | I g8 30 foe/mven
B =1 A TP FA 5, AN I PRATAT
4 fire vger ugg IraT B | 98 27 f5dever
&1 T A 7Y HIATTT Tb T H foser
|\ (feel #) o ?

(A) 55 (B) 50

(©) 40 (D) 45

If Raman drives his bike at a speed of
24 km/h he reaches his office 5 minutes
late. If be drives at a speed of 30 km/h,
he reaches his office 4 minute early. How

much time (in minutes) will be take to
reach his office at a speed of 27 km/h—

(A) 55 (B) 50
(C) 40 (D) 45
[SSC CGL (Tier-I) 2022]

TG AT | 5



14. XTS! 99 IR BR A

49.

[~ ueH
3] o AR TeRAl ) Th & foun §
HAY: 80 km/h R 90 km/h & a1 &
= ]88 1 ¢ 3 e A ThgER @1 UR
TR & | I Th ¢ B =18 230 m B,

A T o BT T (m H) T 87
(A) 270 (B) 300
(©) 230 (D) 250

Two trains are running on parallel tracks
in the same direction at the speed of 80
km/h and 90 km/h, respectively. The
trains crossed each other in 3 minutes. If
the length of one train is 230 m, then what
is the length (in m) of the other train?

(A) 270 (B) 300
(C) 230 (D) 250
[SSC CGL (Tier-I) 2022]

15. 919 U9 9RT Q@ g

50.

51.

6 |

U3H

TP Hiexdre o6 o ST | d1et 20
km/h &, RT &1 faodie fam # 24 km 5T
H, U1 B! o= A ST & R S A fu
T T ¥, 30 e 31f¥e &1 aw ol
¥ 1 9f 2= et ® A1 @ °1et § 2 km/h
&1 gig B O B, A S a7 A fawm |
39 km 3R &RT 67 fIuiet f&=m 30 km ST
H T I9T e

(A) 28v¢ 50 fae (B) 390¢ 10 fame
(C) 279U 40 fiFe (D) 3 gUe 40 fiFe

A motorboat whose speed in 20 km/h in
still water takes 30 minutes more to go
24 km upstream that to cover the same
distance downstream. If the speed of the
boat in still water is increased by 2 km/h,
then how much time will it take to go 39
km downstream and 30 km upstream—

(A) 1h50m (B)3h10m
(C) 2h 40m (D) 3h 40 m
[SSC CGL (Tier-I) 2022]
TS 1S 9+ A1 B ReR 57 # 9 km/h
PN AT & TAT AT & | TE 9 TFUS H ERT
Pl 9 H 44 km IR gRT &1 faie fyem
# 35 km B X T IR GHAT T | T8 GRT
§RT B e 7 33 km 3R gRT Y famig
fem 7 28 km &1 g TF XA H fba
Y (TUel /) oI
(A) 7
©) 6

®) 5
D) 8

AGRAWAL SXAMCART

52.

53.

A boatman can row his boat in still water
at a speed of 9 km/h. He can also row 44
km downstream and 35 km upstream in
9 hours. How much time (in hours) will
he take to row 33 km downstream and 28
km upstream?

(A) 7 (B) 5
©) 6 (D) 8

[SSC CGL (Tier-I) 2022]
T g GRT 1 Q2 H 56 km &1 g 3.5

U H T9 IR qa ¢ | ReR o1 7 7
&1 Tt AR GRT Bl A1eT BT I 3 : 1
B9 RT Y Q2 H 41.6 km B 0 T

B ¥ b1 5 (gve] §) en?
(A) 1.5 (B) 1.8
(C) 2.6 (D) 2.1

A boat can cover a distance of 56 km
downstream in 3.5 hours. The ratio of the
boat in still water and the speed of stream
is 3 : 1. How much time (in hours) will
the boat take to cover a distance of 41.6
km downstream?

(A) 15
©) 2.6

(B) 1.8
(D) 2.1
[SSC CGL (Tier-I) 2022]

16. THPI BT faeayor

Fifore RS 30 37T A b TRIET |
40 BT )T U< T 7T 37! P1 SeIral
T | Tr BT BT URIET U BRA B oY T
qFHH 10 3P U B B |

o B 7 o ol & QA-foEE & B
3 YT oy B—

BEI B &

30 3T &1 IAeT ¥ T 37
L0~ 10
9__
8_-

5 10 15 20 25
< 3A® >

(A) 35 B) 17

(©) 32 (D) 25

The following histogram shows the marks
scored by 40 students in a test of 30
marks. A student has to score a minimum
of 10 marks to pass the test—

Marks scored in 30 marks test
10
10T
T s 8
z 87
S 71 l
=
20 5
S 5T
5
£
= 3"2
“ 2
1_
0
5 10 15 20 25 30
<&—Marks —m—™>
(A) 35 (B) 17
(C) 32 (D) 25
[SSC CGL (Tier-I) 2022]
54, foreiferd arg e o1 aremmT B R D
915 AT 7T g7 1 SR & |
€ =1¢ U FE ¥ yifed 99 o arer
Il BF AR el Bb B Fel T&
@ YREd-IR fadRor &1 velRia o= 31

T HWIE H o9 Y Bb B Bl AT =
10500—

WMAR (Saturday) BT S Y AT D] DT
T SR I Y Fideie Bt B AT B
3IU 4 : 3% 1T U Al &b Pl fagd
I I8 3R T didbeic b Pl A5 qed
T15%, 1 UFaR (Saturday) &1 G4 afer
P AR Tlbele BPh B JIDHY IRl Bl
T gt T (% H) faa 27

(A) 10,488 (B) 18,480

(C) 320,000 (D) 14,880

Study the given pie chart and answer the
question that follows—

The pie chart represents the percentage
wise distribution of the total number of
Vanilla cakes and Chocolate cake sold
everyday in a week. The total number of
cakes sold in a week = 10500.



Wednesday
22%

The ratio of the number of Vanilla cakes
sold to the number of Chocolate cakes
sold on Saturday is 4 : 3, the selling price
of one Vanilla cake is I8 and that of one
Chocolate cake is 15, then the total
amount earned (in %) by selling all Vanilla
cakes and chocolate cakes on Saturday is—
(A) 10,488 (B) 18,480

(C) 20,000 (D) 14,880

[SSC CGL (Tier-I) 2022]
55. fAifepd SR UM% 53141 A, B, C, D 3R
E ¥ garell & ga |9 (Al #) 3R

RSIR YT Y1311 1 AT (AR H) BT
ENICIEE
AT A IR E H et et AR e
Jarail 1 gl e &?
Ogar
EIRISFIR 9T gar
/&\14“ 12
Elz" 10.5 Lo 1o
101
= 8 28
8T 7 75
E 6_-
4__
Lgv 2+
O T T T T
A B C D E
RS
2 8
(A) 88— (B) 88—~
1 8
(©) 88— (D) 88—

The following bar graph shows the
total number of youth (in lakhs) and
the number of employed youth (in
lakhs) in 5 states A, B, C, D and E.

What is the percentage of employed youth
in states A and E taken together?

Population (In Lacks)
R N IR = I S
~
~
N

O Youth
B Employed Youth

| 12
10.5 1.5

States

56.

2 8
A) 88— B) 82—
(4) 88> (B) 827

1 8
— D) 88—
21 ®) 21

[SSC CGL (Tier-T) 2022]
T T uTg =TE uia e 9 faenfery &
EIENERC NG E R [ G R G R
3R Tefhal & U BT S ¥ |
g 91e 3R eIl B 3ree B 3R
SIS I8 T Y T BT TR I—

(C) 88

=1 aifere dfe wel @ defal ek

TEH BT AU TR
A 3:4
B 2:3
C 5:3
D 1:2
E 4:1

(A) 4:3 (B)3:4

) 2:1 D)y1:2

The given pie chart shows the percentage
of students in five schools and the table
shows the ratio of boys and girls in each
school.

Study the pie chart and table and answer

the question that follows—

57.

School Girls : Boys
A 3:4
B 2:3
C 5:3
D 1:2
E 4:1

What is the ratio of the number of boys in
school C to the number of girls in school

E?

(A) 4:3 (B)3:4

) 2:1 (D) 1:2

T mo R 5l e & T
e § BIA B 37PT BT YRR BT S
B B ol =T 350 T AR W& B

quite 200 5 |
TTH Bl T BN AR G 91e 37 10
Y B SR < |

BT B G

80 75

70

60 — |ss

50 45

40

30

20 13 15

10
0

20-40 40-60 60-80 80-100 100-120120-140140-160160-180 180-200

Sk

59 B & 3% 100 9 F &, ST Fol
[T, 120 AR SN AP 37 U<l A
Tl B B HA & A B g
(SRMEd & TP T TP Ta) BH &2
(A) 32.7% (B) 43.2%

(C) 36.6% (D) 51.8%

The given histogram represents the marks
of students in Mathematics test of a
certain class. The total number of students

is 350 and the maximum marks of the test
are 200.

Study the graph and answer the question
that follows—

No. of Children

80 75

70

60 — 55

50 45

40

30

20 18 s

10
0

20-40 40-60 60-80 80-100 100-120120-140 140-160 160-180 180-200

Marks

TG AERI | 7



58.

The total number of students whose marks
are less than 100 is what percentage
(correct up to one place of decimal) less
than the total number of students whose
marks are 120 and above?

(A) 32.7% (B) 43.2%
(C) 36.6% (D) 51.8%

[SSC CGL (Tier-I) 2022]
foar T 9x =é 2015 7 [T <enfas=
| (TV) B 997 (B9R #) R °ig
JAT-3TTT HHT A, B, C, D @R E
R 2015 ¥ 99 1Y 1 el & gfrera a1
Y Brar ¥ |

TTE BT AYED ST B IR SHD TR
3T U g9 &1 TR <—

ffifa eehfas e (Tv)
P T (BOR ¥) AR T T BT %

—_
(=3
(=1

90
] 85

o
(=1

704 64 T

60 56 58

0 I R SN } S B L

A B C D E
I T eefas de (Tv)
O s=r 7 Edr de H1%

T C 3R D gRT 99 7T ST /el &l
I AT BT T gfrerd 872 31T SR
AT B TP T TP Fel SIorg |

(A) 90.5% (B) 92.2%

(C) 86.5% (D) 89.1%

The given bar chart represents the number
of Television Sets (TV) manufactured (in
thousands) and the respective percentage

of those TV Sets sold by five different
companies A, B, C, D and E in 2015,

Study the chart carefully and answer the
question that follows—

Number of TV Sets Manufactured

100
90 K 85

9 ®
S 3
~
W
|
|
3

64 64
58

D
(=}

56

(in Thousands) and %)
—_ N W B W
o O O O O

A B C D E
l:| TV Sets Manufactured
|:| % of TV Set sold

(=}

8 |

The average number of TV sets sold by
companies C and D is what percentage of

AGRAWAL SXAMCART

59.

60.

the number of TV sets manufactured by
company E? Express your answer correct
to one place of decimal.

(A) 90.5% (B) 92.2%
(C) 86.5% (D) 89.1%

[SSC CGL (Tier-I) 2022]
TR UTS a1e 1 31eq By AN IqD
1% QY 17 92 B TR S |

7 AT R TR & fftrT wraferat (A
A E) | M IR I8 BHATRAT DI G AT
P S H ST & | HHATRAT B Fot A
=3600

54°

IR BrITerd CH o8 HHATRAT Bl iR
20% & 3R BRIt D ¥ Afden el
1 gfTerd 40% &, T dRITe™d D § Afkel
FHATRAT B T BT, Hraferd CH Afel

HHAIRAT B FET F ST 7T 52
(A) 3:8 B)5:6
©) 3:2 (D) 2:3

Study the given pie chart and answer the
question that follows.

The pie chart shows the breakup of the
total number of employees of a company
working in different offices (A to E), in
degree. The total number of employees
=3600.

E A
72°
126°
D
90° B
c 18
54°

If the percentage of male employees
in office C in 20% and that of female
employees in office D is 40%, then what
is the ratio of the number of female
employees in office D to that of female
employees in office C?

(A) 3:8 (B)5:6
(C) 3:2 (D)2:3

[SSC CGL (Tier-I) 2022]
fifed IR W% 54T A, B, C, D &R
E ¥ garell & gt e (e #) &R
RISTTRYET JaTali & G (Ardi ) 9
ESINIR

I B R D # ga e fHa gan

(eATET #) SRR &7
Qg
B RISTTR 9T gt
~ l4T
:41' 1 12
E 12 10.5 o
L 10+ ¢ LN 9 g
8T 7 :: 75 | [®
) 6T :l :I ::
4t ~ =
B 24 R
0 I. I. l.
A B C D E
KU
(A) 45 (B) 3.25
() 35 (D) 4.25

The following bar graph shows the
total number of youth (in lakhs) and the
number of employed youth (in lakhs) in
5 states A, B, C, D and E.

How many youth (in lakhs) are unemployed
in states B and D taken together?

[ Youth
B Employed Youth
141
—_ 12
2127 Muos L5
Q 10 10
S 10T . 0
£ 87 7 75
8 671
S 4
)
S 2t
0 T T T T
A B C D E
States
(A) 4.5
(B) 3.25
(C) 3.5
(D) 4.25
[SSC CGL (Tier-I) 2022]
61. fa=rifea o =re dafore ad 2019 @R
2020 @ SR T G B fafd= fqum
¥ Ugq dTel BT P FEAT BT ST B |

Q&foTes a9 2019 SR 2020 # BT B
A FIT B 2000 SR 2400 A |
2019 ¥ AT SR HRgex fasm &
TR G BIE1 BT, 2020 H Fral= AT
IR e & ey g1 BE1 |
3ruTd fapa &°?




AT 9 2020
(A) 39:22 (B) 44 : 65
(C) 22:39 (D) 65 : 44

The following pie charts show the
number of students studying in different
departments of an institute during the
academic years 2019 and 2020. The total
number of students was 2000 and 2400,
respectively, in academic years 2019 and
2020.

Computer]
Science
14%

Science
18%

Commerce
25%

Mathematics
21%

Academic year 2019

Computer;
Science
15%

Science
11%

Commerce

Academic year 2020

What is the ratio of Commerce and
Computer Science students taken together
in 2019 to Engineering and Medical
students taken together in 2020—

(A) 39:22 (B) 44 : 65
(C) 22:39 (D) 65 : 44
[SSC CGL (Tier-T) 2022]

62.

63.

64.

o5~ & w9 § T 35 cm ST dec) THT
I B s e R IR RRE @
Broard w9 12 cm 3R 18 cm &1 I
39 SIe) ¥ UM U U IR §9 A
TAT I T, R e & B3 20
cm®, 91 9 H 9 fha a8 (em H)
TH WRA?

(A) 20.50 (B) 18.25

(C) 16.25 (D) 19.95

A 35 cm high bucket in the form of a
frustum is full of water. Radii of its lower
and upper ends are 12 cm and 18 cm,
respectively. If water from this bucket
is poured in a cylindrical drum. whose
base radius is 20 cm, then what will be
the height of water (in cm) in the drum?

(A) 20.50 (B) 18.25
(C) 16.25 (D) 19.95

[SSC CGL (Tier-I) 2022]
7 cm B5a1 916t TH WA 9 7 cm
Brear 3R 10 cm 318 a1t TH NEACY
AT BT IR (em? H) TG BT |

(n:zzwﬁv)—

7

(A) 704 (B) 205
(C) 924 (D) 1078

What is the difference in the volume (in
cm?) of a sphere of radius 7 cm and that
of a cone of radius 7 cm height 10 cm?

22
usemw=— |-

(A) 704 (B) 205
(C) 924 (D) 1078

[SSC CGL (Tier-T) 2022]
32 cm ST ITel U JeTTHR e 3N

A AR 1 12 em B aren ve
ST G1g 1 el s8RRSO & | 9

F I BT WX (em ®) fhae Sux Sam?
(A) 2.25 (B) 27
©) 72 (D) 9

A cylindrical vessel of diameter 32 cm is
partially filled with water. A solid metallic
sphere of radius 12 c¢m is dropped into it.

65.

66.

67.

68.

What will be the increase in the level of
water in the vessel (in cm)?

(A) 2.25 (B) 27
©) 72 (D) 9

[SSC CGL (Tier-T) 2022]
TP DG S T B I T BT 50/m> b
R | TR A A FoT arTd (X H) T
@Tﬁ,ﬂﬁma}m70cm3ﬁ??‘ﬂ°_ﬁ|ﬁ6
me? (A e n:%)

(A) 660 (B) 624

(C) o612 (D) 675

What will be the total cost (in ) of
polishing the curved surface of a wooden
cylinder at rate of 250 per m?, if its
diameter is 70 cm and height is 6 m?

(A) 660 (B) 624
() 612 (D) 675

[SSC CGL (Tier-I) 2022]
AT T 7ot 1 JeerT &3 et x cm? 3R
RIAT y em? ¥, W& y = 14x %, A1 el
P g BT AT (cm W) T BRI
A) 51 (B) 42
(C) 68 (D) 102

Let x cm? be the surface area and y cm? be
the volume of a sphere such that y = 14x,
what is the radius (in cm) of the sphere?

A) 51 (B) 42
(C) 68 (D) 102

[SSC CGL (Tier-I) 2022]
IR TP o qRG dAT BT % T
ghel 616 T Y. AR SHD SR Bl
gTthet 38.5 I Y. ¥ 1 Yo BT 3MIA

(T . H) 1 B (af nzg)
7

(A) 1243
(©) 1078

(B) 1155
(D) 1408
The curved surface area of a right circular
cylinder is 616 cm? and the area of its base

38.5 cm?, What is the volume (in cm?) of
the cylinder?

22
usem =—

(A) 1243 (B) 1155
(C) 1078 (D) 1408

[SSC CGL (Tier-I) 2022]
10 cm YoTI3H a1 Teh B B TP Bl

W 4 cm T H TP AGNCHR TSS Brel
S ¥ | 91 S Bl IO &t ([ #)

S HITY— (nz?W)

TG AIFI | 9



69.

70.

71.

10

1 3
A) 713— B) 675>
(A) 7 (B) 7
4 4
C) 900= D) 1122
© 7 (D) 7

A hemispherical depression of diameter 4
cm is cut out from each face of a cubical
block of sides 10 cm. Find the surface
area of the remaining solid (in cm?).

22
usem =—

1 3
A) T13— B) 675>
(A) 7135 (B) 6752

4 4

(©) 900; (D) 1127

[SSC CGL (Tier-I) 2022]
6 m &Y 3R 35 m AT Th =T 2.5 km/h
P TR W T & 8, g H 9 e e
qret Y BT A el &7

(A) 8570 m? (B) 7580 m?

(C) 8750 m? (D) 7850 m?
A river 6 m deep and 35 m wide is
flowing at the rate of 2.5 km/h the
amount of water that runs into the
sea per minute is :

(A) 8570 m? (B) 7580 m?
(C) 8750 m? (D) 7850 m*

[SSC CGL (Tier-I) 2022]
8 cm oIl & TMBR MER dTel Th T
fORTfrS &1 0T T8 &5l 208 cm?
3| s &1 fodfe 9o ([ #) s
BT —
(A) 8
(©) 10

B) 7

(D)9
[SSC CGL (Tier-I) 2022]
The total surface area of a right pyramid,
with base as a square of side 8 cm. is 208
cm?. What is the slant height (in cm) of
the pyramid?
(A) 8
©) 10

B) 7

(D) 9
[SSC CGL (Tier-I) 2022]
7cmﬁw3ﬁ?7cmﬁwﬁaﬁwaﬁ?ﬁg
PN, TS 7 cm DI BT a1l <1 O el @
1y e 7 om 301 &1 U6 39 ST
I 7T | ST BT I T ATt (JAT

. 22

) e 37 (n = 7W)

(A) 2196 (B) 924

(C) 482 (D) 880

A solid cone of radius 7 cm height 7

cm was melted along with two solid
spheres of radius 7 cm each to form a

| AGRAWAL SXAMCART

72.

solid cylinder of radius 7 cm. What is
the curved surface area (in cm?) of the

cylinder?
(A) 2196 (B) 924
(C) 482 (D) 880
[SSC CGL (Tier-I) 2022]
Th 22.5 m &1 TR TS gl B HIX

TF UG B TS & HR Bl IR
fo=1 & U IR Frael gamaR R”l &
R A 21 m 3R 39 m B, AN T T
@ foTY gRRIMTe U Y U B &bl
(m? ®) G HINTY (FIS & STTqT Bl

ORISR Y SR S I —
(x=E H1fg)
7
2 2
(A) 7877 (B) 2107?
2 6
(©) 2800; (D) 16357

A 22.5 m high tent is in the shape of
a frustum of a cone surmounted by a
hemisphere. If the diameters of the upper
and the lower circular ends of the frustum
are 21 m and 39 m, respectively, then find
the area of the cloth (m m?) used to make
the tent (ignoring the wastage)—

22
usemw=—

2 2

A) 787= B) 2107=

(A) Z B) 7

2 6

C) 2800= D) 1635~

© P (D) 7
[SSC CGL (Tier-T) 2022]

73.

74.

AT x+y+3=0%, W+ 9y +9
P A I BITT—

(A) 18 (B) -36

(©) 36 (D) -18

If x + y + 3 = 0, then find the value of x*
+33 = 9xy +9.

(A) 18 (B) =36
(©) 36 (D) —18
[SSC CGL (Tier-I) 2022]

AT a? + b2+ 2 = 6.25 AR (ab + be +
ca)=0.52%, 1 (a + b + ¢) B 99 G
BN, AR (a+b+c)<0F—

(A) 2.7 (B) 2.8

(C) £2.7 (D) £2.8

75.

76.

71.

78.

79.

If a® + b*> + ¢ = 6.25 and (ab + bc + ca)
= 0.52, what is the value of (a + b + ¢),
If(a+b+c)<0?

(A) -2.7 (B) 2.8
(©) +2.7 (D) 2.8
[SSC CGL (Tier-I) 2022]

AT x+y +2z=18xz=81 3R xy + yz
+2x=90%, W 3+ )3 + 23 + xyz BT AA
w1 8?

(A) 1225 (B) 1250

(©) 1321 (D) 1296
Ifx+y+z=18xyz=8l and xy + yz +
zx = 90, then the value of x> + )3 + 23 +
xyz is.

(A) 1225 (B) 1250
(©) 1321 (D) 1296
[SSC CGL (Tier-1) 2022]

I 24/2x° - 3\/§y3 = (x/Zx —x/gy) (Ax?
— Bxy+ O, T (A2 +B2 + C2) 1 7 1 &7
(A) 16 (B) 19
©) 11 (D) 18
If 2v2x° =343y = (V2x—+3y) (A

— Bxy + Cy?), then the value of (4% + B>
+C?)is.

(A) 16 (B) 19
©) 11 (D) 18
[SSC CGL (Tier-1) 2022]

'ﬂﬁx+y+z=7,xy+yz+zx=8$&',?‘ﬁ
X3+ %3 + 23 — 3xyz BT AM T BRI ?
(A) 125 (B) 175

(C) 150 (D) 200

Ifx+y+z=7xy+yz+zx =28, then
what is the value of x> + 7 + z3 — 3xyz?

(A) 125 (B) 175
(€) 150 (D) 200
[SSC CGL (Tier-I) 2022]

IE B+ b =218qRa+b=2%,
N1—ab 1 9 gagU—
(A) 4 B) 3
©) 6 (D)5
If a® + b3 =218 and a + b =2, then the

value of \/1—gb is.

(A) 4 B) 3
© 6 (D)5
[SSC CGL (Tier-1) 2022]

I a2+ b2 +49¢2 + 18 =2(b + 28¢ — a)
T, A (2a— b+ 7c) BT HH AT~

(A) 4 B) 1

©) s (D) -3



80.

81.

82.

If @> + b> + 49¢> + 18 = 2(b + 28¢ — a),
then give the value of (2a — b + 7¢).

A) 4 (B) 1
(RS (D) -3
[SSC CGL (Tier-I) 2022]
afy «/E—% = B,x20%, a
. 1
=
X
4D BT {1 P
(A) 46 (B) 44
(C) 48 (D) 42
If «/——% = 5, x #0, then what is
s 1
X +7
the value of = +x1)
(A) 46 (B) 44
(C) 48 (D) 42
[SSC CGL (Tier-I) 2022]

afs 6Vop'+242¢ = (Nop+2g)

(SP?+Mg?—Npg) &, dr VS* + M’ +2N?
P GAIHD T FIT 87
(A) 10 (B) 9
©) 8 (D) 12
If 6J6p° + 242¢" = (N6p+2g) (Sp?
+ Mg? — Npg), then the positive value of
(A) 10 (B) 9
(C) 8 (D) 12

[SSC CGL (Tier-T) 2022]
IR a+b+c=6a2+b+2=32,3R
+b+ 3= 1898 M dabc BT AH TART—
A) 9 (B) 8
(©) 16 D) 12
Ifa+b+c=6,a*+b*+c>=32and o’
+ b3+ 3= 189, then the value of 4abc is—
A) 9 (B) 8
(©) 16 (D) 12

[SSC CGL (Tier-I) 2022]

83.

AACD ¥, B¥T: goTT AC 3R AD W &
g BAR E39 U&R & & BE,CD &
MR €1 CD =9 cm, BE = 6 cm, AB
=5cm 3R ED=2 cm B | A9 AE 3R
BC &I o¥aT$ &1 719 (. H) 1 dx—
(A) 3,4 (B) 4,2.5

(C) 4,3 (D) 2.5, 4

84.

85.

86.

In AACD, B and E are two points on side
AC and AD respectively, such that BE is
parallel to CD, CD =9 cm, BE = 6 cm,
AB =5 cm and ED =2 cm. What are the
measures of the lengths (in cm) of AE and
BC?

(A) 3,4
©) 4,3

(B) 4,2.5

(D) 2.5,4
[SSC CGL (Tier-T) 2022]
AABC ¥, o BC T D T& a1 famg &
f ZADC = ZBAC® 3§ CA=12cm,
CD =28 cm, @ CB (cm®) &1 AT J1ST—
(A) 18 (B) 15
(C) 10 (D) 12
In AABC, D is a point on side BC such
that ZADC = ZBAC, If CA= 12 ¢cm. CD
=8 c¢m, then CB (in cm) = ?
(A) 18 (B) 15
(C) 10 (D) 12

[SSC CGL (Tier-I) 2022]

AABC ¥, AB =7 cm, BC = 10 cm, 3R
AC =8 cm?z| 3 AD, ZBAC &l HIT
qHgfaweTd &, WEf D, BC R Rerd v
=g &, @ DC (cm ®) &1 A9 IALT—

11 14
A = (B) =

16 17
C) — D) —
© 3 D) 3
In AABC, AB =7 cm, BC = 10 cm, and
AC =8 cm, IfAD is the angle bisector of
ZBAC, where D is a point on BC, then
DC (incm)=7?

11 14

@ 5 ® 5

© L (D) ?
[SSC CGL (Tier-I) 2022]
e

HfEFETel B TS 7 em AR 4J6 cm
B B3rya & ool o e (em #) fa
7?

@ WD @) 354206
© 22 (D) ¥

In a right-angled triangle, the lengths of
the medians from the vertices of acute
angles are 7 cm and 46 cm. Whatis the

length of the hypotenuse of the triangle
(incm) ?

87.

88.

89.

90.

A) %@ B) 3.5+246
©) 2429 (D) V29

[SSC CGL (Tier-I) 2022]

T FHDHT B3I ABC, B IR FHHIUT B,
3199 & P AC W &+ BD @l T
1T AD=6cm, CD =5 cm, @ AB2 +
BD? &1 91 (cm #) S BIoTT—

(A) 36 (B) 96

(©) 30 (D) 66

In aright triangle ABC, right angled at B,
altitude BD is drawn to the hypotenuse
AC of'the triangle. tAD=6 cm, CD =5
cm, then find the value of AB? + BD? (in
cm)—
(A) 36
(©) 30

(B) 96

(D) 66
[SSC CGL (Tier-I) 2022]
AABC ¥, D, E 3R F %591: BC, CA 3R
AB @ 71 g & 19 BC=25.6 cm, CA
=18.8cm 3R AB=20.4 cm3, d ADEF

BT IRAT (cm ¥) ST PR—
(A) 344 (B) 36.8
(C) 324 (D) 30.6

Ina AABC, D, E and F are the mid-points
of side BC, CA and AB respectively. [f BC
=25.6cm, CA=18.8 cmand AB =20.4
cm, what is the perimeter (in cm) of the
ADEF?

(A) 344
(C) 324

(B) 36.8

(D) 30.6
[SSC CGL (Tier-I) 2022]
1St ABC #, BI0T BAC &1 G4 [AHTSTD
BC ¥ 375 DR 39 UoR fier & f& AB
=10cm, AC=15cm 3R BD=6cm¥|
BC & o1TS (cm ¥) T HIfoiu—
(A) 15 B) 9
©) 17 (D) 11
In triangle ABC, the bisector of angle
BAC meets BC at point D in such a way

that AB=10 cm, AC =15 cm and BD =
6 cm. Find the length of BC (in cm)—

(A) 15 (B) 9
€) 17 (D) 11

[SSC CGL (Tier-I) 2022]
AABC 3R APQR, 31 w#&d F3ysii &
IRATT FHHET: 48.4 cm R 12.1 cm ¥
AABC 3R APQR & &Itall BT STJard
T PR—
A) 4:1
(C) 16:1

(B) 1:16
(D) 1:4

TG AR | 11



The perimeters of two similar AABC
and APQR are 48.4 cm and 12.1 cm,
respectively. What is the ratio of the areas

of AABC and APQR?
(A) 4:1 B)1:16
(©) 16:1 D) 1:4

[SSC CGL (Tier-I) 2022]

91.

92.

93.

TP TgHYd ABCD #, ZC 3R 4D &
FAfgHSd fovg E WX fierd ¥1 R
ZCED=57° 3R LZA=47°%,q LB &l
AT AZT—

(A) 57° (B) 67°

(C) 77° (D) 47°

In a quadrilateral ABCD, the bisectors of

ZC and £D meet at point E. If ZCED =
57° and ZA = 47°, then the measure of

ZBis.

(A) 57° (B) 67°
(©) 77° (D) 47°

[SSC CGL (Tier-1) 2022]
g P9 o 911 I TR el S

T, O 99 ¥ g TR 39 YR e &
f% PT=10.5 cm &1 8% PAB, g A
3R B W g1 3 yfresfed o=al 31 afe
PA=7cm¥, 91 oGl AB & @HTE (cm
) T BR—

(A) 8.45 (B) 7.75

©) 85 (D) 8.75

A tangent is drawn from a point P to
a circle, which meets the circle at T
such that PT = 10.5 cm. A secant PAB
intersects the circle in points A and B. If

PA =7 cm, what is the length (in cm) of
the chord AB?

(A) 845 (B) 7.75
(C) 8.5 (D) 8.75

[SSC CGL (Tier-I) 2022]
1 SIfTSS Tel @Y AC IR BD &1 ¥

FA gt BT HAer: g A, C, B @R D
TR e Rl 8, o9 | ude & B

7 em’®, ST 6 forr o forman man & 1 afe
BD & 7T 48 cm &1 41 AC & <7TS
T 8?

A C

12

| AGRAWAL SXAMCART

94.

95.

96.

(A) 40 cm (B) 30 cm
(C) 48cm (D) 50 cm
Two common tangents AC and BD touch

two equal circles each of radius 7 cm, at
points A, C, B and D, respectively, as
shown in the figure. If the length of BD

is 48 cm, what is the length of AC?
(A) 40 cm (B) 30 cm
(C) 48 cm (D) 50 cm
[SSC CGL (Tier-I) 2022]

TP g &I SR AB SR CD 3 9g1e
M TR fag PR fier €139 AB=6.3
em, BP=4.5cm 3R CD=3.6 em®,

PD & &S (cm ®) fhael 87
(A) 54cm (B) 3.5cm
(C) 48cm (D) 3.1 cm

Chords AB and CD of a circle, when
produced, meet at the point P. FAB = 6.3
cm, BP=4.5 cm and CD = 3.6 cm, then

the length (in cm) of PD is?
(A) 54 cm (B) 3.5cm
(C) 48 cm (D) 3.1 cm
[SSC CGL (Tier-T) 2022]

& TS APl #H, O I B Brg &1 LPOQ
=54°%| ZPRQ &1 7Y (& #) am &7

O
ADY
R
(A) 137 (B) 153
(C) 235 (D) 207

In the given figure, O is the centre of the
circle ZPOQ = 54°, what is the measure

(in degree) of ZPRQ?
(A) 137 (B) 153
(©) 235 (D) 207

[SSC CGL (Tier-T) 2022]
T TSI AMNP U g1 o1 ¥ | I
MN=MP= 16v5 cm, &R NP=32 ¢y
T, T g B e ot FFErE (em #) fha
87
(A) 20

(C) 18

(B) 2045
(D) 185
An isosceles AMNP is inscribed in a

circle. f MN = MP = 16+/5 cm and NP

=32 c¢m, what is the radius (in cm) of the
circle?

97.

98.

(A) 20
©) 18

(B) 205

(D) 185
[SSC CGL (Tier-I) 2022]

7 ey A, P IR Q &1 I & s B
1 g A 3IR B R Ufree =d &1 PA
P M AR I I TR Ig gl 9 C
3R D fo=gall o= firer &1 afe ZCPB =
100°°%, T x &1 AT S BHIfoTg—

(A) 120° (B) 100°
(C) 110° (D) 115°

In the following figure, P and Q are
centres of two circles. The circles are
intersecting at points A and B. PA
produced on both the sides meets the
circle at C and D. If ZCPB = 100°, then
find the value of x—

(A) 120° (B) 100°
() 110° (D) 115°
[SSC CGL (Tier-I) 2022]

frfeRad ey %, MN, O @ arel g
3 g AT TRl Y@ ¢ 1 af BC ¥ ©
AR ZABC = 42° %, @1 /MAB &I 919

S PHITT—
M
A
. N
pAd2” |/ C
6}

(A) 48° (B) 84°
(C) 45° (D) 42°

In the following figure, MN is a tangent
to a circle with centre O at point A. If BC

is a diameter and ZABC = 42°, then find
the measure of ZMAB?



99.

100.

101.

42°

(A) 48°
(C) 45°

(B) 84°
(D) 42°
[SSC CGL (Tier-I) 2022]

T& g &1 oA AB iR CD 91 ©9 9
g PR ufrese o=l &1 ARk AB =7
cm, CD=1cm 3R PD=5cm¥, @ PA

B TS BT 50% (cm W) fba=m Brm?
(A) 5 (B) 3
(©) 10 (D) 8

Chords AB and CD of circle intersect
externally at point P. [fAB =7 cm, CD =
1 cm then what will be 50% of the length

of PA—
(A) 5
(©) 10

(B) 3

(D) 8
[SSC CGL (Tier-I) 2022]
AABC ¥ T&% g1 Schifofa fopam &, i
AB, BC 3R AC &1 Fen: figaii P, Q 3R
R OR X9 BRa1 8 | AfE AB — BC = 4 ¥,
AB — AC =2 391, 3R AABC &1 949

-3 %A@ % @ W) 1 A7 A
PIRTT—
20 10
(A) 3 (B) 3
13 11
© Y D) —

In AABC, A circle is inscribed which
touches AB, BC and AC at point P, Q and
R respectively if AB—BC =4 cm, AB —
AC =2 cm and perimeter of AABC is 32

cm then find the value of % ?

20 10
@ 2 ® =
©) ? o 4
[SSC CGL {Tier-1) 2022]
Fg O 91l T g9 W g A oiR B Rera

&1 PA 3iR PB 9191 fig P g1 &1 el
XY ¥ 1 AfE PA SIR PB 42° TR Ta-g@R &l
IR P &, A LOAB FI AT AT HITT—
(A) 420 (B) 21°
(©) 69° (D) 25°

102.

103.

104.

Points A and B are on a circle with centre
O. PA and PB are tangents to the circle
from an external point P. If PA and PB are
inclined to each other at 42°, then find the
measure of ZOAB.

(A) 42°
(C) 69°

B) 21°

(D) 25°
[SSC CGL (Tier-I) 2022]
Fg O Il TF g & oY JaEs § AB
ST &1 g A9 ABWR A SR B & AL
% f9g C81 AR BWR Erl 718 99 &
et fig D W ferh §19fe ZACB
=116°%, 91 ZADB &1 919 a1 &7
(A) 56° (B) 64°
(C) 48° (D) 52°
AB is a chord in the minor segment of a
circle with centre O. C is a point between
A and B on the minor are AB. The tangents
to the circle at A and B meet at the point

D. If ZACB = 116°, then the measure of
ZADB is

(A) 56°
(C) 48°

(B) 64°

(D) 52°
[SSC CGL (Tier-I) 2022]
AC, &l g &1 =91 & S 99 @I A
gl ¥ Ao o=ar 8 1 7 srefga o
ST ED 399 YR & fob ED, AC & HAMIAR
BB IR arefgd A g9 @1 gRfy IR Rerd
e g &1 LCBE = 75°% | ZCED &1 914
(R4 ) =1 i —
(A) 68° (B) 37°
(©) 75° (D) 15°
AC is the diameter of a circle dividing the
circle into two semicircles. ED is a chord
in one semicircle, such that ED is parallel
to AC. B is a point on the circumference of
the circle in the other semicircle. ZCBE =

75°. What is the measure (in degrees) of
ZCED?

(A) 68°
(C) 75°

(B) 37°

(D) 15°
[SSC CGL (Tier-I) 2022]
PQRS T& T91F TgY ¢, 3IR PQ I &1
N &1 If§ LZRPQ =23°%, a1 ZPSR &1
g faear &°?
(A) 113° (B) 123°
(C) 147° (D) 157°
PQRS is a cyclic quadrilateral and PQ is

a diameter of the circle. If ZRPQ = 23°,
then what is the measure of ZPSR?

(A) 113° (B) 123°
(C) 147° (D) 157°
[SSC CGL (Tier-T) 2022]

105.

106.

107.

108.

2
1=cot®) | o w s Bifvre, af
1-tan6

0°<0<90°8—

(A) cot’0—1 (B) sec®0 + 1

(C) sin®6-1 (D) cos?—1

1—cot6

The value of
1-tan©

2
) —1 when 0° <

0 <90°, is equal to:
(A) cot?’0—1
(C) sin®0 -1

(B) sec?0+ 1
(D) cos?—1

[SSC CGL (Tier-T) 2022]
B (cos®0 + sin®0 — 1)(tan?0 + cot?0 +
2) + 3 BT AT S BTG —
(A) 2 (B) 0
©) -1 D) 1
The expression (cos®® + sin®0 — 1) (tan’0
+ cot?0 + 2) + 3 is equal to:
(A) 2 (B) 0
© -1 D)1
FSTH (cos® + sin®0 — 1)(tan?0 + cot?0 +
2) + 1 %1 A ST HIforg—
(A) 0 B) -1
© 1 (D) -2
The expression (cos®® + sin®0 — 1)(tan’0
+cot?@ +2) + 1 is equal to:
(A) 0 B) -1
© 1 (D) -2

[SSC CGL (Tier-I) 2022]

o X
gfe cos53 =; T, I sec53° + cot 37°

BT T AT 87

" Xty = o ® X+’ -
x y

© N s O vy =
y y

x
If cos53° =; , then sec53° + cot37° is

equal to?

" Xty = o ® X+’ -
b y

© vy’ =+ O v+’ =+
y y

[SSC CGL (Tier-T) 2022]

WS AR | 13



109.

110.

111.

112.

113.

14

IR cot?o + tano, = 2, ST&T 0° < o < 90°
g, AN a B AF G HRTT—

(A) 0° (B) 45°

©) 60° (D) 90°

If cot?o + tano = 2, 0° < o < 90°, then
find the vlaue of a.

(A) 0° (B) 45°
(©) 60° (D) 90°

[SSC CGL (Tier-I) 2022]
Fifpe @iSTe &l A S Iy —

cosec*A(1 — cos*A) — 2cot?A — 1
(A) 1 (B) cosec’A
©) 0 (D) sin?A
Simplify the following expression:
cosec?A(1 — cos*A) — 2cot?A — 1
(A) 1 (B) cosec’A
©) o (D) sin’A

[SSC CGL (Tier-I) 2022]
IfE (2 cosA+ 1) (2cosA—1)=0,0°<
A<90°%, A AP A o HIfog—
(A) 45° (B) 90°
(C) 30° (D) 60°

If(2cosA+1)(2cosA-1)=0,0°<A
<90°, then find the value of A—

(A) 45° (B) 90°
(C) 30° (D) 60°

[SSC CGL (Tier-I) 2022]
AT cosecA = secB &, W&l A IR B g
PIOT &, AT (A + B) BT A1 1 &7
(A) 135° (B) 0°
(C) 90° (D) 45°

If cosecA =secB, where A and B are acute
angles, then what is the value of (A + B)?

(A) 135° (B) 0°
(C) 90° (D) 45°
[SSC CGL (Tier-I) 2022]

AfE 4sin?0 = 3(1 + cosh) T, 0° < O < 90°
&, W (2tand + 4sind — secO) BT AT T
PY—

(A) 415-3 B) 34/15-4
(C) 15V3-4 (D) 153 +3

If 4sin?0 = 3(1 + cos0), 0° < 6 < 90°,
then what is the value of (2tan0 + 4sin6
—secB)?

(A) 415-3 (B) 34/15-4
(C) 15V3-4 (D) 1543 +3

[SSC CGL (Tier-I) 2022]

| AGRAWAL SXAMCART

sin23°co0s67° +sec52°sin38° +
114. co0s23°sin67° + cosec52°cos38°

cosec’20° —tan* 70°

P A qATZT—
(A) 4 (B)3
(©) 0 (D) 2

The value of

sin23°cos67° + sec52°sin 38° +

€0823°sin67° + cosec52°cos38° .
cosec?20° — tan® 70° !

(A) 4
() 0

(B) 3
(D) 2
[SSC CGL (Tier-T) 2022]

115. 5 M 3R N U& SART & MR 4 T

116.

AW ¥ § FHL: 72 m AR 128 m A
R R Rd g & iR 37 Rrgaii A s«
AR & MY BT I1I7 DI TS ¢ | 9
TIRT B SaTE (m ¥) fba= &7

(A) 96 (B) 90

(C) 80 (D) 84

The angle of elevation of the top of
a tall building from the points M and
N at the distances of 72 m and 128 m
respectively from the base of the building
and in the same straight line with it,
are complementary. The height of the

building (in m) is.
(A) 96 (B) 90
(©) 80 (D) 84

[SSC CGL (Tier-T) 2022]

Th $ARA & Y W UReX 11 & | TF
gferd SART H 50 m b T IR SN TR
ST ® | TREX & SR 3R IRex & Ferel
R & =19 D107 HHE: 45° AR 30° F |
UReR B $HaTE (m H) BT 200% fba &7
W) S6-B) B T6-B)

75 25
© S6-3) © T6-3)
A poster is on top of a building A person
is standing on the ground at a distance
of 50 m from the building. The angles of
elevation to the top of the poster and of

the poster are 45° and 30°, respectively.

117.

1.

2.

What is 200% of the height (in m) of the
poster?

@A) %(3—6) ®) ?(3—6)

73—5(3—6) (D)

© 26-4)
[SSC CGL (Tier-I) 2022
A 3R B U8 & o & TR® Rerd a1
g &, e dra At 1 50 Aex T3
fRgall 9 U< &1 A8 & ST DIV HHI:
60° 3R 30°F 1T BT ST BT 40% (HeX
) fas 2?
(A) 10§3

©) 53

(B) 25V3
(D) 1543

A and B are two points on the same side

of a ground, 50 meters apart. The angles
of elevation of these points to the top of
atree are 60° and 30°, respectively. What
is 40% of the height of the tree (in m)?

(A) 1043 (B) 25V3
©) 53 (D) 153
[SSC CGL (Tier-I) 2022

1. G ygfd

(C) 9m2365n48 &1 88 | favrew a8
@ fw 119 8 9 guia: fasrsy e
=1fen |
8 &1 favreTar &1 few—afs e
B T A 37p 8 ¥ fawey & 99
ol e 8 W TS Bl |
<. nT A 237G W, 248, 8 IO
favsg g e n=2
11 @1 favrsaar & faw—ae &
o o & 91 &1 AT 9 A= B
HH UM S A H SRR T BT
Ifee a1 11 3 favrey B9 =nfee |

9+2+6+2+8)—(m+3+5+4)
=11
27-m—-12=11
m=15-11
m=4

s

WRATINR,
m?2 x n? =42 x22
=16x4=64
(A) 48 k2048 p 6 BT 99 & favsg B
B foT 119 93 favrsw & anfee |



91 favToTar &1 v —afe awe &
[ STl BT AT 9 ¥ sy ® I«
ol e 9 9 fawrs Bl |
S 4+8+k+2+0+4+8+P+6
=32+k+P=36
k+P=4 ()
11 @1 f9rsaar &1 e —afe e
& fIws FmHT & AE1 B AR 9 99
AT B AT Bl SR Y ST 11
3 Ty BT Ty
4+k+0+8+6)—(8+2+4—P)
=0

k—P=4 (i)
. (1) T T (if) DT e W%,
k=0
P=4

j !
kxP=0x4=0 .(iii)

2.999.0d 90,

3. (B) 156, 181 3R 331 &1 fawfSTd ==
Reyfdy # 6 9T X2 TG TAS FE=T
X 6 EFSHT BT |
156 — 6 = 150
181-6 =175
331 -6 =225
(150,175,225 BT HF)=5%x5=25
150=2x3x5x5
175=5%x5x7
225=3%x3%x5%x5
T 25 I8 TS--TS T & Ty
156, 181 3} 331 &I faaford B
R Y Ry § I9%at 6 377 & |
4. (A) f g,
(13,a), (13, b), (13, c) BT HAA. = 13
T BT U1 il & b a, b 3R

¢ B W HH B S 13 ¥ fawrs g
g a=26
b =139
c=152
(~gmHEfmEa>b>c)
o atc _ 26+52
b 39
=2
5. (A) (6,9, 15) P A HT.
2 16,9,15
3 13,9,15
31,35
5L
RN

2x3x3%x5=90
AAfHT 100 v ol ot | 81
37 3NTSe &A1 = 100 — 90 = 10

6. (D) (6,12, 16) &I A X T.

3 400 500 B T TR
=48 x 9 =432
=48 x 10 =480

=2x2x2x2x3

2 |6 12,16
2 [3.68
2 3,34
PR EER
ENEER
RN

- 43

37d: U INTHeT

=432 + 480

=912

7. (B) &1 M4 & fb

TEell AT X RN AT =H X . x

a89.

[CRIRS

3 D WY SIS g BT el
ART 75 B SR YUEHA 1350 2 |

9,

axb=15%x90=1350

at+tb=75

a =45
b =30

37 45 I8 T TAT B |

8. (C) 703 +20% — 90°

= 343000 + 8000 — 729000

= 351000 — 729000

= 378000
9. (A) 5[ 1=% |~ (5= x) -1 (20— x)
- (A) 5 200
=0.08
M_(s_x)_£+i ~0.08
5 200 200
L S
10 ' 200
X gos+ L
200 10
X 0.8+1
200 10
X8
20
x=18x20
x =36

48.3%[(4.95)" +4.95%13.25]
[(12.55)° — (5.65)°]x19.8

10. (C)

48.3x4.95[4.95%13.25]
T (12.55+5.65)(12.55-5.65)x19.8

48.3%x4.95x18.2
18.2%6.9%19.8

7x4.95
19.8

= 285 95

19.8

1. (D) 25 (3+4P) = 120f5-3x8=6
(75 +100P) = 60 -3 x 8 =6
75 _100P

+——-24 =6
60 60

75 + 100P — 1440 = 360

100P = 1725
p= 172 p_ sl
100 4
282 3 oras-09
8 |8 (8 8
12. (D)

4l osx02:tofs04(2 2L
6 5 4 8

313 21p48-09
3 18 8
=
25 25%02+104>
6
2—1]0f4.8—09
- 10,0253
6 10 8
§><4.8—09
-5
308
12-09  03x240 36
= St
158 158 79
240
13. (A)
9+20f(©+6x4—2)+|Le Ll _]3, 0
7 5725 |87 16
24:16-10436+(5+204-1)
9+ 0f (9+6x2)+| L+ 1016
7 5725 16

24+6+36+(5+5-1)




14.

9+ 9+|:é—1:|
7

4+4
1+[£]
7
8
2
1-=
_7 5, 1_5
8§ 78 56
4%+3%x1%+3%x(6%0ﬂ5%)
(B) 2 5 2
eI x=
363
1310 9 15 (25 16
A ST
= 2 6 2
37573
B,1095 4,20
33515 3
- 24
45
13 32
373
B!
45
45 45
> —X—
3724
225 _ .l
8 8

4, 34

15.(D) ®FT39&R A, BT C¥

16.

16

ﬂ ’

B=1A

3

B-2c

4
W ia-3c
3 4
A_?

C 4
A=9
C=4
B=3

A e &1 eid = 112
A AR Bl IANT = 112 % 3
=336
9 +4+ 3 Unit =336
1 Unit =336

9 BIS G- =3 x 21 =63
(B) & 9T & T,
AT = — T

| AGRAWAL SXAMCART

=31 x 501 =%15531

1 18 919 & faela & HA1g
=495 x 18 =38910

1 179 31 91 T iy & oS
=15 x 505 = 7575

31 17 AR 18 91E 91 iy & 418

= (8910 + 7575) — 15531
=16485 - 15531 =%954

T b ey & 17 91 &1 18 =
I

oI ey & 18 &1 HHTS = x + 350
x+x+50=954
2x =904
x =452
31 faea & 18 A/l & BT =452
+50 =3502
17. (A) &F 9T & fh—
Bl BT Gl AN
aire = Waﬁww

=925 x 31 =%28675

T YN f9erY & wger 20 faAT B

HHTS = 20 x 881 =317620

SR eifem 20 &1 A v foeRy &

TS =20 x 915 =318300

I 12 AR | 20 AR O XN

&R & F1E = (17620 + 18300)
— 28675

=35920 — 28675 = T7245

o ardine v oy = 120

=3805

S. 34T Td FHTUTA
18. (D) WMT A9 B &1 AIRTS 3T HHT: 11x
T 13xE TSP T 9x T 11x T |
RIS & = 11x: 13x
g =-9x:—1lx
gad = 2x : 2x
YN,
2x = 4,000
x =2,000
MY bl <X = 13x— 11x
=2x
=2 x2,000
=4,000
T AT B A BT =R 4,000
T

19. (A) YRR,
IS 8, 20 T JAAARN p & A

8:20::20:p

~20%20
8
p =50
Il 3, 5, 24 H1 IJAFIRN ¢ & <A
3:5::24:¢q

_ 24x%5

3
q =40

T (2p+q) = (2 x 100 + 40)
=140

6. ufcreTeren

20. (A) A % Gl IS x T FA ASbATl

y%l
20 Ix
100 5
15 3y
= X_:_
100 20
1—x+3—y=90
520
4x + 3y = 1800 (D)
- ax 30 4
100 5
ST B aTell TTSihal B v
3 1Ty
100 20
4 _17y _
5 20
16x — 17y = 1400 ..(ii)
THNHROT (1) 9 (ii) BT TeH W,

4 % 4x+ 3y = 1800 x 4
16x — 17y = 1400
29y = 5800
y =200
x =300

et faendif (x + y) =200 + 300
=500

21. (D) 9T {3 oz A1el &l D = 100 3PS
qwgw'\f B HIA B S AN

—100><T—3os-cms‘
e A1 DI A DRI = 100 + 30
=130 3P13
e AT B DA 25% M TR,
. aﬁ)wa%a%ﬂazlooﬂoo
X — 7125525é
100

38
. T I S AN = 125><W
=47.5 SH1S



31dT: el HIed I g brad = 125+

47.5=172.55F%
B A D Gd § 1S gfaed
172.5-130
= 20 70100

172.5
_ a5
172.5

22. (D) gfg ¥ UBel Yrel B oo = 382
qf & a1 el 1 e = 82x 10

x100 =24.6%

100
=86.1
Il 3 BT SH! B AT BT AAD
g = ﬂx&
15
= 16,646
gfeg B TE AT BN AT BT RS
Ep) = wx%.l
15
=17,478.1
RS 9 4§ gfhg = 17,478.3 - 16,646
=832.3=3832

23. (D) F& HHAIRAT DI T=AT = 400
o8 HHATRAT BN G = 400><§
=250
W%wmmﬁﬁw:mw%

=150
87.5
FeT PR SHant = 400x——
100
=350
92
Frafid goy FErt = 250xm
=230
Frafia wfen HFRaRT = 350 — 230
=120
= @xloo
150

=80%
24. (B) Py & anuR A ghg = 40%
a0% =22~ 2
100 5
A1 gleg & U8l 1Yt &1 SeR = 5
1 ghg P a1 PIYS B MER =

5+2=17
Pryst & ePea 9 gfg = 60%
_ 60 _3
100 5

A glg & Usel BrYSt &1 &

=571 9fg & a1 Byt & eaha
=5+3=8
A ghg & U8el $aT8 [ 7 ghg B
< AR [, B
l><5><l =5
2
/=2
—X7xI =8
16
11=7
A A glg =1, 1
16 2
=_"_92=2=
7 7

30 100k +170k
100 100
= k x k%30 =270k
k%30 =270
k=9
AT kBT AN 9T |
26. (D) faar &,
C ~1 foyarer <1 g <IfRT = 8,000
A1 B e & et [if

= 8,000XM

=4,800
AERT e &t € et iy

(100+30)
100

= 4,800 62,40

I D gRT e &1 1 fd o S
8,000 + 4,800 + 6,240
3

= L9020 _ 1r6.66 = 6347
- N B g 9 B E i @
AT 6347 8 |

7. ATH—2IH T4 981

27. (A) e g,
AT B® BT A B AU =4: 5
HMT A9 B & $Y Hed P 4x @
S8l

G A Bl fdpd g = axx 110

100
=4.4x
120
9 B B1 fIT o = Sxx—
100
=06x
9 Ad BB a0 o B =R
=6x—4.4x
=1.6x
1.6x =480
x =300
G AT B D P Yod Bl AR
=5x—4x=1Ix
=1x300=300

28. (C) foa1 &, #51 &1 3 & = 4,600
BT T Y Jo = 1,800
A TN G B BA BT [
= 4,600 + 1,800
= 6,400
' 110
ENEEIREER 4,600x@

=5,060
106
I 1 A e = 1800

=1,908
AT A F BT B fapd o
=5,060 + 1,908
= 6,968
He A = 6,968 — 6,400
=568

568
DA gfqerg = ——x100
Bet < 6,400

7
8

BA A4 g 8% BT |

=38

29. (A) T a%g P 4 100x B |
. 100xx125
AT G T AT A = ——

=125x

xy
FHTE BT = x4 y— -2
= Y7700

T B = 20+ 25— 20X 2

—40%
ﬂ ’
40
125xx 2 _,
o0 ~ 0
x =50
TEG BT P T = 100x

=100 x 50 =500
G BT P & 5002 |

TG AT | 17



30. (B) |1 9% b1 el fahd g = 100

31. (D) <iftear

32. (C)

18 |

A I BT BT A = x
ﬂgﬁﬁﬂ@ﬂo‘r70%=100x%

=170
o =7 faed e = 70
TR,
T 4T o IR g% P 991 W
(100-10)
XXl =70
100
_ 700
9
A faehd e IR avg 1 o1H
700 _ 200

=100——
9 9

X

A i = @XIOO

700
9

200 %
7

. oY yfaerd 230% BT |

AT 99T 28.57% BT |

1A
WE - 10 15

T > 16 40

TIfthal BT /&1 SRR B TR,
10x8=80 15x8=120
16x5=80 40 x5=200
80 Il 1 By H& = 120
80 <Ifthal 1 faghar Hea = 200

Ay gferd = %_Olzoxloo

&xloo
120
66.67%

. T IR 66.67% BT

8. e

P goTr = 1,50,000
Q&I TSl = 4,50,000
1 9% 918 F& 14 = 1,60,000

ol x T8y = 1H
Y 3R SRR B 1 AT BT ST
T8I BT S ST I Yol P Il & |
S BT A = 1,50,000 : 4,50,000

=1:3

el o § Pl R

=1, 60,000><l
4

=40,000
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P &1 fielt g & = 70,000

P &1 YT 9a = 70,000 — 40,000
=30,000

. P 9T 99+ 230,000 8 |

33. (B) g = Yol x q7F =714
O AT B A9 HHY: 5xd 9x &
YR,
B® o —
36,000 x 12 = 9x
x = 48,000
AT AT = 5x =5 x 48,000
=2,40,000
A AT Sl =y
y % 8 =2,40,000
y =30,000
- A 330,000 <131 faer &1 o |
34. (A) g = ol x qHg
AR,
X 1 &1 = 40,000 x 6 + 60,000 X 6
=6,00,000
Y &1 &9 = 38,000 x 6 + 30,000 x 6
=4,08,000
7 1 & = 30,000 x 6 + 45,000 x 6
=4,50,000
Gl &1 = 6,00,000 + 4,08,000 +
4,50,000
= 1,45,8000
f&=n & et @1 e = 38,880
1,45,8000 — 38,880
38,880
~ 1,45.8000
38,880
— 4,08,000Xx ——>———
Yt 1,45,8000
= 10880
Y A 210,880 BRI

35.(B) T=101 U9 Srgura o fafer gy
80% 90%
87%
3x : Tx
BT 87% Yg ST HieT BT A0
=T7x+3x=10x
ECIES
87% Yg 3T HIed = 20 .
10x =20
x =27,
. 80% g IFRAT ©reT T A
=3x=3x2=67.

10. 99 3R B

36. (C) AT 3MEH T Agd @ BRISTHA
HHI: M T BRI
(4M + 6B) x 8 = (6M + 4B) x 7
32M + 48B = 42M + 28B
20B = 10M
1

2

— (4M + 6B) x 8

=4x2+6)x8

=112

5 ST qAT 4 ASDHI Bl BRIEHA!
=(5M +4B)
=5x2+4=14

5 3YTEHT T 4 TTSDT Bl PR BRA |

WW:%ZSQW
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B

s 5 ITEH TAT 4 TTsH I 8 o
A BRI QR BRA A |

37. (D) P q2 Q &I Ao HH: 1080
T 1140 8 | F9IGX) BT PRIGTHA B

3FUT  Sfel S B |
A PT QH Brierar = 1080 : 1140
=3:4
AR,
Bl BRI =20 x 3 =60
Pd QERT U 1Y B H=A § &
— _ 60 _ 60
3+4 7
_ g2
7
5 PT QP TP Ay fadr Hrf
e 3 g§ o o |

38. (B) A9 BRI foran a1 w7 HHel: 12
T 7 18T &1
129 18 & LCM =36
A1 6 B BRI = 36 unit

Aa?rao‘refrw=§ =
12
BH%WW:% =2
A+ BEgR 41 # for &t
=4x(3+2)=20
9 FRf =36-20=16
A+ CgRT 4139 ¥ foam 9w &t

=16
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A+C =4
C=4-3
c=1



C & Priemar = 1
50

Bl BRI BT 50% 9T = 36Xﬁ

=18
C ERT 31l ST B B 50% AT

Wﬁf{mw:$:18ﬁﬂ

- Cgry foram mar w9g 18 e B

39. (D) IM1 YFeR] BT SRR Ugd™ |
I A 45 e 9 90 e B
459 90 BT LCM = 90
TRIX B BT YRUT &1 = 90

H%ﬁﬁﬁ?ﬁww:%:z
ww&mmm:%:l

40. (A) ¥ ot <IRT 4x ® T,
BGICKURIINES 4x><% =lx

HET FHT = ¢
a9 <X =4¢
i ’

YA X X XFHT
NATERUT IS = ‘1(7[—

100
dxXxtx4t
100

42 =25

=1lx

2=

E
4
5

t:_

2
TR = 4t
5

4x— =10%
2

MR & H 2% & glg BN & a1

75,000 TR 3 99 & foR) ATEROT =TT
5000%x12x3

= "7 —1.800

100
<SR &1 = 1,800

AT X R XTHI

41. (A) TR TS =
100

5,000x (6x2+8x2+6x10)  5,000%x88
100 100
= 4,400
- 10T & 3 H =TT 34,400 BRI |

12. =shgf <ol

qIffp 3 = 10%

10% = L
10

42. (C)

R fope
HET 929 99 10 % 11 unit = 110

11 x 11 =121 Tl &l DHAd a_1ER
B TR
& 9 100 unit
f&a1 %, ge1 JIRT = 4,620
110 + 100 — 4,620
210 unit — 4,620
1 unit — 22

AP et = 121 x 22
=2,662
. I fored o HrHa 32,662 B |

43. (D) § IRT = 352,500
T BIS 98 A 7R = C
g 931 91 B IR = B

JEAER,
BIS 9¢1 DI e fses

Il
os]
N
—
+
_
_
SE
;/N

2
_p(LL
10
2
_ gL
10
10
1

0
N
sl=
WO —ro
[

52,500

10+11
=25,000

- BIA 98 B A W 325,000 711

ST B A

44. (D) ¥ FA MRM = 100x
T=10%

TJglg T <X,
fysre = 100x 1+£ ]
100

2
= 100xx 2
20
=132.25x

THghg T = 132.25x — 100x
=32.25x

C& M o1 Nfey = %10

100xx15%2
100

ATERUT IS =

=30x
THIfeg TSI T AR TS B <X

=32.25x - 30x
=2.25x
2.25x = 1944
x =864
Hel <IRT = 100x = 100 x 864
= 86,400
JeAIER,
EEE| ig ST =
10 Y
= 86,400%| 1+— | —86,400
100

121
= 86,400 x — — 86,400 =
100 18,144

. IPglg AT 18,144 BT |
45. (D) 8 99 IIE A B YT IR

8
= AX 1+£
100
8
— Ax[ o
10

1099 9715 B 1 9T <0

10
= Bx 1+£
100

10
= BXx 1
10
j ’
8 10
AX E = BXx E
10 10
A= BxiZ
100
A1
B 100
AT B A RN = 121 + 100
= 66,300
221 = 66,300
1 — 300

A IR =121 x 300=36,300
B &1 1131 = 100 x 300=30,000

s AT B &I IR HHT: 36,300 9
30,0008 |

46. (B) faar g,
AL = 62,500
w=12%

TG AT | 19



T =2 99
g 299 & foTu =TT 8 A8 | AT
BN,
24

W:§%:3
24
a‘\fzashﬁﬁvmf:?:S%

Tehgleg TS

3
_ 62,500%[ 142 ] —62.500
100

3
= 62,500% 27 —-62,500
25

=16,232
=~ 2981 4 T =kt =TSt 316,232
BRI |

13. 5999, 911 Td g

S _ |k
W:SZZ T

1

47. (C)

& S =91 qA T =9
s,
AERT I & A9 A B GRT B

B gRT AP & WY HET B IR B
H oI Y = § TS
AT T =32

7
8
7x32
8

=28 {1 /gvuer
. B Tt 28 T /e B |
48. (C) ¥,

0 =

YEGER, G B TN A W

{a: 24><30>(5+4
30-24

B =

1, x AT,

T T T B SR
Al Bl IR

20 | AGRAWAL SXAMCART

_24x30 o
6
= 1080 km
AN 27 km/h &1 =TT F FAT H AW
= 2280 4o
27
. BRI Yga H 9 40 §UC & |

14. YS! 99 IR R A

Tfad g3

49. (A) f g,

T ST 9 3T Bl 80 km/h e
90 km/h T & fa=m & <7 &6 et
Iret = 90 — 80 = 10 km/hr

10 km/hr = IOX% m/s

= & m/sec
18

I8 =3 fiFe
=3 x 60 =180 sec.
HAT GEY o B e x AW B

230 +x = 2><180
18

230 +x =500
x=270m

<. O ¢ &I g 270 AL B |
15. 9119 U9 9RT W FHi=rd

U

50. (B) AT &1RT & 911 = x km/hr

o ¥, Hiexdie & o Siet | 91
=20 km/hr
j ’
24 24 30
20—x 20+x 60
480+ 24x — (480 —-24x) |
(20-x)(20+x) 2

48x 1

(20-x)(20+x) 2

48x x 2= (20 —x) (20 + x)

96x = 400 — 20x + 20x — x?
=x2+96x—400=0

A Pl B A W,
x=-100 + 4 T¥q & &

YRT Bl x = 4 1A = 4 km/hr

T bl = H 2 kmv/hr 1 gl BT ST TR
gRT &1 f3em § 39 km 9 # &R W

- ¥ 3
2+4 26

gRT 7 fIma f2m & 30 km <9 &

=3gue 10 e
. B 99 390¢ 10 fAee SR |
51. (A) AT 9RT &7 @1 = w km/hr
19 & g1t ReR 9a § =9 km/h

TRATIAR,

44 35
+ =9
94w 9—w

396 — 44w +315+ 35w
O+wO-w) 2

—Ow + 711 =729 — In?
M2 —9w—18=0
. B EA PRI R w=+2,- 13

TG T8 B |

gRT & ATl w =2

YR,

gRT Bl fa=m # 33 km g § @M
W=% =390

. IR 1 FIuie faem # 38 km ge
framw:% —4gue

B T =3 +4 =7
o ORT B e | 33 km T ©IRT B
famRra faem 7 28 km o™ # 0T
TG =7 U BT |
52. (C) A1 19 & 91t =B
TAT GRT O a6l = W
JEIIER,

gRT B faen § Aey Il =B + W
_ 56
35
B+W=16
R g,

g T ERT <l 2 T SFFART =3 : 1
HTHH%WZ?XZ» =12 km/hr

wa%am:%xl =4 km/hr

&1RT T T2 H 41.6 km G T B
41.6

12+4

W AT =




_ 46 =2.690C
16

2 41.6 S TG BRA H 1 HHI 2.6
HUS B |

16. FH®I BT faeayor

53. (D) BA 37 = 30

et Sl B A-RiEr = 30x§

=20 3®H
20 3% YTl B qTel B Bl =T
R & AR =2+8+7+8
=25
<. B 3T B QN LTS 81 u AT
BN B T 258 |
54. (B) 9T # o9 Y ol b = 10,500
TSR,
WMAR BT I T FoT Db

= 10,500><E
100

= 1,680
AR 1 S 7TQ I B g aldeic
Geh I AR B ST =42 3

afer & B =T = 1680><;

=960
Tlheic BH Bl AT = 1680><%

=720
T el B Bl fahd Hed = I8
TS AleIC b I [y e =15
B XM =960 x 8 + 720 x 15
=7,680 + 10,800
= 18,480
-, TMEAR &I Al & g dideic
BH TIPY Al Bl T KA Mg
18,480 % |
55. (A) e &,
T AY B G = 12
T AW ISR 1<t gt = 10.5
g E W §el a1 = 9
I E ¥ ISHIR 9Tt gaT = 8
I ATNMEA FAJAT =12+9
=21

T AT E W ISR 9Tt ga
=10.5+8
=185

SR 91T garaii &1 yfererd

= ﬁ><100
21

pa
21

. T AT E 3 ISR 9red Jarait
E2R SN 88% 5l

56. (B) W1 Gt faenfafay &t ww=r = 100x
el CH gt faeneff = IOOxX%

=24x

Thel CH oSl d Al Bl U
=5:3
Thel C ¥ oTed! B q&1

= 24x><2 =9x
8

el E 3 g faenedt

= 100x><£ =15x
100

T E 3 eTedal qeI Tl Bl ae
PT AU =4 : 1
el E ¥ ersfedl & |

= 15><i = 12x
5

<. el CH oTedhi @
el EH eTefddl ol AR b SIguTd
=0x:12x=3:4
57. (B) faan &,
100 | B DT dTel BTAT B [T
=10+ 18+32+45=105
120 3R S 31feres 37ehi dTel BT
BB =75+ 55+ 40+ 15=185

IITTF JRT = —1851;5105><100

=43.2%
. 3MaTIH FAP = 43.2% & |

58. (A) HF1 C g1 (AT & e = 70
HHAI C ERT 99 7 Y 9e

= 70)(2
100

Hr D gRT fAfa a9 =85

FHFO D ERT 99 T ST Je
 85%56
100

FHH CI DRI §9 T A4l 9T
_ 70><82+85><56
100 100
=105

H CT DERT S T Y e Bl
IR

105

2

T E g1 i & ve = 58

105

58
_ 105x100
116
=90.5%
- B C T D ERT 9 7T ST el
B T =T, HF E R AT
ST ST BT IR BT 90.5% B |
59. (B) FHHARAT &1 Gt T = 3600
YRATINR,
360° — 3600

1o 3900 _ g
360

PRI C ¥ HHaTRAT H Fe
=540
=54 x 10 = 540
FrRITTT CH Jo8 HHATRAT B T

= 540><£ =108
100

PRI D H HHATRAT D1 AT
=90°
=90 x 10 =900
P D H e Bl bl w1

= 9OO><ﬂ =360
100

BRI CH Al HHAIRAT 6 e
=540 - 108 = 432
AITIH I = 360 : 432
=5:6
- B D H AR SHaRAl
D T B pRem CH gkl
HHATRET T FRAT H I 5: 63 |
60. (C) XI5 B # ot ar =8

5T B ¥ RISHRYET gl = 7

ETeHD AfEEE | 21



I BH SRISFIR gar =8 — 7= 1
59 D H gem ga1 = 10
N D ¥ AR JaT = 7.5
T D H SRR gar =2.5
I BT DA Gl IRIOFR Jar
=1+25=35

- g Bd D ¥ gl IRISFR Jar
3.5%1

61. (D) I 91¢ & AR e av 2019
A PR A9 & BT B AT =
2000x%:280

Yerfores 99 2019 F aiforsyr & wrE
. 25
D =T = 2000Xﬁ =500

37T RAetfores ¥ 2019 H PR fa=t
3R Iy & BIF B HA T =
280 + 500 = 780

erfres a9 2020 F SSNHIRT B BT

D =T = 2000><£ =280
100

AR Ferfored IF 2020 F fafesa &

B & =T = 2400><£ =240
100

arq: et a9 2020 F oAl

3R fafdrea & o1 BT 6w =

288 + 240 = 528

FUT ST = 780 : 528 = 65 : 44

62. (D) g,
WEQWZ% cm
fo~p 1 faer IR S0 RRT &
roamd wHer: = 12cm @ 18cm
P—T~Teb Bl ST

= %TC[RZ +r7 +RrIXA

3 B YA BRA TR

fo5=Tp BT 3

= %X%[ISZ +12> +18x12]x35

l><2—72[324+144+216]><35

=25080
Yo B YR 31 = 20 cm
PA—e BT AT = v
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YRATINR,

2—72>< 20> xh =25080

h=1995cm
- S A I B ST 19.95 cm 2R |

63. (C) Jai— el I I = %n’f

N = farean

. 1 )
WWWZgnrh

el r = Prear
h =%ar

et &1 341 =7 cm
4 22

el & 3MITT = —x—=x7°
37
=1437.33
3 B 341 = 7 cm
g B HAE = 10 cm
TR BT IR = %x%xfxlo
=513.33
. 7Tl T T & SITAT BT AR
=1437.33 - 33 - 513.33
=924
64. (D) el & 51991 = 12 cm

4
el Bl AT = 5”3

el BT 3T = %xnxl?

=2304n
Y BT AN = 32 cm
e 1 BT = 16 cm
A —eTT BT IR =
YT Bl AIAT =1 x 162 x h

YRATINR,
7 x 162 x h =2304n
oM
256

. 31T T 61 R 9 cm $HUR ST |
65. (A) F— I B THYS &% = 277k
EE r =
h =418
g,
et B Foroa = ? —35cm

=0.35m

Wiﬁ%\y_ﬁlﬁ:6cm
A Bl IPYSS &FBA

= 2x%x0.35x6

=132 m?
Rl NI = 13.2 x 50 =660
66. (B) F— el &1 T8T &3t = 42

Tha'ao‘rsma—rr=§nr3

STet r = e
EEEIGRINS
y = l4x
E@F’J&}ﬂ'ﬁb_cf=x
HITT =y
e =4 < 14
3
r=42
. e A BT =42 cm B
67. (C) F— 91 D 3MYR BT &5hel = 12
ST Bl I JSIT &hel = 27k
EEREZICIPERES
STet r =trsm
h =g
YEIISR,
YR &FHe T2 = 38.5

2xrz =38.5
7

2 =1225

r=3.5
IS TR &5l = 2mrh = 616
2><27—2><3.5><h =616

h=28
YT BT 3T

= %X(3.5)2X28 =1078

. I H AT 1078 BRI |

68. (B) F— Y S Bl T &bl =B
BT A SFAHA + 3TEITIeT BT THYORT
&TheT — eIt BT SR &Thet
YR,
B B KA TORI &b = 642

=6x 102 =600

NS P IHIOR &FAHA = 2772

YIS Yol & ITet BT 9% Joord
&P = 6 x 212

ST BT IR EThe = 72




T P TP Beld B JHMNA Bl
YR &FBA = 6 x 2

Y BT BT IO &5

=6 x 102+ 6 x 22 — 612

= 600+6><2><%><22 —6><%><22

= 675E
7

. 319 B 1 g el 675%

BT |
69. (C) T BT &=heA = TexTs x AISTS
=6x35=210 m?
Tqg ¥ IR arel g &1 /e =4
BT G x TEG Bl &
10007’

60min
- wgg A 9l e iR arer o
P AT 8750 m3 ¥ |
70. (D) faxifrs @1 |vgul gsdr arrpet

= l><4al+a2
2

=210m> x2.5% =8750m’

T8l q = TDR AR B STl
[ = TR %arg
[ERIRS
TORTAS o1 Q0T 31 &bt = 208 cm?
FATHR SR BT ol = 8 cm
TRATINR,

%X4al+a2 =208

%x4><8><l+64 =208

16 /=208 — 64
16 /=144

l=ﬂ =9cm
16

- foifae &1 fades S5a1s 9 em B |
71. (B) O ¥ BT AT = %nrzh

1 22 1078
= —XZEXTXTXT = —— I 3
3 7 3

31 31 Tl BT S = 2><§Tcr3
= 2><£><2><7><7><7
3 7

_ 8624 s
3

3 TG AR AT BT Gl IR =
1078 8624 9702
sty TS =3234301 3

T BT T = wh

UTIIINR, 3234 = %x7><7><h

h=213.

B S & & ST BT IHYC &5he
=2nrh

= 2x%><7><7 =924 341

72. (B) ¥ & fo=1d & 3918
h=225-10.5=12cm

22.5 9

IS

19.5 3791 -

o A fRie o ()
=y +R-r)

= {122 +(19.5-10.5)°
= J144+81 = 225

=15cm

31 BT IHYSS &% =t (R +7) [

=1 (19.5+10.5)x 15
=nx30x15
=450T

RN BT THYC &AhA = 2172
=21 x10.5 x 10.5
=220.5m

. T BT THYSS &2hed =g Bl

IHYS &Fel + S B IO

&ahe

=1 (450 +220.5)
T X 670.5

2><670.5
7

_ 1AL 5002
7 7

73. (D) x+y+3=0
x+ty=-3
M SR T B W,
() =(3)
X+ 3+ 3xy (x +y) =27
X3+ +3xy (-3)=-27
x>+ —xy=-27
qg, 3+ - 9xy +9=-27+9
=-18
A3+ —9xy + 9B AN 18 B |

74 (A)F— (@ +b+c)P =+ +c2+
2 (ab + bc + ca)

e,
a*+ b +c* =625
ab+ bc+ca=0.52
qd, (a +b +c)?=625+2 %052
(a+b+c)P=1729
a+b+c=%27
B (a+b+c)<0Tl
nWMa+b+rce=-27
75. (D) fean &,
x+y+z=18
xyz = 81
xy +yz+zx =90
(x+y+z)=18
M &R T FA W)
(x+y+z2=18
x24+y2+ 2242 (xy +yz +2x)=324
X2+ +22=2x90=324
X2 +12 4+ 22 =324 180 =144
M, 3+ P -3z =ty +
z) (¥ + 3% + 22— xp—yz —zx)
X3 +33 + 22— 3xyz=18 x (144 -90)
X+ +23-3x81=972
X+ +22=972+243
=1215
qq, ¥ + 33 + 2 +xyz= 1215+ 81
=1296
s+ 4+ 2+ xyz B HE 1296
BT |
76. (B) A— x° -1 = (x +y) (& —xy +37)
foar 5—
225 =33y = (V2x—+3y)

(AX* _Bxy + C)?)

TG AR | 23



ST B G IRA W,
A=2,B=.6,C=3
(A2+B2+C)=4+6+9)
o (A2+ B2+ CH) @I AF 19 BT
77. (B) & o1 ¥ &,
¥y +2 - 3xz=(a+b+c)(d
+b*+c2—ab - be - ca)
e,
xty+z=7
xy+yz+zx =8
xty+z=7
T AR T A W
(x+y+z? =7
x> +32+22+2 (ab + bc + ca) =49
X2 +12+22+2x8=49
x> +12+22=49-16=33
¥+ +2-3xz=7x(33-8)

=7%x25=175
st + 3+ 2 - 3xyz e " 175
BT
78. (C) & s & %

a*+ b= (a+b)(a*>+b*>—ab)
a*+b>=(a +b) ((a+b)*>—3ab)
e, &+ b3 =218
atb=2
218 =2 (2% - 3ab)
218 =4 -3ab
2
—3ab =109 -4
—-105

ab = ——
3

ab =-35
Ji—ab _N1-(35) _36
NJl—ab _
s Nl—ab BT HE 63|

79. (B) a*+b?+49¢2+ 18 =2(b +28¢c —a)
a?+b*+49c2 + 18 =2b + 56¢ — 2a
(@*+2a+1)+(b*>—2b+ 1)+ (492
—56¢+16)=0
(@+ 1)+ (b -172+Tc-47>=0
at+1=0,b-1=0,7c—4=0

a=-1
b=+1
4
c=2
-
WRa-b+7c)= 2><(—1)—1+7><g

=2-1+4=+]
o Qa—b+7¢) B AT +1 |
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1
80. (A) \/—_ﬁ -5
IHT TRE BN I B TR,
x+l—2 =5
X
L ..(0)
X
.1
X'+
X g A
(24 T er g
TRA W)
G
X +7 X — x +73
X X X ..
= ...(i1)
(x2+1)><l x+l

1 1 1
=x +3+3x><[x+J
X X x

x+i BT AN T4 (1) F XS W,
X

7= x3+%+3><7
X

O =343-21
X
=322
(x+] CIN (x3+3) BT AF
X X
. (1) 7 X W,
_ 322
7
=46

81. (C) 6v6p’ +22¢" = (6p++29)
(Sp* + Mg* — Npq)
-y =(r +3) (42— xp)
Vop'+2v2¢° = (op++29)
(Sp* + Mg* — Npgq)
(6p) +(2g) = Nop+29)
(6p +24° —12pg)
2T TR ) e R W,
S=6
M=2

N =412
A VS?+M? +2N?

_ Jearraxdiny
~ J36+4+24
=64 =8
S* +M? +2N? I gIHSD HIH
8%

82. D)fEWME, a+b+c=6
a+bh+c?=32
@+b+3 =189

(a+b+c) =6
a*+ b+ 2+ 2xy +yz +2x) =36
32+2 (xy +yz+zx)=36
Xy +tyz+zx=2
& 9 ¢ 1,

@+ b+ c-3abc=(a+b+c)(a?
+ b%+ 2 —(ab — bc — ca)

| B 99 @[ W)
189 —3abc = 6 x (32 -2)
189 — 3abc = 180
3abc =9
abc =3
4abc =3 x4=12
<. dabc B AE 12%

83. (B) 7‘A
5cm
¥
B E
2 cm
C 9 cm D
fear g, CD =9 cm
AB =5cm
ED =2cm
BE 3R CD ¥ M=} & |
AABE d ACD ST %Y € gHfey
378 G DIUT G oISl HT I
TH B |
AB _ AE _ BE
AC AD CD
HHAT CB =xcm
qar AE =ycm
AB _ BE
AC CD



9y =6y + 12
3y=12
y=4cm
3d: AE T BC &1 @FTE HH9T: 4 cm
g25cmB|
84. (A)fer®, CA=12cm
CD =8 cm

ZADC = ZBAC
A

B D C
ZACD = ZACB (W91 3)
@9 ACAB =ACDA

ca _cp
CB CA
12 _ 8
CB 12
CB = 12x12
8
=18 cm

S~ CB®I AN 18 cm Tl

85. (C)fewr®, AB=7cm
BC=10cm
AC =8cm
A
7 8
B D C
«—10—>
ZA FHfEYSTS & 1 S U AB
g AC %1 BT 981 31g9rd BD 9 DC
BT BT |
T, pc =10 g
8+7

o)
S
w‘a

1

W

- DC &I 519 ?cm%l

86. (C) AABCH

A
D
7
B E C
AE @ CD f3ya &t wiftared ¥ |

faa ¥, AE=7,DC = 46

?IIET,BE=EC=%BC

e, AD=DB=%AB

AABE#
AE? = AB? + BE?2
49 = AB? +%BC2 ()
ABCD #
CD? = DB? + B(2
96 = %ABZ +BC? . (ii)
. (1) T (1) DT S W)
145 = % (AB? + BC?)

AB?+BC? =29 x4 =116
AB? + BC? = AC?

@, AC?2=116

AC = 229 cm
o ACH I 229 cm ¥ |

87. B) A
6
D
5

B C
AABD ¥ USUTIRY Y9Y ¥,

AB? =BD? + 62

BD?=AB2-36 ..(i)

BC? =BD? + 52

BD? =BC2-25 ..(ii)

I (i) T . (i) D T FA R,
AB?-36 =BC?-25
AB2+BC? =11 ..(iii)
AABCH,
AC? = AB? + B(C?
AB2+BC? =112
+AB2+BC2 =121 .(iv)
T (iii) T T (iv) BT ST TR
AB2+BC? =121
+AB2-BC2=11

2AB? =132
AB? =66
AB2 T A9 9. (i) § e W,
BD? =66 —36
BD? =30
s AB2+BD? =66 + 30
=96
88. (D) A
E E
B D C
B S & o,
+BC+
FE+FD +ED - ABTBCFAC

2

_ 25.6+18.8+20.4
2

= % =324

Ifdh7 ADEF &1 9R¥Y = FE + FD
+ED
319 ADEF &1 URHMT = 32.4 391

(x4+i2]><l )(;3><i
X x ¥

(xz+l)><l XX—
X

(x+i] BT BT B W,

(]

5, 1 1 1
=X +—5+3xX—| x+—
x x x

x+l BT A T A I ),
X

72 = x3+%+3><7
X
1

x3

3

X +— =343 -21=322

TS A | 25



(2] () o
X X

T H X W,
32
7
89. (A) A
10 15
B=%D 9 ¢
s, AB=10cm
AC=15cm
BD =6 cm
ST P01 RIS 9 & g1
AB _ AC
BD DC
10_15
6 DC
pe=%6 _gom
BC & oW g =6+ 9 cm
=15cm
- BCP oW1 15 cm B |
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English Comprehension

The manager said, “Could you please /
confirm me whether you / have received
all the items / that you had ordered?”

1. The following sentence has been divided 5. The following sentence has been split

into parts. One of them may contain an
eITor.

Select the part that contains the error
from the given options. If you don't
find any error, mark ‘No error’ as your
answer.

The fisheries sector / have grown
significantly / in the last one year.

(A) have grown significantly
(B) in the last one year
(C) No error
(D) The fisheries sector
[SSC CGL (Tier-1) 2022]

. Select the option that will improve the
underlined part of the given sentence. In
case no improvement is needed, select
“No improvement required.

Many a man has succumbed to his
temptations.

(A) three breaks-in
(B) this month
(C) in our society
(D) There have been
[SSC CGL (Tier-1) 2022]

into four segments. Identify the segment
that contains a grammatical error.

My older brother, / which you’ll / meet
later, / is a dentist.

(A) My older brother
(B) which you’ll
(C) meet later
(D) is a dentist
[SSC CGL (Tier-1) 2022]

. The following sentence has been split

into four segments. Identify the segment
that contains a grammatical error.

We thought / there was a good idea / to
wear snow boots / before we stepped
out.

(A) We thought
(B) before we stepped out

(C) to wear snow boots

(C) I find that (D) very easily
[SSC CGL (Tier-1) 2022]

. The following sentence has been split

into four segments. Identify the segment
that contains a grammatical error.

(A) The manager said, “Could you
please

(B) that you had ordered
(C) have received all the items
(D) confirm me whether you
[SSC CGL (Tier-1) 2022]

3. Verb & Modals

10. Select the most appropriate option that

can substitute the underlined segment in
the given sentence. If there is no need
to substitute it, select ‘No substitution
required'.

The dress may pleasantly be delivered
to us at the earliest.

(A) No substitution required

(B) may kindly

(C) might kindly

(D) must pleasantly

A) men has :
&) (D) there was a good idea [SSC CGL (Tier-1) 2022]
?S; jn Zleftllata"e [SSC CGL (Tier-1) 2022] 11. The following sentence .has been split
) into four segments. Identify the segment

(D) No improvement required - The following sentence has been that contains a grammatical error.

[SSC CGL (Tier-1) 2022 divided into parts. One of them contains Will you / care for / a cup of / hot

. . an error. Select the part that contains the coffee?
. The following sentence has been split f he oi . ’

into four segments. Identify the segment error from the given options. (A) care for (B) hot coffee
that contains a grammatical error. You and I / have submitted / your work (C) Will you (D) a cup of
The crew / of sailors / were not / on time. [SSC CGL (Tier-1) 2022]
perturbed / by the strong gale. (A) on time (B) your work 12. The following sentence has been split
(A) of sailors (C) have submitted (D) You and I into four segments. Iden.tify the segment
(B) by the strong gale [SSC CGL (Tier-1) 2022) that contains ? grammatical error.
(C) The crew Paul was / bited by a dog / when he /
(D) were not perturbed was a child.

[SSC CGL (Tier-1) 2022] . The following sentence has been split (A) when he
The following sentence has been split into four segments. Identify the segment (B) bited by a dog
into four segments. Identify the segment that contains a grammatical error. (C) Paul was
that contains a grammatical error. I find that / I get myself tired / very (D) was a child
There have been / three breaks-in / in easily / these days. [SSC CGL (Tier-1) 2022]
our society / this month. (A) these days (B) 1 get myselftired ~ 13. Select the most appropriate option to fill

in the blank.

Harish’s voice
rooms of their new house.

(A) relapsed (B) reverted
(C) resounded (D) resorted
[SSC CGL (Tier-1) 2022]

in the empty

English Comprehension | 1



14.

15.

Select the most appropriate option to fill
in the blank.

Now after the COVID-19 situation has

, Bangladesh has started
air travel services for other countries
including India.

(A) improved (B) progressed
(C) advanced (D) enriched
[SSC CGL (Tier-1) 2022]

Select the most appropriate option to fill
in the blank.

All the guests were shocked at his
laughter.

(A) Unrecognised
(B) Unrestrained
(C) Unresolved
(D) Unremarkable
[SSC CGL (Tier-1) 2022]

4. Adjective

16.

17.

18.

2]

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

The recently hike / in the price of
petroleum products / will hit / household
budgets severely.

(A) will hit

(B) The recently hike

(C) household budgets severely

(D) in the price of petroleum products
[SSC CGL (Tier-1) 2022]

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

My house / is more / spacious than / my
sister.

(A) is more
(B) My house
(C) my sister
(D) spacious than
[SSC CGL (Tier-1) 2022]
The following sentence has been divided

into parts. One of them may contain an
eITor.

Select the part that contains the error
from the given options. If you don't
find any error, mark ‘No error’ as your
answer.

There is a very little time / for them to
prepare / for the show.

(A) for them to prepare
(B) for the show
(C) No error
(D) There is a very little time
[SSC CGL (Tier-1) 2022]

AGRAWAL =XAMCART

19.

20.

21.

22.

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

If he wants / farther information, / send
him / to me.

(A) farther information
(B) to me
(C) If he wants
(D) send him

[SSC CGL (Tier-1) 2022]
Select the most appropriate option to
substitute the underlined segment in
the given sentence. If there is no need
to substitute it, select ‘No substitution
required'.
This is one of the most remarkable
cases of all others.
(A) No substitution required
(B) ofall
(C) of other all
(D) all of others

[SSC CGL (Tier-1) 2022]
Select the option that will improve the
underlined part of the given sentence. In
case no improvement is needed, select
“No improvement required'.

There are a bit nice shops in the town
centre.

(A) a bit nicer
(B) far more nicer
(C) No improvement required
(D) far nicer

[SSC CGL (Tier-1) 2022]
The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.
Every / curious child / want to / rip open
a toy.
(A) curious child
(C) Every

(B) rip open a toy
(D) want to
[SSC CGL (Tier-1) 2022]

5.Adverb

23.

24.

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

No sooner did / the child start crying /
then the mother / hugged him.

(A) No sooner did
(B) then the mother
(C) hugged him
(D) the child start crying
[SSC CGL (Tier-1) 2022]

The following sentence has been
divided into parts. One of them contains
an error.

25.

26.

27.

Select the part that contains the error
from the given options.

This question / is quite too / simple for
me / to answer

(A) to answer
(B) is quite too
(C) This question
(D) simple for me
[SSC CGL (Tier-1) 2022]

Select the most appropriate option to fill
in the blank.

You will find it difficult but
later you will get used to wearing a
mask.

(A) on first
(C) firstly

(B) at first

(D) at the first
[SSC CGL (Tier-1) 2022]
The following sentence has been divided

into parts. One of them may contain an
error.

Select the part that contains the error
from the given options. If you don't
find any error, mark ‘No error’ as your
answer.
This hall is / badly to need / of repair.
(A) badly to need
(B) No error
(C) This hall is
(D) of repair

[SSC CGL (Tier-1) 2022]
The following sentence has been divided

into parts. One of them may contain an
error.

Select the part that contains the error
from the given options. If you don't
find any error, mark ‘No error’ as your
answer.
Get up from your place / slow, and /
turn around!
(A) slow and
(B) turn around
(C) No error
(D) Get up from your place

[SSC CGL (Tier-1) 2022]

6. Preposition

28.

Select the most appropriate option to
substitute the underlined segment in
the given sentence. If there is no need
to substitute it, select ‘No substitution
required'. The old lady needed love and
care beyond money.
(A) besides
(B) No substitution required
(C) beside
(D) beneath

[SSC CGL (Tier-1) 2022]



29.

30.

31.

32.

33.

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.
She performed / the task / at the best / of
her ability.
(A) the task
(B) of her ability
(C) She performed
(D) at the best

[SSC CGL (Tier-1) 2022]

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

I was angry / on myself / for making /
such a silly mistake.

(A) such a silly mistake
(B) for making
(C) on myself
(D) I was angry

[SSC CGL (Tier-1) 2022]
The following sentence has been
split into segments. One of them may
contain an error. Identify the segment
that contains a grammatical error. If you

don’t find any error, mark ‘No error’ as
your answer.

He was formerly / a doctor of / the
corporate hospital.

(A) No error
(B) He was formerly
(C) the corporate hospital
(D) a doctor of
[SSC CGL (Tier-1) 2022]

Select the option that will improve the
underlined part of the given sentence. In
case no improvement is needed, select
“No improvement'.

You are so far the bright student in the
class.

(A) No improvement
(B) by so far the brighter
(C) by far the brightest
(D) so far most bright
[SSC CGL (Tier-1) 2022]
The following sentence has been divided

into parts. One of them may contain an
erTor.

Select the part that contains the error
from the given options. If you don't
find any error, mark ‘No error’ as your
answer.

Vivek should be excited / on the
promotion / he’s got.

(A) No error
(B) on the promotion
(C) Vivek should be excited
(D) he's got
[SSC CGL (Tier-1) 2022]

34.

35.

36.

38.

The following sentence has been
divided into parts. One of them contains
an error. Select the part that contains the
error from the given options.

He conceded / a very crucial / point at /

his opponent.

(A) a very crucial (B) point at

(C) his opponent (D) He conceded
[SSC CGL (Tier-1) 2022]

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

She persisted / to doing / what she
wanted / despite opposition.

(A) to doing
(B) what she wanted
(C) She persisted
(D) despite opposition
[SSC CGL (Tier-1) 2022]

Select the option that will improve the
underlined part of the given sentence. In
case no improvement is needed, select
“No improvement required'.

I have been wondering at taking skating
as a hobby.

(A) on taking to
(B) about taking up
(C) to take up
(D) No improvement required
[SSC CGL (Tier-1) 2022]

7. Conjunction

37.

Select the most appropriate option that
can substitute the underlined segment in
the given sentence. If there is no need
to substitute it, select ‘No substitution
required'.

In spite of my niece’s dog Casper is
very mischievous, he is lovable.

(A) Nevertheless my niece
(B) No substitution required
(C) Although my niece’s
(D) However my nieces
[SSC CGL (Tier-1) 2022]

8. Noun-Finite Verb (Infinitive,

Gerund & Participle)

Select the most appropriate option to fill
in the blank.

The increasing concerns about climate
change point to the need for enhanced
efforts towards sustained
growth.

(A) achieving
(C) achieved

(B) to achieve
(D) achieve
[SSC CGL (Tier-1) 2022]

39.

40.

41.

42.

43.

44.

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

It is not worth / having the trouble / to
write to him / as he never replies.

(A) as he never replies
(B) to write to him
(C) 1t is not worth
(D) having the trouble
[SSC CGL (Tier-1) 2022]

Select the most appropriate option to fill
in the blank.
Are you looking forward
Nikhil again?
(A) seeing (B) to see
(C) to be seeing (D) to seeing

[SSC CGL (Tier-1) 2022]

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

Several minutes passed / before she
returned / carry milk / for the dog.

(A) carry milk
(B) Several minutes passed
(C) for the dog
(D) before she returned
[SSC CGL (Tier-1) 2022]

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

Holiday homework / are essential to
keeping / students busy / during the
vacation.

(A) during the vacation

(B) Holiday homework

(C) are essential to keeping
(D) students busy

[SSC CGL (Tier-1) 2022]

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

Shall / we go / for walking / in the park?

(A) Shall (B) in the park

(C) we go (D) for walking
[SSC CGL (Tier-1) 2022]

Select the option that will improve the
underlined part of the given sentence. In
case no improvement is needed, select
“No improvement required'.

I don’t fancy to go out this evening.
(A) to going outside
(B) No improvement required
(C) to be going out
(D) going out
[SSC CGL (Tier-1) 2022]
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45.

The following sentence has been divided
into parts. One of them may contain an
error.
Select the part that contains the error
from the given options. If you don't
find any error, mark ‘No error’ as your
answer.
Take care/ for keep/ your valuables
safely.
(A) Take care
(B) your valuables safely
(C) for keep
(D) No error

[SSC CGL (Tier-1) 2022]

9. Article

46.

47.

The following sentence has been
divided into parts. One of them may
contain a grammatical error. Select the
part that contains the error from the
given options. If you don't find any
error, mark ‘No error’ as your answer.

Antique diamond necklace / was stolen
/ from the museum.

(A) was stolen
(B) from the museum
(C) Antique diamond necklace
(D) No error
[SSC CGL (Tier-1) 2022]

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

This is / too grave sin / to be / pardoned.
(A) pardoned
(B) too grave sin
(C) This is
(D) to be
[SSC CGL (Tier-1) 2022]

10. Time And Tense

48.

49.

41

Select the most appropriate option that
can substitute the underlined segment in
the given sentence. If there is no need
to substitute it, select ‘No substitution
required'.

The authorities are assured the people
that they will look into the matter.

(A) has assured
(B) have assured
(C) have been assured
(D) No substitution required
[SSC CGL (Tier-1) 2022]

Select the most appropriate option that
can substitute the underlined segment in
the given sentence. If there is no need
to substitute it, select ‘No substitution
required'.
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50.

Which movie have you watched on
television when I called you?

(A) No substitution required
(B) were you watching
(C) did you watched
(D) are you watching
[SSC CGL (Tier-1) 2022]

Select the option that will improve the
underlined part of the given sentence. In
case no improvement is needed, select
“No improvement required'.

Since setting up, the charity has raised a
million dollars.

(A) Since being set up
(B) From setting up
(C) Since setting
(D) No improvement required
[SSC CGL (Tier-1) 2022]

. Identify the segment in the sentence

which contains the grammatical error.

Smita lived in this house since she was
five years old.

(A) five years old
(B) in this house
(C) since she was
(D) Smita lived
[SSC CGL (Tier-1) 2022]

52.

Select the option that expresses the
given sentence in active voice.

Hatred can be overcome by love.
(A) Love can overcome hatred.
(B) Love has overcome hatred.
(C) Love is overcoming hatred.
(D) Love can overcame hatred.
[SSC CGL (Tier-1) 2022]

12. Narration

53.

54.

Select the option that expresses the

given sentence in direct speech.

He asked me when I had booked the

flight tickets.

(A) He said to me, “When do you book
the flight tickets?”

(B) He said to me, “When did you book
the flight tickets?”

(C) He said to me, “When are you
booking the flight tickets?”

(D) He said to me, “When you had
book the flight tickets?”

[SSC CGL (Tier-1) 2022]

Select the option that expresses the
given sentence in reported speech.

Mother said, “Abhinav slipped while
trying to board a bus.”

5S.

56.

57.

58.

(A) Mother told that Abhinav slipped
while trying to board a bus.

(B) Mother said that Abhinav slipped
while trying to board a bus.
(C) Mother says that Abhinav slipped
while trying to board a bus.
(D) Mother said that Abhinav had
slipped while trying to board a bus.
[SSC CGL (Tier-1) 2022]
Select the option that expresses the
given sentence in indirect speech.

She said to her, “Will you ready my suit
tomorrow?”

(A) She asked her if she would ready
her suit tomorrow.

(B) She asked her if she would ready
her suit the next day.

(C) She asked her that if she would
ready her suit tomorrow

(D) She said her if she would ready her
suit tomorrow.

[SSC CGL (Tier-1) 2022]

Select the option that expresses the

given sentence in indirect speech.

Ajay says, “There is going to be a

snowfall.”

(A) Ajay says that there was going to be
a snowfall.

(B) Ajay says that there is going to be a
snowfall.

(C) Ajay said that there is going to be a
snowfall.

(D) Ajay said that there was going to be
a snowfall.

[SSC CGL (Tier-1) 2022]

Select the option that expresses the

given sentence in direct speech.

The guard told the children to stay away

from the flower beds.

(A) The guard says to the children,
“Stay away from the flower beds.”

(B) The guard told to the children,
“Stay away from the flower beds.”

(C) The guard said, “Children, should
you stay away from the flower
beds.”

(D) The guard said, “Children, stay
away from the flower beds.”

[SSC CGL (Tier-1) 2022]
Select the option that expresses the
given sentence in indirect speech.

She said to him, “May God shower His
choicest blessings on you!

(A) She wished that God may shower
His choicest blessings on you.



59.

60.

(B) She wished that may God shower
your choicest blessings on Him.

(C) She wished that God might shower
His choicest blessings on you.

(D) She wished that God might shower
His choicest blessings on him

[SSC CGL (Tier-1) 2022]

Select the option that expresses the

given sentence in indirect speech.

She said to me, “I saw this old man long

ago.”

(A) She said to me that she had seen
that old man long ago.

(B) She told me that she had seen that
old man long before.

(C) She said me that she had seen this
old man long ago.

(D) She told to me that she had seen
that old man long before.

[SSC CGL (Tier-1) 2022]
Select the option that expresses the
given sentence in reported speech.
Mother said to her, “I expected a better
result from you.”
(A) Mother told her that she had
expected a better result from her.
(B) Mother told her that she expected a
better result from her.
(C) Mother told her that she was
expecting a better result from you.
(D) Mother told her that she expected a
better result from you.
[SSC CGL (Tier-1) 2022]

13. Sentence Improvement

61.

62.

Select the option that will improve the
underlined part of the given sentence. In
case no improvement is needed, select
“No improvement required'.

My father was always ordering about
my sister.
(A) ordering on my sister
(B) ordering my sister about
(C) No improvement required
(D) giving order for my sister
[SSC CGL (Tier-1) 2022]

Select the option that will improve the
underlined part of the given sentence. In
case no improvement is needed, select
“No improvement required” .

You are welcome to partake this light
refreshment.

(A) No improvement required
(B) to partake of
(C) for partaking
(D) in partaken
[SSC CGL (Tier-1) 2022]

63.

64.

Select the option that will improve the
underlined part of the given sentence. In
case no improvement is needed, select
“No improvement'.

We had to undergo a great many
difficulties.

(A) No improvement
(B) a great many difficulty
(C) great many difficulties
(D) much great difficulties

[SSC CGL (Tier-1) 2022]
Select the most appropriate option to
substitute the underlined segment in
the given sentence. If there is no need
to substitute it, select ‘No substitution
required'.
If Vinay has the book why he is not
giving you?
(A) he not giving it to you
(B) is he not giving it to you
(C) he is not gave to you
(D) No substitution required

[SSC CGL (Tier-1) 2022]

14. Synonyms

65.

66.

67.

68.

69.

Select the most appropriate synonym of
the given word.

Ostentatious
(A) showy (B) tasteful
(C) sudden (D) quick

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Retaliate
(A) Clap (B) React
(C) Facilitate (D) Rotate

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Imminent
(A) Unyielding (B) Ignorant
(C) Impending (D) Distant
[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Paranoid

(A) Convinced (B) Trustful

(C) Committed (D) Distrustful
[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

FLUKE
(A) Policy (B) Plan
(C) Chance (D) Contract

[SSC CGL (Tier-1) 2022]

70.

71.

72.

73.

74.

75.

76.

7.

78.

Select the most appropriate synonym of
the given word.

Inscrutable

(A) Incredible (B) Indelible

(C) Inevitable (D) Inexplicable
[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Lacuna
(A) Misfortune (B) Languor
(C) Apathy (D) Hiatus

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Solemn
(A) Dignified
(C) Excited

(B) Trivial
(D) Frivolous
[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Disrupt
(A) Breach (B) Injure
(C) Arrange (D) Organise

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Trendy
(A) Common
(C) Popular

(B) Foreign
(D) Familiar
[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Squawk
(A) Suggest (B) Explore
(C) Scream (D) Connote

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Threshold
(A) stairs (B) exit
(C) window (D) doorway

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Perjury
(A) Melancholy  (B) Frankness
(C) Penury (D) Falsehood

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Commute
(A) Consume (B) Convert
(C) Condense (D) Conserve
[SSC CGL (Tier-1) 2022]
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79.

80.

81.

82.

83.

84.

85.

86.

87.
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Select the most appropriate synonym of
the given word.

Monotonous
(A) Boring
(C) Eventful

(B) Compulsory
(D) Momentous
[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Tranquil
(A) Calm (B) Alert
(C) Aware (D) Dazed

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Saucy
(A) Tasty (B) Polite
(C) Smooth (D) Cheeky

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Robust
(A) sturdy (B) small
(C) round (D) weak

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Bare
(A) Earthly (B) Hidden
(C) Holy (D) Basic

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Ravenous
(A) Starved (B) Satiated
(C) Full (D) Content

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Imbue
(A) Remove (B) Clear
(C) Instil (D) Deprive

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Livid
(A) Closed (B) Clear
(C) Pale (D) Furious

[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Retaliate
(A) Clap (B) Rotate
(C) Facilitate (D) React

[SSC CGL (Tier-1) 2022]
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88.

89.

90.

91.

Select the most appropriate synonym of
the given word.

Sagacious

(A) Precious (B) Delicious

(C) Malicious (D) Judicious
[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Audacity
(A) Daring
(C) Caution

(B) Meekness
(D) Kindness
[SSC CGL (Tier-1) 2022]

Select the most appropriate synonym of
the given word.

Avert
(A) Permit (B) Confront
(C) Face (D) Prevent

[SSC CGL (Tier-1) 2022]
Select the most appropriate synonym of
the given word.

Succulent
(A) Decent (B) Coarse
(C) Juicy (D) Foul

[SSC CGL (Tier-1) 2022]

15. Antonyms

92.

93.

94.

9s.

96.

Select the most appropriate ANTONYM
of the given word.

Camaraderie

(A) Dislike (B) Amity

(C) Companionship (D) Friendship
[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM

of the given word.

Appal
(A) Alarm (B) Assure
(C) Amaze (D) Astound

[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Prey
(A) Predator (B) Sufferer
(C) Loot (D) Game

[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Clench
(A) Tighten (B) Clasp
(C) Hold (D) Relax

[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Ransack
(A) Seize (B) Raid
(C) Protect (D) Pilfer

[SSC CGL (Tier-1) 2022]

97.

98.

99.

100.

101.

102.

103.

104.

105.

Select the most appropriate ANTONYM
of the given word.

Exonerate
(A) Exempt (B) Absolve
(C) Engage (D) Acquit

[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Obscure
(A) Blurred (B) Apparent
(C) Cloudy (D) Veiled

[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Devious
(A) Dishonest (B) Crooked
(C) Crafty (D) Sincere

[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Constrict
(A) Smile (B) Choke
(C) Stretch (D) Cramp

[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Taut
(A) Tight (B) Solid
(C) Strong (D) Slack

[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Famished
(A) Hesitant
(C) Starved

(B) Volatile
(D) Satiated
[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Brittle
(A) Frail
(C) Durable

(B) Fragile
(D) Crumbling
[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Pliable
(A) Even (B) Smooth
(C) Bending (D) Rigid

[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Frenzy
(A) Craze (B) Rage
(C) Calm (D) Fury

[SSC CGL (Tier-1) 2022]



106.

107.

108.

109.

Select the most appropriate ANTONYM
of the given word.

Graceful
(A) Awkward (B) Dignified
(C) Refined (D) Polite

[SSC CGL (Tier-1) 2022]
Select the most appropriate ANTONYM
of the given word.
Astound
(A) Confuse
(C) Clarity

(B) Shock
(D) Stun
[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Industrious
(A) Persistent
(C) Zealous

(B) Diligent
(D) Indolent
[SSC CGL (Tier-1) 2022]

Select the most appropriate ANTONYM
of the given word.

Obdurate
(A) Rigid (B) Callous
(C) Amenable (D) Secure
[SSC CGL (Tier-1) 2022]

16. Idioms & Phrases/Proverbs

110.

111.

112.

113.

Select the most appropriate meaning of
the given idiom.

Be hard up

(A) Unable to calculate

(B) Have very little money

(C) Have difficulty in climbing stairs

(D) Find it very difficult to wake up
early

[SSC CGL (Tier-1) 2022]
Select the most appropriate meaning of
the given idiom.
In the same breath
(A) Try and hold your breath

(B) Say two contradictory things at the
same time

(C) Able to get a foul smell
(D) Practice breathing exercises
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

To take after
(A) To chase someone
(B) To be similar in appearance
(C) To mock someone
(D) To change sides often
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

Foul play

114.

115.

116.

117.

118.

119.

(A) Unfair or dishonest behaviour
(B) A bad
playground
(C) Unpleasant weather for playing
(D) A drama which is badly produced
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

smelling  theatre or

A long shot
(A) A correct prediction
(B) A perfect aim
(C) Very profitable
(D) Little chance of success
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

Dark horse
(A) An honest fellow
(B) An unexpected winner
(C) A mean person
(D) A slow runner
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

Hold the key
(A) To own a property
(B) To keep a secret
(C) To have control of something
(D) To have the right of succession
[SSC CGL (Tier-1) 2022]
Select the option that gives the most
appropriate meaning of the underlined
idiom.
You have put me in a tight corner by
telling me to keep quiet.
(A) An embarrassing situation
(B) A comfortable situation
(C) A difficult situation
(D) A secret place
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the following idiom.

Nip in the bud
(A) To destroy early
(B) To cut the buds
(C) To destroy late
(D) Not to destroy
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

A hair in the butter
(A) Easy to handle
(B) A slippery road
(C) Sinking in debt
(D) A challenging situation
[SSC CGL (Tier-1) 2022]

120.

121.

122.

123.

124.

125.

Select the most appropriate meaning of

the given idiom.

Easy money

(A) Collect someone’s cash for them
easily

(B) Work hard to earn a large salary
without telling anyone

(C) Have no difficulty in collecting
money that is due

(D) Make money without much effort,
maybe illegally

[SSC CGL (Tier-1) 2022]
Select the option that gives the most
appropriate meaning of the underlined
idiom.
The new electrician is a green horn, but
will learn fast.
(A) Efficient
(B) Proficient
(C) Professional
(D) Inexperienced

[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

Sticky fingers
(A) An inclination to steal
(B) A habit of licking fingers
(C) A tendency to interfere
(D) A tendency to forget
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

To hold water
(A) To be valid and reasonable
(B) To be unsteady and unsure
(C) To be large and deep
(D) To be sad and depressed
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning
of the underlined idiom in the given
sentence.

It was a lavish birthday party and I
could see my friend eat like a horse,

(A) eating excessively
(B) eating what horses eat
(C) eating differently
(D) hardly eating
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

Pay heed to
(A) Repay old debts honestly
(B) Listen carefully with attention
(C) Give back money with interest
(D) Disburse without partiality
[SSC CGL (Tier-1) 2022]
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126.

127.

128.

129.

130.

Select the most appropriate meaning of
the given idiom.

Have a change of heart

(A) Undergo a surgery

(B) Change one's opinion

(C) Fall in love with someone

(D) Express happiness about something
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

Hit a brick wall
(A) Demolish a brick wall
(B) Not able to make any progress
(C) Use physical force
(D) Fight a powerful foe
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

Feast one's eyes on
(A) Arrange a delicious meal
(B) Gaze at something with pleasure
(C) Prepare a rare delicacy
(D) Notice something alarming
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

Cold comfort
(A) Unbearable weather
(B) Enjoyment in the hills
(C) Very soothing
(D) Very little satisfaction
[SSC CGL (Tier-1) 2022]

Select the most appropriate meaning of
the given idiom.

Cat’s paw
(A) A person used as a tool by another
(B) The most important attribute
(C) To attack someone
(D) Move at a fast pace
[SSC CGL (Tier-1) 2022]

17. One Word Substitution

131.

132.

8 |

Select the option that can be used as a
one-word substitute for the given group
of words.

To walk aimlessly
(A) Amble (B) Crawl
(C) Sprint (D) Slither

[SSC CGL (Tier-1) 2022]
Select the option that can be used as a

one-word substitute for the given group
of words.

Indifferent to pleasure and pain
(A) Cynic (B) Stoic
(C) Prudent (D) Lusty

[SSC CGL (Tier-1) 2022]
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133.

134.

135.

136.

137.

138.

139.

140.

Select the option that can be used as a
one-word substitute for the given group
of words.

Showing great attention to detail and
correct behaviour

(A) Punctual (B) Zealous
(C) Punctilious (D) Disciplined
[SSC CGL (Tier-1) 2022]

Select the option that can be used as a
one-word substitute for the given group
of words.

Study of insects
(A) Entomology
(C) Ecology

(B) Geology
(D) Biology
[SSC CGL (Tier-1) 2022]
Select the option that can be used as a
one-word substitute for the given group
of words.
Sharpness and accuracy of judgment
(B) Estimation
(D) Knowledge
[SSC CGL (Tier-1) 2022]
Select the option that can be used as a
one-word substitute for the given group
of words.

(A) Experience
(C) Acumen

Drawings or writing on a wall in a
public place

(A) Portrait
(C) Graffiti

(B) Caricature

(D) Collage
[SSC CGL (Tier-1) 2022]
Select the option that can be used as a
one-word substitute for the given group
of words.
A seat for a passenger on a bicycle or
motorbike
(A) Pillion
(C) Bridle

(B) Girdle
(D) Cushion
[SSC CGL (Tier-1) 2022]

Select the option that can be used as a
one-word substitute for the given group
of words.

One who knows everything
(A) Experienced (B) Omniscient
(C) Invincible (D) Naive

[SSC CGL (Tier-1) 2022]

Select the option that can be used as a
one-word substitute for the given group
of words.

A fixed sum paid annually
(A) Bonus
(C) Annuity

(B) Honorarium
(D) Alimony
[SSC CGL (Tier-1) 2022]
Select the option that can be used as a
one-word substitute for the given group
of words.
A style of cooking food, characteristic
of a particular country or region

141.

142.

143.

144.

145.

146.

147.

(A) Creche
(C) Menu

(B) Antique
(D) Cuisine
[SSC CGL (Tier-1) 2022]

Select the option that can be used as a
one-word substitute for the given group
of words.

Unable to express feelings clearly
(A) Inarticulate (B) Affluent
(C) Eloquent (D) Verbose
[SSC CGL (Tier-1) 2022]

Select the option that can be used as a
one-word substitute for the given group
of words.

An animal with a spinal cord

(A) Amphibian (B) Mammal

(C) Invertebrate (D) Vertebrate
[SSC CGL (Tier-1) 2022]

Select the option that can be used as a
one-word substitute for the given group
of words.

Able to be happy, successful, etc. again
after something difficult or bad has
happened

(A) Reluctant

(C) Resilient

(B) Remnant
(D) Resistant
[SSC CGL (Tier-1) 2022]

Select the option that can be used as a
one-word substitute for the given group
of words.

Easily hurt emotionally
(A) Senseless (B) Sensible
(C) Incensed (D) Sensitive
[SSC CGL (Tier-1) 2022]

Select the option that can be used as a
one-word substitute for the given group
of words.

A spear used for hunting large fish
(A) Dagger (B) Lance
(C) Harpoon (D) Sword
[SSC CGL (Tier-1) 2022]

Select the option that can be used as a
one-word substitute for the given group
of words.

A room or large cupboard for storing
food

(A) Almirah
(C) Bakery

(B) Larder
(D) Wardrobe
[SSC CGL (Tier-1) 2022]

Select the option that can be used as a
one-word substitute for the given group
of words.

Lacking interest or excitement
(A) Despot (B) Hostile
(C) Mundane (D) Miserly
[SSC CGL (Tier-1) 2022]



148. Select the option that can be used as a
one-word substitute for the given group
of words.

A person above a hundred years in age
(B) Venerable
(D) Geriatric

[SSC CGL (Tier-1) 2022]
Select the option that can be used as a

one-word substitute for the given group
of words.

(A) Centenarian
(C) Aged

149.

Policy of racial discrimination
(A) Non-alignment
(B) Diplomacy
(C) Commonwealth
(D) Apartheid
[SSC CGL (Tier-1) 2022]

Select the option that can be used as a
one-word substitute for the given group
of words.

150.

A four-footed animal
(A) Mammal (B) Reptile
(C) Quadruped (D) Biped
[SSC CGL (Tier-1) 2022]

18. Spelling Test

151. Select the INCORRECTLY spelt word.
(A) Correspondence
(B) Miscellaneous
(C) Exclaimation

(D) Disciplinarian
[SSC CGL (Tier-1) 2022]

19. Re-Arrangement of Words/

Sentences

152. Given below are four jumbled sentences.
Select the option that gives their correct
order.

(A) Our amusements have little zest if
we engage in them in solitude.

(B) Friendship increases happiness and
diminishes misery.

(C) It doubles our joys and divides our
grief.

(D) When we do well, it is delightful to
have friends who are pleased with
our success.

(A) BCDA

(C) CBAD

(B) ABDC
(D) DACB
[SSC CGL (Tier-1) 2022]
153. Arrange the statements in the correct
order to make a meaningful paragraph.
(A) But, in developed societies, the
childhood and adolescence is
extended.

(B) In rural communities, the customs
are more uniform.

(C) This provides more opportunities
for education and character
development.

(D) The practices of child rearing vary
from culture to culture.

(A) DABC (B) BADC

(C) DBAC (D) BCDA

[SSC CGL (Tier-1) 2022]

Sentences of a paragraph are given

below in jumbled order. Arrange the

sentences in the correct order to form a

meaningful and coherent paragraph.

(A) Firstly, it provides air for
respiration, serves the sense of
smell and conditions the air by
filtering, warming and moistening
it.

154.

(B) The nose is the prominent structure
between the eyes that serves as the
entrance to the respiratory tract.

(C) For inhalation it has two cavities,
separated from one another by a
wall of cartilage called the septum.

(D) Apart from filtering the air, it
also cleans itself of foreign debris
extracted from inhalations.

(A) BACD (B) ACDB

(C) BADC (D) DBCA

[SSC CGL (Tier-1) 2022]
. Sentences of a paragraph are given
below in jumbled order. Arrange the

sentences in the correct order to form a

meaningful and coherent paragraph.

(A) But instead of asking the guest to
rest, he said, “I have arranged to
take you for Shikar.”

(B) The host welcomed him warmly.

(C) At last he arrived at the beautiful
city.

(D) Great preparations were made for
Amir of Isfahan’s journey to Shiraz.

(A) CADB (B) DCBA

(C) DCAB (D) BDCA

[SSC CGL (Tier-1) 2022]

20. Cloze Test

Direction on (Q. No. 121 to 125)

In the following passage, some words have
been deleted. Select the most appropriate
option to fill in each blank.

Comprehension

There is so much (1) and

confusion in life today because the goal of

human beings is not clear. Each person (2)
to fulfil his desires and dreams

without (3) the interest of the

other. When we have a (4)

motive, we lose the sense of the higher

objective of attaining happiness. Therefore,
there is lot of (5) in our life.

156. Select the most appropriate option to fill
in blank number 1.

(A) certainty (B) positivity
(C) uncertainty (D) reliability
[SSC CGL (Tier-1) 2022]

Select the most appropriate option to fill
in blank number 2.

(A) has want (B) want
(C) have want (D) wants
[SSC CGL (Tier-1) 2022]

Select the most appropriate option to fill
in blank number 3.

(A) considering (B) disregarding
(C) excluding (D) describing
[SSC CGL (Tier-1) 2022]

Select the most appropriate option to fill
in blank number 4.

(A) selfless
(C) humane

157.

158.

159.

(B) selfish
(C) noble
[SSC CGL (Tier-1) 2022]

Select the most appropriate option to fill
in blank number 3,

(A) strife
(C) peace

160.

(B) concord
(D) harmony
[SSC CGL (Tier-1) 2022]

Direction on (Q. No. 161 to 165)

In the following passage, some words have
been deleted. Read the passage carefully
and select the most appropriate option to
fill in each blank.

Comprehension

For an average Indian, driving in any of
the major Indian cities is equivalent to

(1) ——_ a daily war. The everyday
struggle of (2) traffic, pollution
and rash drivers is (3) biggest

cause of chronic stress and other (4)
problems. On an average a
person spends (5) between
thirty minutes to two hours of their day
driving.
161. Select the most appropriate option to fill
in blank no.1.

(A) making
(D) raising

(B) waging

(D) rushing
[SSC CGL (Tier-1) 2022]
Select the most appropriate option to fill
in blank no.2.
(A) stopping
(C) boarding

162.

(B) dodging
(D) lodging
[SSC CGL (Tier-1) 2022]

163. Select the most appropriate option to fill
in blank no.3.
(A) one (B) the
(C) an (D) a

[SSC CGL (Tier-1) 2022]
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164.

165.

Select the most appropriate option to fill
in blank no. 4.

(A) societal
(C) psychological (D) spiritual
[SSC CGL (Tier-1) 2022]

Select the most appropriate option to fill
in blank no.5.

(B) ecological

(A) everywhere (B) nowhere
(C) anywhere (D) elsewhere

[SSC CGL (Tier-1) 2022]

21. Miscellaneous

166.

1.

2.

3.

10 |

. The

The following sentence has been split
into four segments. Identify the segment
that contains a grammatical error.

Your name / precedes before mine / in
the / admission list.

(A) Your name
(B) in the
(C) precedes before mine
(D) admission list

[SSC CGL (Tier-1) 2022]
following sentence has been
divided into parts. One of them may
contain a grammatical error. Select the
part that contains the error from the
given options. If you don't find any
error, mark ‘No error’ as your answer.
Mrs. Verma refused / the second helping
/ of ice cream.
(A) Mrs. Verma refused
(B) of ice cream
(C) No error
(D) the second helping

Solutions

1. Noun

(A) ‘have grown significantly' ¥ 7@’% &
'have' & TAM WX 'has' &I AR AT,
FAfb "The fisheries sector' singular
noun ¥ T singular helping verb
(has) T JRT BRT |
I fadbeT (A) T8 B |

(D) a1 ﬂﬁ?@ﬁ % @R @ improvement
P SIS 781 & | 'Man a' B A1
singular verb &1 & JART Bl |
Ia: fawed (D) W& Tl

(D) 'were not perturbed' # Ffc ¥l 'were'
B WIF W 'was' B TANT BAT,
TP 'crew of sailors' T& singular

noun & singular H.V. (was) @I
TART BRT |

AGRAWAL =XAMCART

4. (A)

'three breaks-in' § Ff¢ &1 break-in
(compound noun) &1 plural form
T—break-ins-'break-in' w1 e
T building # 1 IO A
=8 B T A

o fadbed (A) T8 B

2. Pronoun

5. (B)

6. (D)

7. (B)

8. (B)

9. (D)

10. (B)

11. (C)

'which you'll # Ffe ¥ 30 T
T 'whom you'll' &l TANT B,
b living being & U whom/
who B TIRT BT & SR lifeless
objects & foTT which &1 YA fa
ST S

31 fadey (B) W8 &1

'there was a good idea' # FfE T
TP T WX it was a good idea'
BT TRINT BT, ISP "there’ BT TANT
TepeT %I b1 ST BR b forg e
gl

ra: fawed (D) & 81

'your work' ¥ @% Tl ERC ARSI
T 'our work' BT TIANT BRI, HRAifH
SRRl possessive pronoun <hT
TN different person & TFH A
&l pronouns % forg dar ¥

possessive case first person singular
(our) § BT ¥ |

o fabe (B) 98 &1

T get myself tired' # 7@’% T 39
I WX 1 get tired' T GANT BT
q: fabeq (B) 98 &1

'confirm me whether you' # Fi¢

T 39D ¥IM W 'confirm whether
you' T YA 3fed &l

3 fadwe (D) T8 B

3. Verb & Modals

‘may pleasantly’ & 9 TR ‘may
kindly’ &1 TR S 2rm, FRiife
‘kindly’ &1 Tef & HUAT AT FEor
¥ R g A request ol e o7
@l Bl

pleasantly—g@< 4 9, =< ¥

o fabey (B) 98 B

“Will you’ &1 WIRT Tefd &1 Will
@ TIM W modal ‘Would’ & JIRT
BT S f Polite request & forg
AT o S B

I fapey (C) I8 B

12.

13.

14.

17. (C)

18. (D)

(B) ‘bited by a dog’ # FfC Tl ‘bited’
@ UM W ‘bitten’ BT TN BN,
b bite BT SfAT Past Participle
“bitten” BT T |
o fadwey (B) 98 Bl

(C) R = # 'resounded' &1 TR
Sfya erm/gaedn sref s—for
Relapsed—9Y: 9, qﬂ‘?‘ﬁl’\‘?ﬂ it
Reverted—yamafia
Resorted—8RT &I, &lc ST,
EEtykll
ora: fawed (C) Sfua Tl

(A) Rad w9 # 'improved' &1 TR
Sferd B |
Improved—g&RT  §3f, w=ifend,
EESN
Progressed—aRad! &A1, fImRid
Advanced—Tfreie, faefa,
TRl fbam gan
Enriched—d" 1, 9¥g |
o fawe (A) T8 B

15. (B) Raa 9 ¥ 'unrestrained' &1 YIRT

Sfera B |
Unrestrained—31=af>, sraafid
Unrecognised—- Y& g3l
Unresolved— Gersm gafl, sifuiia
Unremarkable—ST&R1T, ‘Tl‘jﬁf oy
orq: fawew (B) 98 |

4. Adjective

16. (B) ‘The recently hike’

4 Fe ®
‘recently’ & TN W ‘recent’ &
TN B |

recent (adj)—=2Iel @I, Sﬂgﬁ‘cﬁ et
recently (adverb)—8@ &  H,
arf—areft

Noun (hike) ¥ Ugel
(recent) T TR BRI |
o fadwey (B) 98 Bl
‘my sister’ # FfC T | THD TH W
‘that of my sister’ T ‘my sister's
house’ &I TART BRM, Fif% house
% §1g § comparison B <& ¥ |

o fadwey (C) 98 Bl

“There is a very little time” # Ff¢
Bl 3‘\‘1‘% IE UR ‘There is little
time’ &1 AN BN, FIMH “a little’
B YANT affirmative sense H AT
A & PH B B forg fopam S B

o fawe (D) T8 B

adjective



19. (A) “farther information” ¥ _g’fé Bl
“farther’ & A WX “further’ &I
TANT BRI |
further—3MT @1, 3R 3ifer,
afaRea
farther—3IR MY BCN
Ia: fawed (A) 98 B

20. (B) ‘of all others’ & ¥ WX ‘of all’ &I
AN SR B |
Ia: famed (B) 98 B |

21. (D) ‘a bit nice’ & A TR “far nicer’ &I
TR Sford 8T, FRAfF town centre
% Rerd shops & Comparison & &l
¥ @ Comparative degree &1 YA
B |
Ia: fawey (D) 9& B

22. (D) ‘want to' # a’fé BN WF W
'wants to' HI YAN BRI, <HIfH

distributive adjectives SRI—every,
each, either, neither, etc. & T
singular verb &1 YI1T B |

Ia: fawey (D) 9& B

5. Adverb

23. (B) ‘then the mother’ # a’fé ¥l ‘then’
& M WX ‘than’ BT TANT BRI |

“No sooner’ & &I ‘than’ & TANT
BT ¥ 3R Hardly/Scarcely & &Tef
‘when’ &1 YITT BT T
Ia: fawed (B) 98 B |

24. (B) ‘is quite too” # a’% HESEAIE]
TR “is too’ & TAFT BT |
“t00----to” Structure follow BT |
Ia: fawed (B) 98 B |

25. (B) Raw TIM ¥ “at first” &7 YAN Sfaq
BT T ofef & YOIIRT IR 7 AT
oA H |
Ia: fawed (B) 98 B |

26. (A) ‘badly to need’ # Ffc T | 5P T&H
TR ‘in badly need’ &7 FIRT 21T |
Badly— TR ®9 ¥
Iq: fawey (A) 98 B

27. (A) ‘slow and’ # Ff& &1 slow & T&IH
TR slowly &1 TIRT BT | & adverb
slowly &1 T 8 g aref
T—IR—-8R |
slow— smfew, R, /g
Ia: faweg (A) 98 B

6. Preposition

28. (A) ‘beyond’ & ¥ TX besides &
AT BT |

besides—a rfaiRad

beyond—d 81T, & IreATdT

q: fadeT (A) T8 B

‘at the best’ # FfT B “at the best’

T TIM W ‘to the best” B TANT
B |
to the best of her ability— IH®!
o A ¥
31 fiweg (D) 91 B
‘on myself” ¥ FfC T ‘on” & TAH
T Preposition ‘at’ & FART BN,
FIfd verb ‘angry’ & W1 AFIQ:
Preposition ‘at’ & 3Tl 1
31 fawed (C) w8 B
31. (D) ‘a doctor of’ ¥ _g’% ¥ | Preposition
‘of” & TUM W ‘at’ B YA BN
S f Comparatively small places
o forg wamT foam < 1
o fadbed (D) e B
‘so far the bright’ & M W ‘by
far the brightest’ &1 YART BFT,
Fifd  Superlative degree &1 TIRT
BAT | “by far’ &1 o1 & FE 3w |
3 faweg (C) I8 B
33. (B) ‘on the promotion’ ¥ Ffc ¥l ‘on’
& T TR “at’ B TAN B, RS
Promotion (ST & & gaT 8) & forw
excited B T 9TET B <& B |
ara: faweg (B) 98 B
‘point at’ ¥ e ¥ Preposition
‘at’ B WM W ‘to’ BT YART BT |
opponet El point concede TRA Bl
91 B e
Irq: fawed (B) 981 B
‘to doing’ § FE Tl ‘to’ B M
TR “in’ BT YINT BRM, FAI(S Persist
(verb) @ 9 WX Preposition ‘in’
BT YA B B |
I fadweg (A) T8 B
36. (B) ‘at taking’ & %9 WX ‘about taking
up’ &1 YA BT |
take up—aT9TT oI, o DIAT
31q: fameg (B) el &

7. Conjunction

37. (C) ‘In spite of my niece's’ & UM T
‘Although my niece's’ ST FINT BT,

29. (D

~

30. (C

~

32. (C

~

34. (B

~

35. (A

N

FIfE In spite of/Despite & T
gerund (-ing form of verb) &1 YIRT
B B

o faweq (C) 98 Bl
8. Noun-Finite Verb (Infinitive,

Gerund & Participle)

38. (A) Raw 9 # “‘achieving’ &1 TIAWT
Sfyd 8, s @@l gerund (-ing
form of the verb) & WIRT BRM I
% noun @1 BT BN |
31 fabea (A) 9E B
39. (D) ‘having the trouble’ ® a’fé Tl
‘having’ & 9 WX ‘taking’ &I
ERIUAS EERUIE
3 fawey (D) wel B
40. (D) Raw &9 ¥ to ‘seeing’ &I TIANT
BRT, i I gerund (-ing form
of the verb) & WIRT B Wl &
noun T B BT |
3 fawey (D) wel B
‘carry milk’ ¥ ﬂ'fé ¥l ‘Carry’ &
M U “carrying’ STQ, Fifh
gerund (-ing form of the verb) &l
AR BT |
37 fabea (A) 9E B
42. (C) ‘are essential to keeping’ # T
%1 ‘Holiday homework’ @1 sing.
noun @ TRE treat fHaT SN &R
s?ﬁ\? 9|1 sing. verb MU | ‘are
essential to keeping & I WX ‘is
essential in keeping’ & FITT BATT |
3 fadey (C) w8 51
“for walking’ # Ffe &I $H9S &N
TR “for a walk’ BT TART BT |
3 faeq (D) wel B |
‘to go out’ & T WX ‘going out’
B WART BN, Hifb gerund (-ing
form of verb) &I TART BA W &
noun T B BT |
3 faey (D) wel 8|
45. (C) “for keep’ # @ﬁf ¥l Verb ‘keep’
JMAR 9= Gerund & form H YANT
BN T 99 IR AR BT T, Wy
W9 in order to (& o, @ifdr) @
AT o7 Y& B a9 infinitive & YR
m%lmFora\?WWtoaﬂ
AR B |
o faweq (C) 98 Bl

41. (A

~

43. (D

~

44. D

~
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46. (C) 'Antique diamond necklace' #
article I FfC 1 Antique |
T&eT article 'an' &7 YA BT |
o fdwer (C) |98

47. (B) ‘too grave sin’ ¥ _g’f%%l ‘sin’ ¥ T&eT
Indefinite article ‘a’ &I WIFT BT |
o fdweg (B) 981

10. Time And Tense

48. (B) 'are assured’ & ¥AM WX ‘'have
assured' B TINT BRN | Fifdh qad
Present Perfect Tense &1 aIE &I
Y& ¥ A has/have + (verb),, form
® OGN ?lTﬂ/?\l;ﬁ? 'authorities'
plural & AT 'have' &1 JART SfId & |
ora: faweg (B) 981 |

49. (B) 'have you watched' & ¥IM W
'were you watching' & TIRT BT,
FId sentence W Past Continuous
Tense & STET B <& & b BRI
Past ¥ B <& off |
o faweg (B) 98 |

50. (A) 'since setting up' @ ¥ T 'since
being set up' & TIART Sfad ¥,
HifH BRI Past § Y TN SR 31
TPH SR & T 919 Present Perfect
Continuous Form # 2T |
o faweg (A) 98 B

51. (D) 'Smita lived' ¥ FfC Tl sH9 &=
TY 'Smita has lived' 3T, TifH
AT Present Perfect Tense H BT
I has + Past Participle &1 Y9I
BT |
o faweg (D) w8 & |

52. (A) faU 7T Passive Voice @1 Active
Voice Structure f=aq Bm—

[Subject + can + (Verb), form +
object]

Love can overcome hatred

o fadweg (A) w8 B |

12. Narration

53. (B) f&&1 AT Narration Indirect Speech
BT ¥ 9 Direct Speech # gRafid
P B e FreferRad aRee &=
BRT—

12 | AGRAWAL =XAMCART

e Comma 3R inverted comma &1
AR B |

o 'T'® 'you'H gRafia & |

o Had + (Verb),, @I Did + (Verb),

% gRafiid & | He said to me,
“When did you book the flight

tickets?”

o fabe (B) 98 &1

54. (D) f&a1 741 Direct Speech, Past Simple

Form &I ¥ Indirect Speech ¥ Ig

Past Perfect Form # 81T |

o (Verb), @1 had + (Verb), #
change @3 |

e Comma 3R Inverted Comma
Pl BSGA IR 'that' B TN
Eagll

Mother said that Abhinav had

slipped while trying to board a bus.

o fadbe (D) T8 B

55. (B) f&ar ™1 Direct Speech, Simple

Future Tense &7 ¥ | Indirect Speech

¥ I& Present Conditional Tense #

BT |

e Comma 3R inverted comma &
BEIR that BT TART B |

o 'will you' @ 'if she would' #
change & |

e 'said to' P 'asked' ¥ change
Eagll

e 'my' @ 'her' # change & |

o 'tomorrow' Bl 'the next day' ¥
change & |

She asked her if she would ready

her suit the next day.

o fdweg (B) 98 B
56. (B) f&a1 "™ Direct Speech, Present

Continuous Tense &I ¥, R I8
Say @1 root form H '—s' SSHR 1
¥ 91T Indirect Speech @& Tense
A PIg gAG T8 BN |

e comma 3R inverted comma B

BIBY that BT TANT BT |

Ajay says that there is going to be a
snowfall.

o fabey (B) 98 B

57. (D) faar 71 Indirect Speech, Imperative

Form # ¥ Direct Speech § gRafia
T & fow fAfaRed  changes
BRA Bil—

e comma 3R inverted comma T
I |

o ‘'told P 'said' ¥ change HX |

The guard said, “Children, stay

away from the flower beds.”

ra: fawed (D) & Bl

58. (D) f&& "R Direct Speech, Optative

Form # ¥| Indirect Speech #
uRafid e @ forv faeferlad
changes & BRI—

e comma 3 inverted comma T
BEG 3R 'that' HT TN H |

o 'said to' @ 'wished' H change
P |

o 'May' @I 'might' # change & |

® 'You' @ 'him' # change F< |

She wished that God might shower

his choicest blessings on him.

o fawe (D) w8 B

59. (A) f& AT Direct Speech, Past

Indefinite Tense &I ¥| Indirect
Speech # I% Past Perfect Tense ¥
BT |

o (Verb), @ had + (Verb) #
change &3 |

e Comma 3R inverted comma T
BTG |

o 'said to' @I 'told' § change BN |

o 'this' BT 'that' ¥ change HX |

o 'ago' @I 'before' § change B |

She told me that she had seen that

old man long before.

o fadwed (A) T8 B

60. (A) f&am AT Direct Speech Past

Indefinite Tense &I & Indirect
Speech # Past Perfect Tense # &1 |

e (Verb), B had + (verb),, H
change &3 |

e Comma 3R inverted comma &

BCIR that BT TN B |
o 'said to' @ 'told' § change BN |
e 'I'®I 'She' H change BT |
® 'You' @I 'her' # change & |
Mother told her that she had
expected a better result from her.

a: fawed (A) 98 Bl

13. Sentence Improvement

61. (B) 'ordering about my sister' & I

TR 'ordering my sister about' I



62. (B)

63. (A)

64. (B)

TRINT BT, A1 sister BT M <
P A1 37 V& T

Ia: fdwed (B) 981 B |

'to partake' & TAM WX 'to partake
of &1 TART BN, FAif% partake of
B 37 g—F A1 G |

Ia: fawed (B) 981 B |

'a great many difficulties' grammat-
ically 3R contextually ¥l & iR
Eﬁs‘ improvementa% SMITIHT el
¥l'a great many' &I JANT fHA At
Pl emphasize (TR 1) IR & forg
BT B |

Ia: faweg (A) 98 B

‘he is not giving you’ & TN WX
‘is he not giving you? &I JINT BT,
R 919 Interrogative form ¥
@ noun/pronoun ¥ YA helping
verb &1 JANT BT |

Ia: fawed (B) 981 B |

14. Synonyms

65. (A)

66. (B)

67. (C)

68. (D)

Ostentatious &I aref T—

srerRyul, fe@mEd s@d Sfa
synonym  &—showy (faw@mad,

)

Tasteful—RTeRga fHR, G
Sudden—a3TTHR®, ITTD
Quick—T &, 2

Ia: fAweg (A) 98 B

Retaliate &1 &ff & Sqell o,
JIBR HRAT | SHH A&l synonym

¥ React (¥fIfepar o)

Clap—Tetl oI
Facilitate—S3ITM &A1, AGK DAl
Rotate—¢gHTT

Ia: fawed (B) 981 B |

Tmminent' &1 & F—3rfl BW
I, ST, AT Tl $HH S
Synonym &—Impending (e @1,
3MA—)

Unyielding—ﬁrﬁ\'c?f, EEl
Ignorant—3TSTI, TSI
Distant—<Y, B TR

Ia: faweg (C) 98 B |

Paranoid &1 3¢ ¥ Hfaww [ a7

qRTelas R+l | §9®I Synonym
¥—Distrustful (Ff&7e, FerATHD) |

Convinced—I$H A d1ell, T3
fareariy

Trustful—fIgaryy, e
Committed—Sfid, To-ag
Ia: fawed (D) & B

69. (C) Fluke &1 31l T—3MRINT e,

AMERTYF  Adrl gHB ST
Synonym &—Chance (RIT, T |
Policy—Tf, Qﬁﬁ

Plan—391¥, I, HAgE
Contract—%ﬂﬁi o ST

Ia: fawed (C) 98 B

70. (D) Inscrutable 1 o1 eI,

AN, g TP Sfad Synonym
%—Inexplicable (s, e, quie o
qMER)

Incredible—affaeaaia, — ameeRi—
NEEZ

Indelible—fS fern =1 S e
Inevitable—Sl T 9 HH

ra: fawed (D) & B

71. (D) Lacuna &1 & -l g,

3AXIel, 3JHE| SHPI  Synonym
¥—Hiatus (Reret T, s, fasafey)
Misfor‘cune—g“#"q, 3myer, famfa
Languor—el, orem, Rifdreran
Apathy—SERIFT, JURATE!

rq: fawed (D) & B

72. (A) Solemn @ erd TR, W,

AEPRYUT | 3P Synonym
®—Dignified (TRaRMeA, TRHATI,
FHIA) |

Trivial —J=8, TT0Y, AIERT
Excited—sifora

Frivolous—a3ireT, 1=kt

a: famed (A) 98 B

73. (A) Disrupt BT 31ef ¥ IR, TG,

APM BIATlI gHPBT Synonym
¥—Breach (Scele BRAT, 9T BN

Injure—¥TIel BRAT, T I
Arrange—<IqeIT HIAT
Organise—T{Sd BRAT

T fadbeT (A) T8 B

74. (C) Trendy &1 312} T—angfds B & |

39®T SR Synonym ¥—Popular
(waferd, FaURIg)
Common—STgRuT
Foreign—ﬁé‘%ﬁ, ‘ZR'IQt

Familiar—9Rfaa
o fawe (C) 98 Bl

75. (C) Squawk BT 1 ARG, BHI

gmarst el e Sfad
Synonym  &—Scream (G,
Tereetr)

Suggest—=Td Eli

Explore—E\ITrf BHRAT, AU BRAT
Connote—7ad BT, | ST
o fadwey (C) I8 Bl

76. (D) Threshold &1 3% ¥—ageil, g,

AT | 39HT Synonym d—doorway
(ERATT, AREe)

Stairs—ffear

Exit—ar

Window—Rasr

o fawed (D) T8 B

77. (D) Perjury &1 ot AT,

33 TErel | $9HT I Synonym
¥—Falsehood (ST, EG)
Melancholy—S<RiT, &=, fawra
Frankness—¥qseaTfad
Penury—aRad, TRiE0

ra: fawed (D) & Bl

78. (B) Commute I aref %—QG(‘*FI,

ARG HRATI 3R Sfad
Synonym ©—Convert (IRafdd
2yl

Consume—S9aRT AT
Condense—gT &A1, FAMGT
BT

Conserve—IRf&Td AT, & HRAT
o fawew (B) 98 &

79. (A) Monotonous BT 318 ¥R,

THER, IH el | sHH1 S

Synonym  &—Boring  (SdTS,

FBIIFR)
Compulsory—3Taegd, AfYar
Eventful—faveard, EETTI'E{\U?
Momentous—IRGH, W’qﬁ
o fawed (A) T8 B

80. (A) Tranquil &1 o1} T—oma, GReR|

gg@ Sfod Synonym ¥—Calm
(zrd, freee)

Alert—i\ﬁ?bTrlT, aq=d
Aware—-SITod, I
Dazed—<eY], 9IS B3

a: famed (A) 98 Bl
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81.

82.

83.

84.

85.

86.

87.

88.

14 |

(D) Saucy &1 372 T—TKIRI, €3 | THH
SfId Synonym &—Cheeky (et
TR, o)

Tasty—aTfase
Polite—fa=91, fa=irat
Smooth—uTe, fae=T1, Fwde
I fabe (D) w8 B |

(A) Robust 1 31df T—FAaM, Hold,
g | gqgal  Sfad Synonym

TV, BI-dHeel, I
Small—®8Ier
Round—e
Weak—bHSIR
Iq: fadmed (A) I8 B

(D) Bare &1 1 B—alcd, ¥ | g
SfId  Synonym ¥—Basic (Wifera,
ERRICICIEIRS )
Earthly—ar TR, Wi, ifses
Hidden—Tfour ganm, J=i
Holy—dfa=
o fabe (D) T8 B |

(A) Ravenous &1 37%f —HWER, Yads,
B | sHdT  Sfud
&—Starved (@1, §ETIR)
Satiated—Hgwl
Full—¥RT gaf, |wqof
Content—JsC, HgHd
Ia: fawey (A) I8 B

(C) ‘Imbue’ &1 1 e W ™R
T 3HHT Synonym  B—Instil
(79 ¥ faer 3=
Remove—&cl &A1
Clear—SaT% X I
Deprive—afad &1
ara: fddweg (C) |98 |

(D) Livid &1 o7ef s—agd if¥a RT |
39T 3fd Synonym ¥—Furious
(Srferepiferer, oMy & 9TeR)
Closed—sg
Clear—4T%
Pale—dTeTr, GREAT g7l
I fabeq (D) T8 B |

(D) ¥& ‘Retaliate BT H& Synonym
¥ React | Retaliate - GRIBR &=,
Clap - Il S, Facilitate - g
PRAT

(D) Sagacious @1 3ref %—gf?ﬂ?

IASER | §9@T 3fad Synonym

Synonym

AGRAWAL =XAMCART

¥—Judicious (faqeeia, gf@'ﬂﬁ)
Precious—3HIA, SGT
Delicious—ATate, FARY
Malicious—gxT e aTel, ?‘WP"I
o faweg (D) w8 B

89. (A) Audacity &1 o T—aed, fFwAd |

§9&T SfUd Synonym &—Daring
(@, e

Meekness—T9dT, fa=aan
Caution—SATa&=T, Herdl

Kindness—<aTeidl
o fadweg (A) T8 B

90. (D) Avert &1 372 &—adT <IT, €Il <1 |

g9@ Sfad Synonym ¥— Prevert
(RTHAT, ST, S1ET SleiHl)

Permit—3IT&T <1, TGy ST
Confront—TfaR1g AT, FHE AT

Face—AMHAT AT
o faweg (D) wEr B

91. (C) Succulent BT 37%f T—[RaR, e |

gI®H F& Synonym  &—Juicy
(e, )
Decent—a+, R¥re

Coarse—3RIRI, TR, ARTE

Foul —eSgaR, 3Rg
o fadwe (C) |8 B

15. Antonyms

92. (A) Camaraderic &1 87 F—w@,

NATEAT, RIREL SHDT Sfaa antonym
B—Dislike (7%, GO)
Amity—‘ﬂ?(‘rﬁ, T
Companionship—fH=Fvea,
SEEINGI

Friendship—=aT, IRt

I faweg (A) T8 B

93. (B) Appal & a1 T—THA BRI

T AT THHT ST antonym
T—Assure (3TN  HRAT,  WRIAT

&)

Alarm—JqrE=T <A1, AL FRAT
Amaze—3mafd BT, ATl <A1
Astound—y I HRAT, DB
o faweg (B) 98 B

94. (A) Prey @1 3 t—RPR, e, eIl

§9&T SR antonym &—Predator
(Rremar, o)

Sufferer—qfSa, M
Loot—<Jg, TIC P A1el
Game—&d, Hrel

o fawe (A) T8 B

95. (D) Clench &1 87ef F—TdeHl, dfeT,

96. (C)

97. (C)

98. (B)

g9l 39Dl Sfd
T—Relax (M B ST, Sl H=)

antonym

Tighten—dT, AT, STbSI

Clasp—9deT, forgerr,  aifas
ISHIEL

Hold—9&sT

o fawe (D) w8 B

Ransack &7 31 %—Ggﬂ, a:a_ﬂ |
§9®] Sfad  antonym E—Protect
(Y& BN

Seize—R1 A, Bl BRAT
Raid—®T4T HRAT

Pilfer—gRT1, ST &1

o fased (C) 98 &

Exonerate &1 319 §—f=ly v,
Ir ARHFT  hRAl | SHbI SIEN
antonym &—Engage (Ta78g B,
frgaa e, wre)

Exempt—H&d DT, HTH HRAT
Absolve—RURTY TERAT, IR BT
Acquit—3TTg § I BRI,

QIR HRA

o faweq (C) 98 Bl
Obscure T 379 T—3read, I,
ﬁ?ll?ﬂl 396l Sfed antonym

B—Apparent (FIC, Y&, TIIA)
Blurred—gwEIT*IT, 3T
Cloudy—ﬁ’ﬂ'ﬁaﬁ, %VEIT*IT SEU
Veiled—a< #, fosur gam

o fadwey (B) 98 Bl

99. (D) Devious &1 CREE S ) e, €

K | 3991 SfId antonym g—Sincere
(Frgra, forspue, )

Dishonest—éls&lﬁ, BHIET
Crooked—gfed, e
Crafty—dreil, 9gX, BT
o fawey (D) w8 B

100. (C) Constrict &1 rdf  F—Ryapre,

NEZSHIN BT | EXSE 6&10
antonym &—Stretch (a1, g
BHIAT, TT)



Smile—TFGMT, TFAT
Choke— Tl gel, a%g BRI,
ST BT

Cramp—STh ST, HHAT, bl

3 fdweg (C) 98 |

101. (D) Taut &1 37 T—go=d, g, D

B HR I | §HST ST antonym
¥—Slack (Fda1, fftpar, #)
Tight—ASIELd, BT g3, TG
Solid—3r, Jfea

Strong—HSIgd, PBOR, HeIA

3 faweg (D) wE B |

102. (D) Famished &1 3719f T—9@1| SHH

103. (C)

104. (D)

105. (C)

106. (A)

SfId antonym &—Satiated (=)
Hesitant—3®1, feafdamaren
Volatile—mﬁa, g, siRer
Starved—&T, &R

3 faweg (D) wE B |

Brittle T 37l %—W, EQEeT
Iﬁ"ﬂ, RSN NIESEE) Sfera antonym
¥—Durable (fePrss, Tom)
Frail—$a9iR, _g’ﬁi?l
Fragile—w, g«‘sfa
Crumbling—aTg I S A A
e B S, Thel

3 fdwey (C) |98 |

Pliable &1 3¢ T—amdren, Mg |
39@T Sfad antonym E—Rigid—
Even—d#Hdel, SXTEX
Smooth—FRI&T, Ha&sl, |UE
Bending—ii—Cb_rI, TH, ‘jﬁ qreft
3rd: faweg (D) wE & |

Frenzy &I 379 %—ST[éI?T, SRIcH
96| sH@E Sfad antonym
T—Calm (Ify, Rerdr, gevm)
Craze—d, YN, 1T
Rage—T4T1, SATd

Fury—Y®Id, STde, HIel

3 fdweg (C) |98 |

Graceful &1 37ef %—'ﬁf_q’?, SATHYD,
IR Tdl Sfd
T—Awkward (@, &)
Dignified—Ra#, SICINIEH
TRt

Reﬁned—qﬁﬁg, qenfera

antonym

Polite—Tfa= 4, '\j@TEE faa
I fadweg (A) T8 B

107. (C) Astound &I 872l T—igaradl &R,

108. (D) Industrious

109. (C)

afthd FRAT| TABT 3T antonym
&—Clarify (IR0 <A1, Y&
PR

Confuse— ST, TEHT AT
Shock—HT UgaTI, Ffdhad BT
Stun—FEeEl A1, FoT BRAT

I fawe (C) |8 B

w1 e e,
Wﬁﬂﬁ%‘rﬁ | gFBT SIE] antonym
¥—Indolent (e, 3rmerR)

Persistent—3g, IR, 5%
Diligent—9RsMI, Hah
Zealous—STEl, QRS

o faweg (D) w8 B

'Obdurate’ &1 319 §—3fex, FoR,
s, Nge @l SICK] antonym
¥—Amenable (SMSTHENI,  faH,
SERER)

Rigid—®oR, a&d
Callous—edT, HAR
Secure—gRI&T, HAHIA

o fawe (C) |8 B

16. Idioms & Phrases/Proverbs

110. (B)

111. (B)

112. (B)

113. (A)

114. (D)

Be hard up (idiom) &1 a12f &—Short
of money 37T 4 &1 3r1d B |

ora: faweg (B) 98 B
In the same breath (idiom) &I

a1ef ¥—To say two things that are
different so, that if one is true, the

other a will be false 3194![?[ a1 9
Pl Sl & 9l &, Il v v
& 1 S o B |

ora: faweg (B) 98 B

To take after (idiom) @1 a1ef ¥—To
resemble in features, appearance or

character ST%’Jfﬂ foeryare, w9 ar
IR A B

ara: faweg (B) 98 B

Foul play (idiom) @& 379
¥—Treacherous or unfair dealing
STl faTarRTar a1 S e |
I fadweg (A) T8 B

A long shoot (idiom) &I 872l &—a
venture involving great risk and

115.

116.

117.

118.

119.

120.

121.

122.

123.

unlikely to be successful 7
TH 1 S S kel B B
JAEHTT B B |

o fawe (D) w8 B

Dark horse (idiom) T 87¢f T—a
person who is not expected to
succeed or unexpected winner

i v v A e A
BN P I T B SR 98 9% 8
S
o fawey (B) 98 Bl
Hold the key (idiom) @7 aref ¥—To
have the control of something 3T eﬁﬂ
el At @1 =TT BT
o fadwey (C) I8 Bl
(C) A tight corner (idiom) @1 12 ¥—in
a bad or difficult situation 3FIq
el BfeTE a1 gHied 3 B |
o fawey (C) 98 Bl
(A) Nip in the bud (idiom) &7 37} ¥—to

stop something in the beginning or
early so that it does not become a

worse problem 37 Tl FwwRIT
P G b1 AP a8 g&aR 7 B
NI
a: fawed (A) 98 B

(D) A hair in the butter (idiom) &7 87¢f
%—a challenging situation 3TQﬁH Tdh
AT Ry |
rq: fawed (D) & Bl

(D) Easy money (idiom) @1  a7¢f
E—money made by dubious means
or for little work STQJIIIH |fery
AT I AT oA | B Y U G |

d: faweq (D) W& B

(D) A green horn (idiom) &I &2l §—an
inexperienced or a naive person
i T STHAE fer |
Efficient—<a8&T, Eﬁﬁ@‘ﬂa
Proficient—agRrel, g¥dl, Fgor
Professional—9%Tax, TaTdh
o fawe (D) w8 B

(A) Sticky fingers (idiom) T 31l §—A
tendency to steal things 3feii] <ol
PR H R
o fadwed (A) T8 B

(A) To hold water (idiom) T 3¢ ¥—To
be valid, sound or reasonable eI

=7 @R Sfd B
I fawed (A) T8 B

®)

©
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124.

125.

126.

127.

128.

129.

130.

(A) Eat like a horse (idiom) @1 aref
&—To eat a lot of food I Iga
e @ |
I fabeq (A) T8 B |

(B) Pay heed to (idiom) &7 3r1ef ¥—To
pay attention to A AR A FA
3R & S
o fawer (B) 981 & |

(B) Have a change of heart (idiom) T
31l ¥—Change your opinion about
something 37fq fell a9 & ufa
ST T EATT |
o fawey (B) 981 B

(B) Hit a brick wall (idiom) @T aref

T—face a problem while trying to
do something and fail to progress

AT FB BT DN DIV IR T
A3 BT AT BRAT AR A%
T B
o fabey (B) 981 B

(B) Feast one's eyes on (idiom) &1 aref
¥—To look at something with great
pleasure 37 <l A1 1 < =@
J @
o fabey (B) 981 B

(D) Cold comfort (idiom) T 3ref
¥—poor or inadequate satisfaction
T AT |Ye |
Ia: fdweq (D) 98 B

(A) Cat's paw (idiom) @1 312 E—the
dupe of another or a person used as

a tool by another i fo=f =afa
F R D BRI TH AR B AR W
SR fam S |

I fawey (A) I8 B

17. One Word Substitution

131.

132.

16 |

(A) fav ¢ wreg wE & fTw S one
word T—Amble (ege™T, 9T BHROT

HH)
Crawl—T1, fergesr

Sprint—®H {?[ B AT ??I—G' AT

Slither— e, TR

Iq: fawey (A) I8 B
(B)%QWWW&WU&HOM

word B—Stoic (TN, wafed,

SEUSIR AR ICEE))

Cynic—&HI, gfee

Prudent—faaehT, gfgam

Lusty—®H®, B, T

o faweg (B) 98 |

AGRAWAL =XAMCART

133.

134.

135.

136.

137.

138.

139.

(C)%QWWWH\JWWOHG
word —Punctilious (& fraTeT,
Ifr Rrserar)
Punctual—F9Ifs3, qﬁ{]@'
Zealous—S4Tal, GRGIRT
Disciplined—GTj‘ﬂTﬁl?[ . foreia
o fabeT (C) I8 B

(A)%QWWW%%’QG&H one
word —Entomology (STefa=i)
Geology—ﬂ'ﬁ?ﬂ‘[
Ecology—aRRerfy fasm, qafavor
Biology—=ia fagm
o fadbe (A) T8 B

(C)WWWW%WG@HO%
word ¥—Acumen (G,

)
Experience—313¥d, Tall
Estimation—3fTchet, AT
Knowledge—zT™, ST
o fadweg (C) |8 B
(C)%QWWW%WB‘%HOW
word 8—Graffiti (f¥fR7 farzor, SR
R 9 g9 =)
Portrait—3TeiRed, YfET, wafert
Caricature—8rg =1, rg—fa=r
Collage—378, |yfead foa
3 fadwey (C) 98 B
(A) T 77 wreg w98 & fU ST one
word ¥—Pillion (sl dre)
Girdle—FaRYE, BREA
Bridle—eTTH, {8
Cushion—Tg&!, I
I faweg (A) T8 B
(B)%QWWW%WWOM
word B—Omniscient (IS
Experienced—arg¥al
S SM 3rd,

Invincible—

JTURTOT

Naive—WRal, -G, el

q: fdbeq (B) 98 1
(C)%QWWWH\?WWOHG

word T—Annuity (af¥dT w7

Bonus—aT¥, 31fereny, iRy

Honorarium—#Med, NEAE

Alimony—9RIaT g1 & forg giT
RIRSICE)

I fawe (C) 98 B

140.

141.

142.

143.

144.

145.

146.

(D)%QWW'HHEEF\)WB%T‘T one
word —Cuisine (41 YoTeiT/2rel)
Creche—]
Antique—9TaIT I, YRTPICI
Menu—3Tord ﬁj’ff
ord: fawed (D) & Bl

(A) R U T wE b fow Ska
one word ¥—Inarticulate (37T,
IS, FT R H )
Affluent—aRYUl, &7a, Fg
Eloquent—draqg, gad<il
Verbose—ardTed, Teqdgel
o fadwed (A) T8 B

(D) R T = wE & fow Sk@
one word g—Vertebrate (FSSaTel,
Teqe] HHE, PUHDI)
Amphibian—SSHIAX, STeiefax
Mammal—&TER
Invertebrate—3Ts3aeN, STHLRDH]
o fawes (D) w8 B

(C) fRv v e e @ fow SR
one word T—Resilient (STfeRmel,
A, yaRe)
Reluctant—31fegep, Raets, yfderet
Remnant—3T9 AT, AR
Resistant—3fRIEN, srgereial
o fawey (C) 98 Bl

(D) feu v weg wHg & forv Sfd

(g%,

, greA-T-ex

one word T—Sensitive

REEENIG))

Senseless—dTdhet, TS, FRY®

Sensible—FSIER, TR, TIRTII

Incensed—gTHI, I

o fawed (D) w8 B
(C)WWWW%WB&HO%

word s*5’—Harpoon (T T, I,

EEk))

Dagger—H#TeT, TR, BRIl

Lance—HTetl, 2T

Sword—<TeTdIY, $HUroT

o fawey (C) 98 Bl
(B)ﬁquwiﬁf?ﬂgﬁlﬁone

word —Larder (W& WweR, IS

H7SR)

Almirah—STeR

Bakery—?\faER’, BISEIEEE] P

Wardrobe—a TR, TR

ora: fawew (B) 98 |



147. (C)%QWWWE!\?WE%HOM
word —Mundane (-IRH, TEMRON)
Despot—ﬁ?&ﬂ, dFRIE
Hostile—YfRIeN, NP
Miserly—od, Je8
o faweg (C) |98

148. (A) fT 7 weg w98 & forg SR one
word §—Centenarian (|1 a9 &1 37
Venerable—3iTexvM, o1, F=1fd
Aged—3g, Il
Geriatric—3g1, T
o fadbe (A) T8 B |

149. (D) fU 717 wreg w9E & T SR one
word —Apartheid (IT9& “f)
Non-alignment—7e fRU&

Diplomacy—=TSTd, NISfgd g,
EAliRE

Commonwealth—TSgAUSE, IoTi=,
TURTSY
31 faweg (D) |&1 B

150. (C)ﬁ?WWW@WU&Hone
word ¥—Quadruped (Trarn g,
Ig)
Mammal— 8
Reptile—aR\Y, Tt g
Biped—aT 1R1 &1
o fdweg (C) 98 |

18. Spelling Test

151. (C) Exclaimation @I Spelling ¥eTd
&l |8 spelling ¥—Exclamation
(frerfesiad, STR)
Correspondence—9=, IR
Miscellaneous—fafde, fAf¥@ @
Eal

Disciplinarian—3JeTmds, fRrwdds
o fadbeT (C) I8 B

19. Re-Arrangement of Words/
Sentences

152. (A) Sentence B Introductory sentence
BFTN, Riifds AT Friendship (abstract
noun) ¥ Y® B @ &l T I
Sentence C BRT, Fiifds F& Friendship
gR fbv PR @ i <@
Sentence A 3R 1T BNT |

e FH §—BCDA’
a: famed (A) T8 B

153. (C) Sentence D U&AT dTad BFT, Fifh

IE Practices of child rearing &
Introduce X1 <& ©| Sentence B
AR A HHEn q:\'ﬁ IR TR a1
B S fF rural communities 3R
developed societies ¥ Practices
of Child rearing @1 T ¥ ¥l
Sentence C 3IfF aTrT BITT |

8 ¥ &—DBAC’ 37q: fadwed (C)
SR

154. (C) Sentence B U&eTl 914 &, % T8

nose (noun) @I Introduce &I &l & |
Sentence A AT AT T, TP T8
nose ERT T 717 Ff BT 207 <@ 8
Sentence D TNIRT 91T &, R T8
respiration & @Al Filtering the
air @1 ST Y& | Sentence C 37
IR E S T nose B structure B
ol IR @ B

KEl Eail
¥—BADC’
3 fawey (C) I8 B

155. (B) Sentence D Ugal a1 &, FIfh g

Journey & feTU fT 7T Preparation
Bl Introduce @Y <& & Sentence
C X1 a1y ¥, TP I§ journey
& 918 City ¥ Ugad @I I <@
¥ Sentence B IRIRT 19T & S %
destination 9% g & 918 by Mg
N @1 I R V& § | Sentence
A Sifom e B

W& B9 T—DCBA’ 3/ fddey (B)
SER

20. Cloze Test

156. (C) Raa M ¥ “Uncertainty” (3R,

e 1 TRIRT S =T, Rifds e
¥ Confusion & TRIRT F37 &1
Positivity—fFreaarerddr
Certainty—ffaaan
Reliability—f{deaa=iraar

3 fawey (C) I8 B

157. (D) R T # “Wants® &1 GART BRTI,

P a1 Present Indefinite Tense
B Y B @& § AR
singular%l

o fadwe (D) 8 B

subject

158.

159.

160.

161.

162.

163.

164.

(A) Rad w9 # “Considering’ (&9 #
@ gU) BT AR S B, Fifd
?g\‘:l'fl @ interest BT &I H 7 @A
T 919 HI IUA

Disregarding—-ToIReT&IST HRA &
Excluding—@ﬁ—&'ﬂv_\’, & fa1
Describing—du &_d §¢

o faded (A) & B

(B) Rad =9 #  “Selfish® (Wereral,
waredh) @1 A Sfad 8T, e
Qe & w@red & 91 P 9o B
Selfless—waTeiRfza
Humane—HAMaR~T
Noble—ssiT
o fawed (B) 98 &

(A) Raa = & “Strife’ (e, sFreT,
e, &=R) @ wEE <fa @,
Hife yfafed S #§ |ed @
TR T I BT I & |
o faded (A) & B

(B) R %19 § “Waging’ (W1, =Te]
FRAT) BT YART BT IS BUA
War (J§) & = 7 Bl
Making—s=T 1
Raising—nfd &1
Rushing—STegdrol &A1
orq: fawed (B) 98 &

(B) Red T # ‘Dodging’ &1 TR
Sfer BT |
Dodging—cIeeret
Stopping—=IT
Boarding—3&T
Lodging—far &=
o fadwey (B) I8 B

(B) Raa M # Definite article ‘the’
Superlative degree (biggest) &1
TR ol |
orq: fawed (B) 98 &1

(C) Rad =& # Psychological (A-1—
Jenfe) @ wEm Sfyd e,
ERliid 1= I g Stress 3R
Problems &l aUF & |

Societal—AmITS
Ecological—gafaruig

Spiritual—3MEATA®, ClIEE
EacCIREd

I fawey (C) 98 Bl
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165. (C) Rea <9 # anywhere &1 TN 21. Miscellaneous 167. (C) a/@d  grammatically 3R Con-

18 |

BT, AP Ig fHA Point AT Place
P gEiar ¥ SR ar@g H Thirty
minutes 3R Two hours & 99 &
Point of time &I ST &I qUN 3 |

3 fawe (C) 98 &1

AGRAWAL =XAMCART

166. (C) ‘precedes before mine’ H _a’% Tl
& before B YART Superfluous ¥,
FGif Precedes § ¥I before Bl
aref ffe &1
o fapey (C) I8 B

texmallyﬂ’gf%@"\’ﬁéﬂ%qﬁ%l
Helping— &% 997 § R oM
et |G B A

o fadwey (C) I8 Bl

ad



